Air Cylinder

Series CG1
020, 025, 232, 040, 050, 263, 80, 3100

Series Variations CJP
Standard variations "
o
Ir-|
0335:.‘3‘:" rod boot tyge 7
Singl
Sta_ndard I'ﬂo% e 306 CJ2
Series CG1 20
Double T cM2
. - acting Doutl 180 .z
o ouble
"%‘/’" rod 922 cM2
Substantially shorter
length:
020 t0 040-- ~15 to ~30 mm Single cm3
(in comparison with Series CM2) Single (Sfof_i 20 cG1
04010 63-- —17 10 28 MM || gie L___(opring_ o —@ It
(in comparison with Series CA2) acting return/ ubber 4% 528 -Z
080, 9100--- -9 to ~33 mm Spring
(in comparison with Series CA2) extend) cG1
Non-rotating Rod 20
Rubber ——@ ¢
series CG1K ! 63 MB
Single 334 -Z
rod 40
) < Duqble Air ——@ to M B
- p—— acting 63
g MB1
Double __ip,pper——@ o 339
rod ubber s% CZAZ
Dir |:CA2
gct Mount Rubber ®
series CG1R : 20 CS1
- Double Single to 343
-2 == ) acting rod 63
-
e Ar —@ CS2
Direct Mount,
Non-rotating Rod ) 20
Series CGT1KR j— Double Single 2 ibber ——@ to 348
- acting rod 63
- e ”
Low Friction
Series CG1OIQ Use the new series “Smooth Cylinder Series CG1Y”
e = to realize both-direction low friction and low-speed operation. 351
‘5{ (Refer to Best Pneumatics No. 3.)
@ 2,
With End Lock Rubber
Series CBG1 ) 20
Double Single
2 . r acting rod 1130 352
onigls
) . - Air

303

XO

Technical
data

Ik



Combinations of Standard Products and Made

Series CG1

@ :Standard CG1
© :Made to Order specifications (Standard)
O :Special product (Contact SMC for details.) ACtion/type Double acting Single acting
— :Not available Single rod ‘ Double rod Single rod
Rubber Air Rubber Air Rubber
Symbol Specification Applicable Bore size 220 to 2100 220 to 640
Standard Standard [ ] [ ] [ ] [ [
Long st Long stroke 220 to 2100 o [ ] [ ] [ ] O
D Built-in magnet [ ] [ ) [ ) [ ) ()
CG100F One-touch fittings 220 to 263 [ ] @) O O O
CG10-00y¢ | With rod boot 220 to 6100 [ [ [ [ ) @)
CG10OH Air-hydro type 20 to 963 [ ] — [ ] — —
10-, 11- Clean series 920 to 6100 [ ) @ e [ [ R O
25- Note12) Copper (Cu)-free [ [ ) @) @) @)
25A- Notel2) Copper (Cu) and zinc (Zn)-free 010,016 [ ] [ ) O @) O
20- Notet2) Copper "' and Fluorine-free 220 to 2100 () [ [ [} O
cGiof Water resistant 232 t0 6100 ] [ ) [ ] [ @)
XB6 Heat-resistant cylinder (10 to 150°C) Note 7) © Nore2 © © Mo © O
XB7 Cold-resistant cylinder Note 7) © "2 O Note g: O O
XB9 Low-speed cylinder (5 to 50 mm/s) 020100100 @) O @) O —
XB13 Low-speed cylinder (5 to 50 mm/s) @) O O O —
XCc4 With heavy duty scraper 032 to 063 (@) © O O O
XC6 Stainless steel rod and rod end nut 20 to 8100 (@) (@) (@) (@) (@)
XC8 ] stroke cyli djustable ion type @) O — _ @)
XC9 Adjustable stroke cylinder/Adjustable retraction type @) (@) — — @)
XC10 Dual stroke cylinder/Double rod type 020 to 063 (@) (@) — — @)
XC11 Dual stroke cylinder/Single rod type (@) © — — O
XC12 Tandem type cylinder (@) @) O O O
XC13 Auto switch rail mounting 020 to 2100 O © © Noed © Nored O
XC20 Head cover axial port 220 to 263 (@) O — — @)
XC22 Fluororubber seal (@) O (@) © O
XC27 Stainless steel double clevis pin/double knuckle pin 20 10 0100 O O O O @)
XC29 Double knuckle joint with spring pin (@) (@) O O O
XC35 With coil scraper e o O O )
XC37 Larger throttle diameter of connecting port @) @) @) (@) @)
20 to 063
XC42 Built-in rear shock absorber (@) (@) — — @)
XC70 End lock cylinder for MGG Note 8) — — — — —
XC85 Grease for food processing equipment 020100100 @) O @) @) @)

Note 1) @40 to @63 only.

Note 2) Without bumper

Note 3) @32 to 100 only.

Note 4) SV type only. (Heat-resistant grease is used.)

Note 5) @20 to @63 only.

Note 6) Single acting/spring return type (S) only

Note 7) The products with an auto switch are not compatible.
Note 8) Since this is used for a guide, a cover port and an end lock will be on the same side.
Note 9) Available only for locking at head end.

Note 10) Available only for locking on rod side.

Note 11) Copper-free for the externally exposed part

Note 12) For details, refer to the SMC website.

304

O
2



to Order Specifications

Series CG1

Use the new series “Smooth Cylinder Series CG1Y”
(Reer o Best Preamatios No.3) e e _|
CG1K CG1R CG1KR cGioQ CBG1
(Non-rotating rod) (Direct mount) (Non-rotating rod, direct mount)| (Low friction) (End lock)
Double acting Single acting Double acting Double acting  |Double acting Double acting CJ1
Single rod Double rod Single rod Single rod Single rod Single rod Single rod
Rubber Air Rubber Rubber Rubber ‘ Air Rubber = Rubber ‘ Air CJP
220 to 063 040 t0 663 | ©20 to 63 220 to 640 220 to 663 220 to 063 220 to 2100 c2
[ (] [ [ ] [ (] [ (] [ [ -Z
[ (] [ ©) O ©) O (] [ [ cJ2
[ J [ J [ J [ J [ [ J [ [ J [ [ J
O O O O o O o O o o ||
S ofoto oot ol ete g
O O 0 O ° O O — O O CM3
O ©) O O O ©) O O O O a1
O O O O @) O O O O O -Z
[ ©) [ ©) [ (] [ — O O
e © ¢ o & & ¢ - - [N
O O O O Qe ©) O — O O CG3
o o o o o2 O o — — — | me
— — — — o o — — o o |z
- =T —T"=-7T09 160 - — = = |ms
- — — - @) o) — - @) 9
- - - - o ® - o O O | [MB1
© O — O o o o o Ol O™ [chz
o o — o o o o o Omen| — Omen|
©) O — O O O O O O O CA2
©) ©) — ©) O ©) O ©) O O cs1
©) O O ©) O O O — O ©)
© O O O © O O O © o |lcs2
©) ©) — ©) ©) ©) ©) O O O
©) o ©) o ©) ©) ©) — ©) ©)
(@) o (@) o O O O O O @)
O O O O O O O O O O
— — — - o o) — - @) o
O ©) O O O O O O O O
©) O — O O O O O O
— — — — — — — — o O
o) o) @) o) o o @) — @) o)

O
2

305

XO

Technical
data

Sk



With auto switch
(Built-in magnet)
Mounting style
Basic style
Axial foot style
Rod side flange style
Head side flange style
Rod side trunnion style
Head side trunnion style
Clevis style

+ Not available for 80 or 6100.
Note) Mounting brackets are shipped
together, (but not assembled).

o7 omr o

Built-in Magnet Cylinder Model

Air Cylinder: Standard Type
Double Acting, Single Rod

Series

cGfi

220, 925, 932, 240, 850, 063, 280, 100

How to Order

Series CG1 standard type: double
acting, single rod has been remod-
eled. For details, refer to page 283.

|2|5|

[25]

If a built-in magnet cylinder without an auto switch is required,

there is no need to enter the symbol for the auto switch.

(Example) CDG1F32-100

Type
m Rubber bumper Rplg:t tbhread type
[A] Aircushion | T
Nil Rc 020 to 2100
. NPT 20 to 6100
Bore size Lk 02010 010
M5x0.8 | 220, 825
20 | 20 mm 50| 50 mm TF
G 032 to 2100
25 | 25mm 63| 63mm Air Cushio
32| 32mm 80| 80mm ir us IMns ) 50 275
40 | 40mm |[100] 100 mm Nil x28 om0
Re 032 to 2100
TN NPT 232 to 2100
M5x0.8 | 220, 825
u? G 032 to 2100
Cylinder stroke (mm)

Refer to “Standard Stroke”
on page 307.

Auto switch mounting bracket "
Note) This symbol is indicated when the D-A90]
or M9CJ type auto switch is specified.

This mounting bracket does not apply to
other auto switches (D-C70 and H70,

etc.) (Nil)
Number of
Auto switch auto switches
‘ Nil ‘Whhout auto swi1ch\ Nil 2 pes.
# For the applicable auto switch S 1 pc.
model, refer to the table below. n “n” pes.
Suffix for cylinder (Rod boot (at one end))
Nil Without rod boot
J Nylon tarpaulin
K Heat resistant tarpaulin

* In the case of w/ rod boot, and a foot bracket or
rod side flange as a bracket, those parts are to
be assembled at the time of shipment.

Made to Order

Refer to page 307 for details.

Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

z Load voltage Auto switch model Lead wire length (m)
q .| Electrical |5 | Wiring Applicable bore size Pre-wired 9
Tvpe| Special function| “enyy ™| 2 | (Output) | o AC 020 10063 ] 060,300 Nl | | 3 et comestor| Aplicable load
2 F i In-line In-line
3-wire MINV M9ON — ® /0 O/ —| O
(NPN) sVi2v — — G59 — @®|O|—| O IC
3-wire ! M9OPV M9P — ® ® O/ —| O |circuit
— | Grommet (PNP) = = G5P —|®0[=| O
= M9OBV M9B — ® e O O
£ 2-wire 12V — K59 —|@]O o —
H Connector — H7C — — o e —
e (S-Wire) MONWV | MINW = [) Ol—] O
3 i i 8 NPN = = G59W — Ol—] O ICc | Relay,
g | Diagnoste >awre [P4VEV12Y) — ioPWV | MPW | — | @ (@ @ O|—| O |cirauit | PLC
E \ndlcat!on. (PNP) — — GEPW — o= e)
@ | (2-color indication) ° @) e)
z o 2-wire 12V M9BWV | M9BW = — _
S rommet — — K59W — Ol—| O
@ 3-wire (NPN) sVi2v MONAV**| MONA** | — ol0|e@][O][—] O IC
Water resistant 3-wire (PNP) ! M9PA** — O|0|@|O|—| O circuit
(2-color indication) 2-wire 12v BA M9B_A A 9 9 : 8 = 8 _
Diagnsic ouput (2-okor ncicatr) 4-wire (NPN) 5V,12V — H7NF — [ ) ) | O —| O [ICcircuit
= @ |Bie Exuic NP — | 5V — A96V A96 — ® —|®|—|—| — |[ICcircut| —
2 [> | 100 V A93V A93 — — e — — —
H Grommet [None| 100V orless| A90V A90 = — —|—| — [ICcircuit
e o Yes 100V,200V] — B54 — o —| —
é None|  2-wire |24 V v 200V or less B64 o —\0 ——| — — R:II_aé/,
o [ Yes | — — C73C | — o e —
3 Connector g 24V orless — c8oC | — — ® | ® — |(Ccircuit
x Diagosti ndalion (ooorndiaiin) | Grommet | Yes — — — B59W — — =] — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water-resistant type cylinder is recommended for use in an environment which requires water resistance. However, please contact SMC for water-resistant products of 20 and @25.

+ Lead wire length symbols:0.5 m
im

Example) MONW
Example) MONWM
ple) MONWL
ple) MONWZ
Example) H7CN

+ Since there are other applicable auto switches than listed, refer to page 368 for details.
« For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
+ D-A900/M9O0IOICI auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

306

« Solid state auto switches marked with “O” are produced upon receipt of order.




Substantially shorter length:

220 to 40--- =15 to =30 mm

(in comparison with Series CM2)
240 to 63+ —17 to —28 mm

(in comparison with Series CA2)
280, 3100--- -9 to —33 mm

(in comparison with Series CA2)

Symbol
Double acting, Rubber bumper

Air Cylinder: Standard Type
Double Acting, Single Rod

Specifications

Series CG1

Bore size (mm)

20 [ 25 [ 32 | 40 | 50 [ 63 | 80 | 100

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Ambient and fluid temperature

Without auto switch: =10 to 70°C (No freezing)

[z NN x]
= || C=
0 || =

With auto switch: =10 to 60°C (No freezing)

Piston speed

50 to 1000 mm/s 50 to 700 mm/s

Ng
N

Stroke length tolerance

stei

Up to 100075 “mm

Up to 10005 mm, Up to 1200%"°mm
i ° P ° Up to 1500%; *mm

Cushion Rubber bumper, Air cushion
Basic style, Axial foot style, Rod side flange style,
Mounting * Head side flange style, Rod side trunnion style,

Head side trunnion style, Clevis style
(Used for changing the port location by 90°.)

Rod/Head side trunnion styles are not available for bore sizes 80 and 2100.

o
G
N

)
~N
=
S

o
=
~

Accessory
i i Rod side |Head side|Rod side |Head side i
Mounting Basl;lc P (] | flange flange | trunnion | trunnion Clevlls CG3
style |footstyle | iy style style style style
de to|
Made to Order Standard |Rodendnut | @ ° ° ° ° D D _IVZIB
(Refer to pages 1675 to 1818 for details.) equipment| Clevis pin — — — — — — [ J
Symbol Specifications Single knuckle joint [ [ J [ J [ ] [ J [ ] [ ] MB
-XAO | Change of rod end shape . Double knuckle joint [ [ ) [ ] [ ] [ ] [ [ ]
-XB6 | Heat resistant cylinder (150°C) *! Option | (With pin) MB1
-XB7 | Cold resistant cylinder Pivot bracket — — — — [ 2 [ [ J CA2
-XB9 | Low speed cylinder (10 to 50 mm/s) *3 Rod boot [ ] [ ] [ ] [ ] [ J [ ] [ ] -7
-XB13 | Low speed cylinder (5 to 50 mm/s) *3 = Trunnion bracket is not available for 280 and 2100.
-XC4 | With heavy duty scraper =i Pin and retaining ring are shipped together with double knuckle joint. CAZ
-XC6 | Piston rod and rod end nut made of stainless steel
-XC8 | Adjustable stroke cylinder/Adjustable extension type Standard Stroke CS1
-XC9 | Adjustable stroke cylinder/Adjustable retraction type o s () Standard stroke ™ Long stroke @ mg’,'ﬁf;'dur;&e 2
-XC10 | Dual stroke cylinder/Double rod type (mm) (mm) 5(}5%)9 CS
-XC11 | Dual stroke cylinder/Single rod type 20 25, 50, 75, 100, 125, 150, 200 201 to 350
g inder™3
-XC12 | Tandem type cylinder 25 301 to 400
-XC13 | Auto switch rail mounting style
" Tounthg Sty 32 301 to 450
-XC20 | Head cover axial port™®
40 25, 50, 75, 100, 125, 301 to 800 1500
-XC22 | Fluororubber seals
50,63 150, 200, 250, 300 301 to 1200
-XC27 | Stainless steel double clevis pin b
-XC29 | Double knuckle joint with spring pin 80 301 to 1400
-XC35 | With coil scraper 100 301 to 1500
-XC37 | Larger throttle diameter of connecting port Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
-XC42 | Built-in rear shock absorber Note2) Long stroke is compatible with the axial foot and rod side flange types. When other mounting
- - brackets are used or the long stroke exceeds the limit, the allowable maximum stroke length is de-
-XC85 | Grease for food processing equipment termined using the stroke selection table (front matter 34)

* 1 Cylinders with rubber bumper have no bumper.

2 Compatible with cylinders with rubber bumper,
but has no bumper.

3 Compatible with cylinders with rubber bumper
only.

Refer to pages 363 to 368 for cylinders with
auto switches.

« Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

Rod Boot Material

Symbol| Rod boot material

Maximum operating

J Nylon tarpaulin

70°C

K |Heat resistant tarpaulin

110°C *

+ Maximum ambient temperature for the rod boot itself.

307

XO

Technical
data

Sk



Series CG1

Mounting Bracket Part No.

Mounting Procedure

Mounting | Min. Bore size (mm) D . ) .
bracket |order[ 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 ESCrbton Mounting procedure for trunnion
Note)| Foot x 2 Follow the procedures below when mounting a
Foot 2 | CO-L020 | CG-L025 | CG-L032 | CG-LO40 | CG-LOS0 | CG-L0B3 | CE-LOBO | CB-L100 | e i ot x 8 pivot bracket on the trunnion. ]
unnrl‘ogrﬁ;;\;(\é\lrlllg
Fla 220 to 063 scotc}
Flange | 1 |CG-F20| CGF25 | CG-FU32 | CG-FMO | CG-FUS0 | CG-FOB3 | CG-FOBD | CG-F100 | 1y B03F Lot x 4 ooty S eemounting
i Trunnion pin x 2,
Trunnion |4 | 66 1090 | 06-T025 | C6-To32 | 0G-T040| C6-T050|CGT068|  — | - | Trummion boltx 2, RN A= v
pin Flat washer x 2 Flat washer
- Clevis x 1, VL o Trunnion pin
Cleveis | 1 |CG-D020|CG-D025|CG-D032| CG-D040 | CG-DO50|CG-D063 | CG-DO080 | CG-D100| Mounting bolt x 4, | T ‘ :
Clevis pin x 1, Retaining ring x 2 | (Put grease on the exterior.)
Pivot _ Pivot bracket
bracket | 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-244 | CG-080-244 | CG-100-244 | Pivot bracket x 1
Note) Order two foot brackets per cylinder. !
Weight (kg) Mounting procedure for clevis
- Follow the procedures below when mounting a
Bore size (mm) 20 25 32 40 50 63 80 100 pivot bracket on the clevis style.
Basic styl A .17 . . . . . 3
_ asic style 0.10 | O 0.26 | 0.41 0.77 1.07 | 2.04 | 3.17 220 to 963
£ )
5 Axial foot style 021 | 0.30 | 042 | 063 | 1.25 | 1.79 | 3.00 | 4.92 Retaining ring Cyinder body
H Clevis pin Retaining ring
£ Flange style 0.18 | 027 | 040 | 061 | 1.11 | 157 | 275 | 452 mgﬁ,ea‘;g
ﬁ Trunnion style 011 | 019 | 029 | 0.46 | 0.91 | 1.21 - - L 1T 1 ‘7H
Clevis style 0.15 0.25 0.41 0.64 1.17 1.75 2.75 4.45 I J
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 | 0.44 | 0.80 | 0.98 | 1.75
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57
Double knuckle joint (With pin)| 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31 280, 6100
Additional weight per Retaining ring
each 50 mm of stroke 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49 Clevis pin L
Additional weight with air cushion| 0.01 0.01 0.02 | 0.02 | 0.03 | 0.03 | 0.03 | 0.03 @
Additional weight for long stroke | 0.01 0.01 0.02 | 0.03 | 0.06 | 0.10 | 0.19 | 0.26 !
Calculation: (Example) CG1LA20-100 (Foot style, 820, 100 st)
* Basic weight:-- 0.21 kg (Foot, 820) e Cylinder stroke----- ---100 stroke 1 |
« Additional weight 0.05 kg/50 stroke  « Additional weight by air cushlon -0.01 kg

308

0.21 +005x100/50+001_032kg

1
ﬂ]W\ " Pivot bracket
e,



Built-in One-touch Fittings

CG1[Mounting style|N[Bore size| F —{Stroke
“TBuilt-in One-touch
fittings
This type has the One-touch fittings integrated in a cylinder, which enables
to reduce the piping labor and installing space dramatically.

Specifications
Bore size (mm)
Action

20, 25, 32, 40, 50, 63
Double acting

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

Air-hydro
CG1[Mounting style|H Bore size [ Stroke|
Air-hydro

Low pressure hydraulic cylinder of 1.0 MPa or less

When used together with a Series CC air-hydro unit, constant and low
speed actuation and intermediate stopping similar to hydraulic units are
possible with the use of valves and other pneumatic equipment.

Specifications

CJ1

(x]
C—
o

Can be used for either nylon,
soft nylon or polyurethane tubing.
* For other specifications, refer to page 307.

Applicable tubing material

Bore size
(mm)
20 12| 12 |13 |242| 6

? 25 | 12]10(2)[ 13 [267] 6

}»‘ 32 | 12]1002]13[302] 6

10012 [ 16 [346] 8

50 |13] 13 |20 |406]10

63 | 13| 13 |20 [4.1]10
Note) ( ): Long stroke

GA| GB |HD|HH|PD

« Other dimensions are the same as
the double acting single rod standard
type.

Clean Series
———

10-CG1[Mounting style|N [Bore sizeH Stroke]

Clean series (With relief port)

The type which is applicable for using inside the clean room graded Class
100 by making an actuator’s rod section a double seal construction and
discharging by relief port directly to the outside of clean room.

Specifications

Bore size (mm) 20, 25, 32, 40, 50, 63, 80, 100
Action Double acting
Fluid Air

Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa
Cushion Rubber bumper
Piston speed 30 to 400 mm/s
Relief port size M5 x 0.8

Basic style, Axial foot style, Rod side flange style

Mounting Head side flange style

* Auto switch can be mounted.

For details, refer to the separate catalog, “Pneumatic Clean S

* Auto switch can be mounted.

Bore size
(mm)

e - - 20 [12[11] 77]114

Fluid Air Type Air-hydro cJ2
Maximum operating pressure 1.0 MPa Bor.e size (mm) 20, 25, 32, 40, 50, 63 -7
Minimum operating pressure 0.05 MPa Action Double acting
Piston speed 50 to 750 mm/ Fluid Turbine oil CJ2
d o mm/s Proof p 1.5 MPa
Cushion Rubber bumper i 1.0 MPa cM2
- - - P g p .
Basic style, Axial foot style, Rod side fla_nge style Minimum operating pressure 0.18 MPa ‘-Z
N Head side flange style, Rod side trunnion style -
Mounting Head side trunnion style, Clevis style Piston speed 15 to 300 mm/s
(Used for changing the port location by 90°.) Cushion None CMZ
* Auto switch can be mounted. Ambient and fluid 5t0 60°C
Appllcable Tublng 0.D./I.D. Basic style, Axial foot style, Rod side flange style cM3
n . Head side flange style, Rod side trunnion style
Bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40 ‘ 50 ‘ 63 Mounting Head side trunnion style, Clevis style CG1
Applicable tubing O.D. (mm) | /4 | 64 | 64 | s | 1075 | 1075 (Used for changing the port location by 90°.)

E
—

[
D
w

25 1211 | 77{119 [MB
i
S + Stroke 32 [12]11] 79(121 |-Z
; 2z Stwoke 40 [13[12] 87]139
* Other dimensions are the same as 50 |14 13]wz[1e2 |MB
the double acting single rod standard 63 14|13 [102] 162

type.

309

=
o
—r

N
N

QO[O
NN >
N (=N

XO

Technical
data

Sk



Series CG1

Water Resistant

CDG [ Mounting styl] [Style Bore size] [Portead e I3 Stroke | H7BAL [-xCé]

With auto switch
(Built-in magnet)
Water resistant cylinder
['R_[NBR seals (Nitrile rubber) |
‘ \'; ‘ FKM seals (Fluororubber) ‘
... Water resistant 2-color
indication, solid state auto switch
H7BAL

Made to Order

Applicable for use in an environment with water splashing
such as food processing and car wash equipment, etc.

ACaution

Since the scraper is press-fit into
the rod cover, it cannot be replaced.

Specifications
Bore size (mm)
Action

32, 40, 50, 63, 80, 100
Double acting, Single rod
Rubber bumper/Air cushion

Cushion
Auto switch mounting

Band mounting style
Piston rod/Rod end nut material: Stainless steel (-XC6)

Made to order

= Specifications other than above are the same as standard, basic style.

Dimensions

With rubber bumper

GA 2
)
I I
[ po— - -
(F1) || TA
S + Stroke F
ZZ + Stroke
With air cushion WA
GA N
8
o%
w
©
{F1) || TA
S + Stroke F
ZZ + Stroke
(mm)
Bore size (mm)| (E1) | E* | (F1) | F* | GA S TA | WA zz
32 17 18 2 2 18 77 (85) 17 22 [119 (127)
40 21 [25 | 2 [ 2 [ 19 | 84(93) | 18 | 22 [136(145)
50 26 [ 30 | 2 | 2 |21 | 97(109) [ 20 [ 25 [157 (169)
63 26 | 32 | 2 2 |21 97(109) | 20 | 25 | 157 (169)
80 32 40 3 3 28 116 (130) - 30 | 190 (204)
100 37 50 3 3 29 117 (131) = 31 | 191 (205)

# Other dimensions are the same as the double acting single rod standard
type.
# (): Denotes the dimensions for long stroke.

Refer to page 1117 for details.

310

| /\ Precautions

1 Be sure to read before handling.

1 Refer to front matter 57 for Safety Instructions and
1

L]

pages 3 to 12 for Actuator and Auto Switch
Precautions.

| I |

\ Operating Precautions
A Warning
1

. Do not operate the cushion valve in the fully closed
or fully opened state.
Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

2. Operate within the specified cylinder speed.

Otherwise, cylinder and seal damage may occur.

3. Use caution regarding the cushion performance in the low-speed range.
There may be individual performance and effect variances when
used near 50 mm/s. Please consult with SMC about usage.

. When the cylinder is used as mounted with a single side fixed or free
(basic type, flange type), a bending moment will be applied to the
cylinder due to the vibration generated at the stroke end, and the
cylinder may be damaged. In such a case, mount a bracket to reduce
the vibration of the cylinder or use the cylinder at a piston speed low
enough to prevent the cylinder from vibrating at the stroke end.

Also, please use a support bracket to reduce vibrations when the
cylinder body moves or when the cylinder is fixed horizontally on
one side and moved at a high speed and frequency.

5. Use without applying excess lateral load to the piston rod.

Simplified confirmation method

Minimum operating pressure after equipment is mounted (MPa) =
Minimum cylinder operating pressure (MPa) + [Load weight (kg) x
Coefficient of guide friction/Effective cylinder area (mm2)]

If smooth operation is confirmed with within the above value, the
load on the cylinder is the resistence of the thrust only and it can
be judged as having no lateral load.

A\ Caution

1. Do not use the air cylinder as an air-hydro cylinder.
This will cause an oil leak.

2. Install a rod boot without twisting.
If the cylinder is installed with its bellows twisted, it could
damage the bellows.

3. Tighten clevis bracket mounting bolts with the
following proper tightening torque.
©20: 1.5N'm, 925 to 32: 2.9N-m, g40: 4.9N-m,
©50: 11.8N-m, 263 to 80: 24.5N-m, 2100: 42.2N:m

»

\ Disassembly/Replacement
/A Caution

1. Do not replace the bushings.
The bushings are press-fit. To replace them, they must be
replaced together with the cover assembly.

. To replace a seal, apply grease to the new seal
before installing it.
If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

Do not replace One-touch fittings.
Because pipe fittings are press-fit, they must be replaced together
with the cover assembly.

4.Those with a bore of 850 or more cannot be disassembled.

When disassembling cylinders with bore sizes of 820 through @40,
grip the double flat part of either the head cover or the rod cover
with a vise and loosen the other side with a wrench or a monkey
wrench, etc., and then remove the cover. When re-tightening,
tighten approximately 2 degrees more than the original position.
(Cylinders with 850 or larger bore sizes are tightened with a large
tightening torque and cannot be disassembled. Please contact
SMC when disassembly is required.)

N

[



Construction

With rubber bumper

With air cushion

280, 0100

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

e

o
G
pry

[z}
g2
0

Long stroke

%fﬁ cM2

q
N

8
e
N

)
~N
=
S

[=)
=
@

R

B

Long stroke

CG3

Component Parts Replacement Parts/Seal Kit MB
No. Description Material Note « For rubber bumper -Z

1 Rod cover Aluminum alloy Clear hard anodized Bore size (mm) Kit no. Contents

2 Tube cover Aluminum alloy Clear hard anodized 20 CG1N20-PS MB

3 | Piston Aluminum alloy Chromated 25 CG1N25-Ps | Setofthe

4 Piston rod Carbon steel * Hard chrome plated* 32 CG1N32-PS |nos. @, ®,® MB1

5 Bushing Bearing alloy 40 CG1N40-PS

6 Bumper A Urethane « For air cushion CA2

7 Bumper B Urethane 240 or larger: The same as bumper A Bore size (mm) Kit no. Contents -Z

8 Retaml.ng ring Stamles$ steel Except 880 and 100 20 CG1A20-PS Set of the CAZ

9 Wear ring Resin 25 CG1A25-PS nos. @, 3, &

10 | Rod end nut Rolled steel Zinc chromated 32 CG1A32-PS )

11 Piston gasket NBR 40 CG1A40-PS CS1

12 | Cushion ring A Aluminum alloy Anodized Note) Refer to the Specific Product Precautions on

13 | Cushion ring B Aluminum alloy | 932 or larger: The same as A, Anodized page 310 for Disassembly/Replacement. cS2

14 | Seal retainer Rolled steel Nickel plated/Except long stroke
15 | Cushion valve Rolled steel Electroless nickel plated

16 | Valve retainer Rolled steel Electroless nickel plated

17 | Lock nut Rolled steel Nickel plated

18 | Cushion seal A Urethane

19 | Cushion seal B Urethane 032 or larger: The same as A
20 | Cushion ring gasket A NBR

21 | Cushion ring gasket B NBR 032 or larger: The same as A

22 Head cover

Aluminum alloy

Clear hard anodized

23 | Cylinder tube

Aluminum alloy

Hard anodized

24 | Rod seal NBR
25 | Piston seal NBR
26 | Tube gasket NBR
27 | Valve seal NBR
28 | Valver g gasket NBR

Note) In the case of cylinders with auto switches, magnets are installed in the piston.
+ The material is stainless steel on auto switch equipped styles 820 and 225.

Order with a part number for each type and

bore size.

* The seal kit includes a grease pack (10 g). Order
with the following part number when only the
grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

XO

Technical
data

Sk

311



Series CG1

Basic Style: CG1B
With rubber bumper

GA  2xP GB -
MM Hi (Ro, NPT, G) (— TA/TB cross section

2xTC

Cror

@0
Al
o
Ll

7z

A K|F||TA 4xTC 1B TE
H S + Stroke F TG TF
ZZ + Stroke NA
8 ¢ 8 8 ¢
H
41[ : > { ] >
2o AT 3le| AT
Jw f f
e (BLIN
h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
020 to 063 ¢80, 100
With air cushion
WA 2xP WB
(Re, NPT, G)
(mm)
Bore size| Stroke range (mm)| Rc, NPT port G port

(mm) |Standard| Longstoke [GA] GB | P Al @B | P |~ |Ab[BY| © |P|E|F|HM] ! J S| G BR) © e ud || e
20 |Upto200|201t0350 [12{10(12)| 1/8 12|10 (12)[M5x0.8/18|15.5[13 |14 8(12| 2 |35| 5| 26 |[M4x0.7depth7| 5 | 6|M8x1.25|24 | 69(77) [11]| 11 [106 (114)
25 |Upto300|301t0400 [1210(12)|1/8 12|10 (12)|M5x0.8/22|19.5(17|16.5|10|14| 2 |40| 6| 31 [M5x0.8depth75| 5.5| 8| M10x125[29 | 69(77) [11| 11 |111(119)
32 |Upto300|301t0450 [12]10(12)|1/8]10|9(10) | 1/8 |22|19.5(17]|20 |12|18| 2 |40| 6| 38 [M5x0.8depth8| 5.5( 10| M10x1.25|35.5/ 71(79) | 11|10 (11)|113 (121)
40 |Upto300|301t0800 [1310(13)/1/8[10|9(10) | 1/8 |30|27 [19]|26 |16|25| 2 |50| 8| 47 [M6x1depth12| 6 [14|M14x1.5|44 | 78(87) [12|10(12)|130 (139)
50 |Upto300[3011t01200]14[12 (14)] 1/4 [12[11 (12)] 1/4 [35[32 [27]32 [20]30] 2 [58[11] 58 [Mex1.25deptnt6] 7 [18]M18x1.5]55 |90 (102)[13]12 (13)[150 (162)
63 |Upto300|301t01200{14 |12 (14)| 1/4 12|11 (12)| 1/4 |35(32 |27|38 [20|32| 2 |58|11| 72 [Mi0x15depthi6| 7 |18 |M18x1.5|69 |90 (102)|13|12(13)[150 (162)
80 | Upto 300 |301to 1400|120 |16 (20)| 3/8 |17 |16 (17)| 3/8 [40|37 |32|50 [25|40| 3 |71[13| 89 |MI0x15depth22[10 |22|M22x1.5|80 |108(122)—| — |182(196)
100 |Upto 30030110 1500/20 |16 (20)| 1/2]|17[16 (17)| 1/2 |40|37 |41]60 |30|50| 3 |71[16] 110 |M12x175depth22[10 |26|M26x 1.5[100 |108 (122) —| — [182(196)

Note) (): Denotes the dimensions for long stroke.
TA/TB Sectional View (mm) With Rod Boot (mm) With Air Cushion (mm)
Bore size o Bore size JH | JW Bore size[Re, NPT, G|, .

(mm) TC TD | TE | TF | TG (mm) e|f|lhlJ ¢ zz (mm) p |WA WB | WH | Wé
20 |M5x0.8]| 8°9®| 4 |05 | 55 20 |30/18|55|27|15.5|10.5 126 (134) 20 |M5x08/16|15(16)|23 | 30°
25 |M6x0.75|10°8%®| 5 |1 6.5 25 [30|19|62|32|16.5|10.5 133 (141) 25 |M5x08[16|15(16)|25 | 30°
32 |[M8x1.0|12°3%| 551 75 32 |[35|19]62|38(18.5[10.5| | 135(143) 32 1/8 |16]15(16) | 28.5| 25°
40 | M10x125|14'8%| 6 |1.25| 85 40 |[35|19|70|48|21.5/10.5 é 150 (159) 40 1/8 |16]15(16) |33 | 20°
50 | M12x1.25|169%| 7.5(2 10 50 |40(19|78|59|24 [10.5| “ | 170(182) 50 1/4 [18]17(18)]40.5] 20°

=
63 |M14x1.5]18°8°[11.5|3 14.5 63 |40(20|78|72|24 [10.5| ~ | 170(182) 63 1/4 |18|17(18)|47.5] 20°
80 — — — | =] = 80 |52|10(80|59| — | — 191 (205) 80 3/8 |22] 22 |60.5|20°
100 = — === 100 [62] 7|80|71| — | — 191 (205) 100 12 |22] 22 |71 20°
* Trunnion mounting screw with width across flats = The minimum stroke with rod boot is 20 mm.

NA are not attached for bore size 880 and 100.

312



Axial Foot Style: CG1L[]

With rubber bumper

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

H S + Stroke
8xdJ MM H1_ width |[GA 2xP Width fats NA GB
\ across / idth across flats
flats B1 (Re, NPT, G)
et L
— A 1o
g o i fan\ ] fan\
mlo E | Y \Y%
1 i LIl
T -
| A2 t - [
IKA| AL W, 2xoLC LW,
C o1 A K X Y| (Knock pin position) Y| X M
4xoLD, LX z LS + Stroke
Lz ZZ + Stroke
With rod boot
h+¢ h+¢
8 ¢ 8 8 ¢
slo| TR > 2lo| MR ] >
SR k 4 VA O o @ k g vy <>
E)E [
| !:I
f f
Z+¢ Z+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
220 to 063 280, 2100
With air cushion
wB
fan\
\Y%
(mm)
Bore size| Stroke range (mm) | Rc, NPT port G port

(mm) | Stangard | Longstioke | GA|_GB P |GA| GB P A|AL[B1|B|C|D|H|H|I J K |KA|LC|LD|LH| LS |[LT|LX|LZ|M
20 |Upto200| 20110350 | 12 {10 (12)[1/8| 12|10 (12) [M5x0.8] 18 {155 13 | 34 |14 8|35| 5| 26|M4x07|5 6|4 | 6[20[45(53) |3 32| 44|3
25 |Upto300| 30110400 | 12 {10 (12)[1/8| 12 |10 (12) [M5x0.8| 22 [19.5| 17 | 385{16.5| 10 |40 | 6| 31|M5x0.8| 55 8| 4 | 6|22 |45(53)|3 36| 49|3.5
32 |Upto300| 30110450 | 12 {10 (12)[1/8| 10| 9(10)| 1/8 |22[19.5{17 |45 [20 |12 |40 | 6| 38| M5x0.8| 55(10| 4 | 7|25 |45(53)|3 44| 58/3.5
40 |Upto300| 30110800 | 13 {10 (13)[1/8| 10| 9(10)| 1/8 |30 (27 |19 |545[26 |16 |50 | 8| 47| M6x1 |6 |14| 4 | 7|30 |51(60)|3 54| 71|14
50 |Upto300| 301101200 | 14 |12 (14)|1/4|12 |11 (12)| 1/4 |35|32 |27 | 705[32 |20 |58 | 11| 58| M8x1.25| 7 |18 | 5 | 10|40 |55 (67) |4.5| 66| 86|5
63 |Upto300 (301101200 | 14 (12 (14) |1/4| 12 |11 (12)| 1/4 | 35|32 |27 | 82538 |20 |58 |11 | 72|M10x15| 7 [18| 5 | 12|45 |55 (67)|4.5| 82[106|5
80 |Upto300]301t01400 | 20 | 16 (20) | 3/8| 17 [16 (17)| 3/8 |40 (37 |32 101 [50 [ 25|71 |13 | 89|M10x1.5(10 |22 | 6 | 11|55 |60 (74)|4.5(100/125|5
100 |Upto300| 301101500 | 20 | 16 (20) |1/2]| 17 [16 (17)| 1/2 |40 (37 |41 |121 |60 | 30|71 |16 |110|Mi2x1.75][10 |26 | 6 | 14 |65 |60 (74)|6 [120/150|7

mm) With Rod Boot (mm)  With Air Cushion mm)
Bore size Bore size JH | JW Bore size|Re, NPT, G -

(mm) MM |NA| S W|X|Y|Z zz (mm) e|f|h|l ) ¢ | Z zz (mm) p WA WB | WH|Wé@
20 |M8x1.25|24 | 69(77) [10 [15 | 7 |47 | 110(118) 20 |30|18|55|27|155[10.5 67 | 130(138) 20 |M5x08)|16|15(16)| 23 | 30°
25 |M10x125) 29 | 69(77) |10 |15 | 7 |52 [1155(123.5) 25 |30|19|62|32|16.5]|10.5 74 1375 (145.5) 25 |M5x08|16(15(16)| 25 | 30°
32 [M10x1.25) 355 71(79) [10 [16 | 8 |53 |117.5(125.5) 32 [35[19|62)|38[185[105| o | 75 [139.5(1475) 32 1/8 |16[15(16)| 28.5]| 25°
40 |M14x1.5| 44 | 78(87) |10 |16.5] 8.563.5| 135 (144) 40 |35[19|70|48(21.5[105 ﬁ 83.5 155 (164) 40 1/8 |16 |15(16)| 33 | 20°
50 |[M18x1.5] 55 | 90(102)[17.5[22 |11 |75.5|157.5 (169.5) 50 |40|19[78|59|24 [105| % | 955/177.5(189.5) 50 1/4 |18(17(18)| 40.5]| 20°
63 [M18x1.5| 69 | 90(102)[17.5[22 [13 |75.5|157.5(169.5) 63 40|20 |78|72|24 [10.5| | 955|177.5(1895) 63 1/4 |18(17(18)| 47.5| 20°
80 [M22x1.5) 80 [108(122)[20 |28.5[14 |95 |188.5(202.5) 80 |[52]10|80|59| — | — 104 [1975 (211.5) 80 3/8 |22|22 60.5] 20°
100 |[M26x1.5[100 108 (122)[20 |30 |16 |95 | 192 (206) 100 |62]| 78071 — | — 104 | 201 (215) 100 12 |22]22 71 | 20°

Note) (): Denotes the dimensions for long stroke.

= The minimum stroke with rod boot is 20 mm.

313

o
G
pry

(x]
C—
o

Ng
N

o
G
N

)
~N
=
S

o
=
~

[=)
=
@

~g
2

E
—

[
D
w

NS
=

N
N

QO[O
NN >
N (=N

XO

Technical
data

Sk



Series CG1

Rod Side Flange Style: CG1F

With rubber bumper

F_FTGA 2xP GB
4x0oFD 8xJ MM H1_ width (Rc, NPT, G)
across -
flats B1 |[— -
;
HIr H w
I Bl
g &
o5& i & = ®
I u o,
AL
KA Width across flats NA
C o1
FX 2015 H S + Stroke F
B ZZ + Stroke
With rod boot
8 ¢ 8 8 ¢
H T
—-I: i > — Ef e )
2| 6 Q 5 20 6 Q 2w
v e \¥% s @
T
g el [lr g
Wand
¥ L -
f f
Jw hee hee =7
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
220 to 063 280, 2100
With air cushion
WA 2xP
(Rc, NPT, G)
t
(mm)
Bore size| Stroke range (mm) Rc, NPT port G port
(mm) [ Standard |Longstoke|GA| GB | P |GA] 6B | P | A [A-|B![B | C|P|E|F[FX|FOIFT|H H T J (¢ rey Bt
20 |Upto200|201t0350 | 12 |10 (12) [1/8| 12 |10 (12) [M5x0.8| 18 (15513 | 40 |14 | 8[12| 2 | 28| 55| 6|35| 5| 26| M4x07 | 5 | 6| M8x1.25
25 |Upto300 |301t0400| 12 [10(12)|1/8| 12 |10 (12) [M5x0.8] 22 [19.5|17 | 44 |16.5|/ 10|14 | 2 | 32| 55| 7|40| 6| 31| M5x08 | 55| 8 |M10x1.25
32 |Upto300 |301t0450| 12 [10(12){1/8{ 10| 9(10)| 1/8 22|195|17| 53|20 |12|18| 2 | 38| 66| 7|40| 6| 38 M5x0.8 | 55|10 |[M10x1.25
40 |Upto300 30110800 13 [10(13)[1/8| 10| 9(10)| 1/8 30|27 |19 61|26 |16|25| 2 | 46| 6.6| 8|50 | 8| 47| M6x1 6 |14 | M14x1.5
50 | Upto300 [301t01200| 14 [12 (14)|1/4| 12 [11 (12)| 1/4 35|32 |27| 76|32 |20|30| 2 | 589 9|58 |11 | 58| M8x1.25| 7 |18 | M18x 1.5
63 | Upto300[301t01200] 14 |12 (14) [1/4| 12 [11(12)| 1/4 |35|32 |27| 92(38 [20(32| 2 | 70|11 | 9|58 |11 | 72| Mi0x15| 7 [18|Mi8x1.5
80 | Upto300 (301101400 20 |16 (20) |3/8| 17 |16 (17)| 3/8 |40 |37 |32|104 |50 |25|40| 3 | 82|11 |[11|71|13| 89| M10x15 |10 |22 | M22x1.5
100 | Upto300 301 to 1500| 20 {16 (20) [1/2| 17 [16(17)| 1/2 |40 |37 |41 /12860 |30 |50 | 3 |[100 (14 |14 |71 |16 |[110|M12x1.75[10 |26 | M26x1.5
(mm) With Rod Boot (mm) With Air Cushion (mm)
Bore size| Bore size JH Jw Bore size|Rc, NPT, G
(mm) NA S 2z (mm) | © b ] ) (Reference) |(Reference) ¢ zz (mm) P WA R || W |
20 24 69 (77) |106 (114) 20 |30|18|55|27| 155 | 10.5 126 (134) 20 |M5x0.8| 16 |15 (16) |23 30°
25 29 69 (77) [111(119) 25 |30|19(62|32| 165 | 105 133 (141) 25 |M5x0.8| 16 |15 (16) |25 30°
32 35.5| 71(79) [113(121) 32 |35|19(62|38| 185 | 105 o | 135(143) 32 1/8 16 |15 (16) | 28.5 | 25°
40 44 78 (87) |130 (139) 40 |35]|19(70|48| 215 | 105 § 150 (159) 40 1/8 16 |15 (16) | 33 20°
50 55 90 (102) | 150 (162) 50 [40|19|78|59| 24 10.5 @ 170 (182) 50 1/4 1817 (18) | 40.5 | 20°
63 | 69 | 90(102)|150 (162) 63 |40[20|78|72| 24 105 | |[170(182) 63 1/4 | 18|17 (18) |47.5 | 20°
80 80 |108 (122) | 182 (196) 80 [52|10[80|59| — — 191 (205) 80 3/8 22|22 60.5 | 20°
100 [100 |108 (122)|182 (196) 100 |62 7|80 (71| — — 191 (205) 100 12 22|22 71| 20°

Note) (): Denotes the dimensions

for long stroke.

314

= The minimum stroke with rod boot is 20 mm.




Head Side Flang_;e Style: CG1G

With rubber bumper

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

Width across flats KA ga 2xP GB
MM H1_ width (Re, NPT, G) 4xoFD 8xJ
across o
flats B1 — =§
w
a R o B
SHREE C |
A 7 = ) MK
W o n Yo
5T
L N /
AL
re Width across flats NA Cion
Dol
H S + Stroke FT|| F FX o1
ZZ + Stroke B
With rod boot s ¢
8 ¢ 8
T
: ‘\ =] > E ki >
f 20 5 i T 2| 5 i o
o
=/ I (S )[ S) =
: 8
Jw f LE]
h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
220 to 063 280, 0100
With air cushion
WA 2xP WB
(Re, NPT, G)
i i
He—16) o
(mm)
Bore size| Stroke range (mm) | Rc, NPT port G port
(mm) [Standard [Long stoke|GA| GB | P |GA] 6B | P |~ [A-|B'|B|C|DP|[E|F FX|FD|FTIH Hi 1 J e
20 |Upto200 — 12|10 1/8|12 10 M5x0.8| 18 [15.5| 13 | 40 |14 8|12 2 | 28|55 6|35| 5| 26| M4x07 | 5 6| M8 x1.25
25 |Upto 300 = 12|10 1/8112 10 M5x0.8| 22 |19.5| 17 | 44 |165/ 10 |14 | 2 | 32| 55| 7 (40| 6| 31| M5x0.8 | 55/ 8 |M10x1.25
32 |Upto300 — 12]10 1/8[10] 9 1/8 |22(19.5/17 | 53|20 |12 |18 | 2 | 38| 6.6] 7|40 | 6| 38| M5x0.8 | 55| 10 |[M10x1.25
40 |Upto300|301to500| 13 |10 (13)|1/8|10| 9(10)| 1/8 [30 |27 |19 | 61[26 |16 25| 2 | 46| 6.6/ 8 |50 | 8| 47| M6x1 6 | 14| M14x15
50 |Upto300|301t0600) 14 [12(14)|1/4|12 |11 (12)] 1/4 [35|32 |27 | 76(32 |20 |30 | 2 | 58| 9 9|58 |11 | 58| M8x125| 7 | 18| M18x 15
63 [Upto300|301t0600| 14 [12(14)|1/4|12 |11 (12)| 1/4 |35(32 |27 | 92|38 |20 |32 | 2 | 70|11 9158 |11| 72| M10x15| 7 | 18 | M18x 1.5
80 |Upto300|301to750| 20 |16 (20)|3/8| 17 |16 (17)| 3/8 |40 |37 |32 [104[50 |25|40 | 3 | 82|11 |11 |71 | 13| 89| M10x1.5 |10 |22 | M22x1.5
100 |Upto300|301t0o750| 20 |16 (20) [1/2| 17 |16 (17)| 1/2 |40 |37 |41 [128]60 |30 |50 | 3 |100 (14 |14 |71 | 16| 110|M12x1.75/10 | 26 | M26x 1.5
(mm) With Rod Boot (mm) With Air Cushion (mm)
Bore size| Bore size JH Jw Bore size| Re, NPT.G
(mm) NA S zz (mm) L (Reference) | (Reference) g Z (mm) P WA WB | WH | W§
20 24 69 112 20 |30|18|55|27| 155 10.5 132 20 |M5x0.8| 16|15 23 30°
25 29 69 118 25 |30|19(62[32| 165 | 105 140 25 |M5x0.8|16| 15 25 |30°
32 355 71 120 32 |35|19(62[38| 185 | 105 o | 142 32 1/8 16| 15 28.5 | 25°
40 44 78 (87) | 138 (147) 40 [35]|19[70[48| 215 | 105 é 158 (167) 40 1/8 16| 15(16)| 33 | 20°
50 55 90 (102) | 159 (171) 50 [40[19|78|59| 24 10.5 9 179 (191) 50 1/4 18|17 (18)| 40.5 | 20°
63 69 90 (102) [ 159 (171) 63 [40|20|78|72| 24 105 | © 179 (191) 63 1/4 18|17 (18)| 47.5 | 20°
80 | 80 | 108 (122)]193(207) 80 [52[10]80|59| — — 202 (216) 80 38 [22]22 60.5 | 20°
100 [100 | 108 (122)| 196 (210) 100 62| 78071 — = 205 (219) 100 1/2 22|22 71 20°

Note) ( ): Denotes the dimensions for long stroke.

# The minimum stroke with rod boot is 20 mm.

315

o
G
pry

(x]
C—
o

Ng
N

8
e
N

)
~N
=
S

o
=
~

[=)
=
@

~g
2

i
D
-

[
D
w

NS
=

N
N

(x]
>
N

(> BIN¥]
(7 BIN "]
N || =

XO

Technical
data

ek



Series CG1

Rod Side Trunnion Style: CG1UO]

With rubber bumper

TR S + Stroke F
TS Bracket mounting range Width across GB
2xP flats NA
3 * (Re, NPT, G)
(=] 2
(O s
Sle b w
x| 9 Q
[V -
I os N s
\ W 4
Width
across
flats B1
MM/
Width across
flats z
1z 2Z + Stroke
« Consists of trunnion pins, flat washers and hexagon socket head cap bolts.
With rod boot hee
2|e 5 Q T ]
S, N
JW
8 ¢
Z+¢
ZZ + ¢ + Stroke
With air cushion
WA 2xP wB
(Rc, NPT, G)
kit
775 s 7zl
(mm)
Bore size| Stroke range (mm) | Rc, NPT port G port
(mm) [ Standard [Long stroke|GA] GB | P |GA] GB OB D ] P W] 0] Ry U S || v
20 | Upto200 - 1210 1/8] 12|10 M5x0.8 |18 |155/13 | 8 |12 | 2 |35| 5|26 |5 | 6|M8x125 |24 |69 11| 8868
25 |Upto300 - 1210 1/8] 12 [10 M5x0.8 |22 [195/17 |10 |14 | 2 |40 | 6|31 |55| 8 |M10x1.25|29 |69 11 (1038
32 |Upto300 - 1210 1/8{10] 9 1/8 22 [195/17 |12 |18 | 2 |40 | 6|38 |5.5( 10 [M10x1.25| 35.5|71 11 (12388
40 |Upto300|301t0500| 13|10 (13)|1/8[ 10| 9(10)| 1/8 30|27 |19 |16 |25| 2 |50 | 8|47 |6 |14 |M14x15 |44 |78(87) | 12 [14:56%
50 |Upto300|301t0600| 14|12 (14)[1/4]12[11(12) 1/4 3532 |27 |20 |30 | 2 |58 | 11|58 |7 |18 |M18x15 |55 |90(102)| 13 [1655%
63  |Upto300|301t0600| 14 |12 (14)[1/4]12]11(12) 1/4 35 (32 |27 |20 |32 2 |58 11|72 |7 |18 |M18x1.5 |69 [90(102)| 13 |1855%
(mm) With Rod Boot (mm)  With Air Cushion mm)
Bore size Bore size JH | JW Bore size|Rc, NPT, G
(mm) TR | TS | TZ z zz (mm) flh|l ) ¢ | Z zz (mm) P WA| WB | WH |W§
20 |39 |28 |47.6 | 46 106 20 |30(18|55|27|15.5|10.5 66 | 126 20 [M5x0.8[ 16|15 23 | 30°
25 |43 |33 |53 |51 [111 25 |30[19(62[32|16.5[10.5| o |73|133 25 |M5x08|16[15 25 |30°
32 |54.5| 40 | 67.7| 51 [113 32 |35[19]62[38[18.5(10.5| S [73]135 32 1/8 | 16|15 28.5 | 25°
40 [655| 49 | 78.7 | 62 |130(139) 40 35]19|70|48|21.5|10.5 g 82 | 150 (159) 40 1/8 |16(15(16)| 33 | 20°
50 |80 60 | 98.6| 71 [150 (162) 50 401978 |59 |24 |10.5|" |91 [170(182) 50 1/4 |18(17(18)] 40.5 | 20°
63 |98 74 [119.2| 71 [150 (162) 63 402078 72|24 |10.5 91 /170 (182) 63 1/4 18|17 (18)| 47.5 | 20°

Note) ( ): Denotes the dimensions for long stroke.
Refer to page 321 for pivot bracket.

316

* The minimum stroke with rod boot is 20 mm.



Head Side Trunnion Style: CG1T

With rubber bumper

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

H S + Stroke F TR
F_|GA GB TS Bracket mounting range
A K 2xP ‘TB'
Width Rc, NPT, G| =~ 2|~ ;
across AL ¢ ) o ala *
flats BT [“p 3 o
a || W Sle
5] Wl Q JlE
3 (i - -
= “ @ H
E Y NS/ A
Width across
MM flats NA
Widtl;(a;ross Z + Stroke
Bats 2z + Stroke 1z
* Consists of trunnion pins, flat washers and hexagon socket head cap bolts.
With rod boot
8 ¢ 8
2o T >
Q| ® k 4 & <>
=2
f
JW e
h+¢
Z + ¢ + Stroke
ZZ + ¢ + Stroke
With air cushion
WA 2xP wB
(Rc,NPT,G)
il i
AT s\l
w;&[ﬁva &
(mm)
Bore size| Stroke range (mm) | Rc, NPT port G port
(mm) [ Standard [Long stroke|GA| @B | P |GA] 6B | P |~ |A-|B'|P[E|F|H|H| ! |[K|KA| MM |NA| S | TB | TDes | TR
20 |Upto200 - 12 (10 (12) [1/8] 12|10 (12) |[M5x08| 18 [155[13| 8|12 | 2 |35| 5|26 |5 6| M8x1.25 |24 |69 11 80%5(39
25 |Upto300 - 1210 (12) [1/8] 12 |10 (12) [M5x08[22 [19.5| 17 [10 |14 | 2 |40| 6|31 55| 8|M10x1.25|29 |69 1 1023%143
32 |Upto300 - 1210(12)[1/8| 10| 9(10)| 1/8 |22[19.5/17 (12|18 | 2 |40| 6|38 |5.5| 10 |M10x1.25|35.5|71 10 123821545
40 |Upto300|3011to500| 13 [10(13)|1/8[ 10| 9(10)| 1/8 |30 |27 |19|16|25| 2 |50 | 8|47 |6 | 14| M14x15 |44 |78(87) |10 (12)[1455%|65.5
50 |Upto300|301to600|14 |12 (14)|1/4] 12 |11 (12)| 1/4 |35|32 |27|20|30| 2 |58| 11|58 |7 |18| M18x15 |55 |90 (102)|12 (13)[ 1600580
63 |Upto300|3011to600|14 |12 (14)|1/4] 12 |11 (12)| 1/4 |35|32 |27|20|32| 2 |58|11|72|7 |18|M18x15 [69 |90 (102)|12(13)[18505|98
(mm) With Rod Boot (mm)  With Air Cushion (mm)
Bore size| Bore size| JH | JW Bore size|R, NPT, G| .
(mm) TS | TZ 4 zz (mm) e|f|h|N ¢ r4 zz (mm) p VA WB | WH |Wé
20 | 28 | 476 93 106 20 |30|18|55)|27|15.5|10.5 113 126 20 |M5x0.8| 16|15 23 | 30°
25 33 | 53 98 111 25 30/19/62|32|16.5|10.5| ¢ | 120 133 25 [M5x0.8/16|15 25 30°
32 40 | 67.7 (101 113 32 35|19(62|38|18.5]|10.5 é 123 135 32 1/8 |16 |15 28.5 | 25°
40 49 | 78.7 |118 (125)| 130 (139) 40 35|19 (70|48 |21.5]|10.5 \'ﬂ 138 (145)[ 150 (159) 40 1/8 | 16|15 (16)| 33 20°
50 60 | 98.6 | 136 (147)| 150 (162) 50 40[19 78|59 |24 |10.5|" | 156 (167)[170(182) 50 1/4 18|17 (18)| 40.5 | 20°
63 74 [119.2 136 (147)| 150 (162) 63 40/20|78 72|24 |10.5 156 (167)| 170 (182) 63 1/4 |18 |17 (18)| 47.5 | 20°

Note) ( ): Denotes the dimensions for long stroke.

Refer to page 321 for pivot bracket.

# The minimum stroke with rod boot is 20 mm.

317

o
G
pry

(x]
C—
o

Ng
N

8
e
N

)
~N
=
S

[=)
=
@

NS [
EQE-‘
w | =Y

N
N

(x]
>
N

(> BIN¥]
(7 BIN "]
N || =

XO

Technical
data

Tk



Series CG1

Clevis Style: CG1D[ (220 to 063)

With rubber bumper
H S + Stroke L RR
F_|GA GB 8xJ

T
A K 2xP i
i @CDH10 (Hole dia.) y
avrom | AL (Re, NPT, G) & (Shaft dia.) Ceo1
flats B1 H1

114

2 < g -
o8 Zs 3
4 | °

Width across flats KA

MM
Z + Stroke
2Z + Stroke 1z

* The above shows the case port location is changed by 90°

With rod boot

olJ
oe
[

@
T
R

h+¢
Z + ¢ + Stroke
ZZ + ¢ + Stroke

With air cushion
WA 2xP
(Rc, NPT, G)

RS

(mm)
B"(';r:')ze S"°kera"ng:|(s'::$)e Gic’ N:; pmp = ggon 5| A|AL|B1| c [cojcz|D|E|F[H[H[1| o |K[kA| MM |NA[RR| s | L
20 [upto200] - [12]10 1/8]12 |10 M5x08| 18[15.5(13[14 | 8]29| 8[12| 2 [35] 5[26(M4x07[5 | 6|M8x125[24 |11]69 14
25 [upto300] - [12]10 1/8[12 |10 M5x08]22[19.5(17[16.5(10(33[10[14] 2 40| 6[31[M5x08[5.5] 8|M10x1.25[29 |13]69 16
32 [Upto300] - [12]10 1/8]10] 9 1/8 |22]19.5]17]20 [12]40[12[18] 2 [40]| 6[38|M5%08]5.5/ 10 M10x1.25/35.5] 15|71 20
40 [Upto300[301t0500] 13 [10 (13)[1/8] 10| 9(10)| 1/8 [30[27 [19]26 [14]49]|16|25] 2 50| 8|47 | Mex1 [6 |14 | Mi4x15]44 [18]78(87) |22
50 [Upt0300[301t0600] 14 |12 (14)|1/4] 12 [11(12)| 1/4 |35[32 [27[32 [16]60|20|30| 2 [58[ 11|58 |M8x1.25]7 |18 M18x1.5 |55 [20[90 (102) 25
63 [Upt0300]301t0600] 14 [12 (14)[1/4] 12 [11 (12)| 1/4 [35[32 [27]38 [18[74|20]32] 2 [58[11|72|Mm10x15]7 [18]M18x1.5]69 [22[90 (102) 30
(mm) With Rod Boot (mm) With Air Cushion (mm)
B"(';,:')ZE TH|TT|TZ | 2z 2z A;ﬁ"f:;‘:{e B(’(’;;')ZE fln|wpH Wz | 2z B‘;:ﬁrﬁ')zeﬁc"fT'GWA WB |WH| w6
20 [25(3.2] 434118 129 CD-G02 20 [30]18]55]27[15.5/105 138|149 20 [M5x08[16][15 [23 |30°
25 [30[3.2] 48 [125 138 CD-G25 25 [30/19|62]32[16.5[105| o [147  [160 25 |[M5x08|16[15 [25 |30°
32 [35[4.5] 59.4]131 146 CD-G03 32 [35]19]62]38[185]105| S [153  |168 32 1/8 [16[15  |285]25°
40 | 40(4.5| 71.4]150 (159) |168 (177) | CD-GO4 40 |35]|19]70]4821.5]105 E, 170 (179)/188 (197) 40 1/8_[16[15(16)[33 [ 20°
50 [50[6 |86 [173(185)[193 (205)|CD-Go5 50 |40|19]78[59[24 [10.5]| = [193(205)213 (225) 50 1/4__|18]17 (18)[40.5] 20°
63 [60[8 [105.4]178 (190) 200 (212) | CD-GoB 63 [40]20|78[72[24 [10.5| |198(210)220 (232) 63 1/4__[18[17 (18)[47.5] 20°
Note) ( ): Denotes the dimensions for long stroke. + The minimum stroke with rod boot is 20 mm.

Refer to page 321 for pivot bracket.

318



Clevis Style: CG1D (280, 2100)

With rubber bumper

S + Stroke

Air Cylinder: Standard Type
Double Acting, Single Rod

A

F_|GA

L

AL

K 1 2xP
(Rc, NPT, G)

ol

oESos
oD

Width

across
flats B1/

Width across flats NA

Width across flats KA

@CDH10 (Hole dia.)

Series CG1

do (Shaft dia.)

e

MM
Z + Stroke
ZZ + Stroke
With rod boot o
|
RN E >
2le © 7 O
¢ f
h+¢
Z + ¢ + Stroke
ZZ + ¢ + Stroke
With air cushion
2xP
(Rc, NPT, G)
mm)
Bore size| _ Stroke range (mm) Rc, NPT port G port
(mm) | Standard [ Long stroke |GA| GB | P |GA| GB A5 @ |@v|er|e] D] E ]| F )W )W) T J s
80 |Upto300| 301to750 |20 |16 (20)|3/8| 17 |16 (17)| 3/8 |40 |37 |32 |50 | 18 |28 |56 25|40 | 3 |71 |13 | 89| M10x1.5 | 10 | 22 | 35
100 |Upto300| 301to750 | 20 |16 (20)|1/2| 17 |16 (17)| 1/2 |40 |37 |41 |60 |22 |32 |64 30|50 | 3 |71 |16 | 110 |M12x1.75| 10 | 26 | 43
(mm)
Bore size| Applicable
MM NA [RR S TZ|V z zz pin part
(mm) no.
80 |[M22x1.5| 80| 18 | 108 (122) | 64 | 26 | 214 (228) | 232 (246) | IY-G08
100 | M26x1.5|100| 22 | 108 (122) | 72 | 32 | 222 (236) | 244 (258) | IY-G10
Note) ( ): Denotes the dimensions for long stroke. Refer to page 321 for pivot bracket.
With Rod Boot (mm) With Air Cushion (mm)
Bore size| Bore size|Re, NPT.G
m) | €[ f|h|W ¢ z 2z mm) | p|WA|/WB|WH wo
80 | 5210|8059 A 223 (237) | 241 (255) 80 3/8 | 22 | 22 |60.5|20°
100 |62 | 7 (80|71 stroke 231 (245) | 253 (267) 100 12 | 22122 |71 |20°

* The minimum stroke with rod boot is 20 mm.

319

5
[
—

(x]
C—
o

Ne
N

[
G
N

)
~N
=
S

o
=
~

[=)
=
@

~g
2

=
™
—r

N
N

QO[O
NN >
N[ =N

XO

Technical
data

Ik



Series CG1
Accessory Bracket Dimensions

Single Knuckle Joint

1-G02, G03
Material: Rolled steel

1-G04, G05, G08, G10
Material: Cast iron

Double Knuckle Joint

Y-Go02, G03

Material: Rolled steel

Axis d9

N

=

-]

AU

L

A

NX

_._oND hole nio

Y-G04, G05, G08, G10
Material: Cast iron

s

oND hole 1o

Axis d9

[T

<IN
zIz-'

A1 U1

L1

(mm)

|Applicable]
Partno.| *bore
(mm)

A

Ei

MM | R:

U: [ND| NX (NZ| L

Applicable
pin part
no.

Y-G02| 20

34

85

016

M8x1.25 |103

15

8 | 852 [16)21

1Y-G02

Y-G03 | 25,32

LAl

105

020

M10x1.25 | 12.8

14 10| 10:32 | 20 | 256

1Y-G03

Y-G04| 40

42

16

022

Mi4x15 | 12

1410 18:3% | 36 |416

1Y-G04

Y-G05 | 50,63

56

20

028

Mi8x15 | 16

20 | 14| 285 |44 |506

1Y-G05

Y-Gog| 80

71

23

038

M22x15 | 21

2718 %848 |56 |64

1Y-G08

Y-G10| 100

79

24

044

M26x15 | 24

3122 343 [64[72

1Y-G10

MM ONDio MM oNDio
>
i P &8
AU
Li NX
A
(mm)
Part no. | APPICEE | o 1A Ve | MM | Ry Ui | ND NX
art no. | yore (mm) | Er| Lt 1| U o
1-G02 20 34 [8.5(016] 25 | M8x1.25 | 103 [11.5| 8'¢** =5
1-G03 25,32 |41 |105|020| 30 | MI0x1.25 | 128 | 14 | 10'8°* | 1083
1-G04 40 42 |14 [022| 30 | M14x15 |12 | 14 | 109*° | 1832
1-G05 50,63 |56 | 18 [028 | 40 | Mi8x15 | 16 | 20 | 14'8° | 22782
1-Gos 80 71 (21 [038]50 | M2x15 |21 | 27 | 18%°° | 28352
I-G10 100 |79 |21 [044| 55| M26x15 | 24 | 31 | 22'6°* | 32752
Knuckle Pin
—
t
Material: Carbon steel (mm)
Applicable Applicable
Part no. bore (mm) Ddo L d L | m t snap ring
1Y-G02 20 8%%¢ | 21 | 7.6 (162 1.5 | 0.9 | TypeC8foraxis
1Y-G03 25,32 10557 | 25.6 | 9.6 | 20.2 | 1.55 | 1.15 | Type C 10 or axis
1Y-G04 40 10587 | 41.6 | 9.6 | 36.2 | 1.55 | 1.15 | Type C 10for axis
1Y-G05 50,63 145855 | 50.6 | 13.4 | 44.2 | 2.05 | 1.15 | Type C 14 foraxis
1Y-G08 80 18568 | 64 | 17 | 56.2 | 2.55 | 1.35 | TypeC 18forais
1Y-G10 100 2273%% 72 | 21 | 64.2 | 2.55 | 1.35 | Type C22foraxis

# Retaining rings are shipped together.

Clevis Pin

* Knuckle pin and retaining ring are shipped together.

Rod End Nut

TR
a
° I\ 1°
i
Material: Rolled steel (mm)
Applicable

Part no. bore (mm) d Hi | B: Cc D
NT-02 20 M8x125| 5 | 13 | (15) [125
NT-03 25,32 M10x125 | 6 | 17 | (19.6) | 165
NT-G04 40 M14x15| 8 | 19 | (21.9) | 18
NT-05 50,63 M18x1.5 | 11 | 27 | (31.2) | 26
NT-08 80 M22x1.5 | 13 | 32 | (37.0) | 31
NT-10 100 M26x1.5 | 16 | 41 | (47.3) | 39

Material: Carbon steel (mm)
Applicable Applicabl
Partno. | HEES| Dds | L | d m |t sﬂ;ﬁing
CD-G02 20 858 [43.4|7.6 (386 1.5 | 0.9 | TypeC8foraxis
CD-G25 25 10567 | 48 | 9.6 | 42.6 | 1.55 | 1.15 | Type C 10for axis
CD-G03 32 12388 | 59.4 [ 11.5| 54 | 1.55 | 1.15 | TypeC 12foraxs
CD-G04 40 14568 | 714134 | 65 | 2.05 | 1.15 | TypeC f4foraxs
CD-G05 50 1662 | 86 [15.2|79.6 | 2.05 | 1.15 | TypeC 16forais
CD-G06 63 18562 | 1054 | 17 | 97.8 | 2.45 | 1.35 | TypeC 18foraxis

* Retaining rings are shipped together.
* Clevis pin and knuckle pin are common for bore size @80 and @100.

320



Accessory Bracket Dimensions Series C G 1

Pivot Bracket

20 to 263

Material: Rolled steel

I.T_U.J/B_Td
R

N
AL cJ1
- q L _J’Z,E Knock pin hole
T CJP
TY
™w CJ2
-z
280, 100
Mate’rial: Cast iron ch
oTR oTd N
. cm2
|| ;
Eiz
— i i | ! cM3
TY | ‘4XETF/ T'X 1
TwW Tz
Applicable
Partno. || 08 (mmy | TB | Td | TE | TF | TH | TN | TR | TT
CG-020-24A 20 | 36| 8 |10 55|25 [(209] 13 |32 CG3
CG-025-24A 25 43 [ 10 [ 10 | 55|30 [@31)] 15 |32
CG-032-24A 32 |50 | 12 | 10 | 6.6 | 35 |(04)| 17 | 45 mB
CG-040-24A 40 58 | 14 [ 10 [ 6.6 | 40 [(492)] 21 | 45 -Z
CG-050-24A 50 70 [ 16 [ 20 | 9 [ 50 |(04)| 24 | 6 MB
CG-063-24A 63 82 [ 18 [ 20 | 11 [ 60 |(146)| 26 | 8
CG-080-24A 80 73 [ 18 | — [ 11 |55 [28% ]| 36 | 11
CG-10024A | 100 | 90 | 22 | - [135] 65 | a4 | 50 | 12 MB1
Applicable Applicable
Partno. | JETES TU | TV | TW | TX | TY | TZ | “EEIE CZAZ
CG-020-24A 20 [(18.1)](358)| 42 | 16 | 28 [38.3| 8de 2%
CG-025-24A | 25 [(207)|(39.8)| 42 | 20 | 28 [42.1| 10do Gére CA2
CG-032-24A 32 | (236)](494)| 48 | 22 | 28 |53.8| 12ds 5oa
CG-040-24A | 40 [(27.3)[(584)| 56 | 30 | 30 [64.6| 14ds 5% cs1
CG-050-24A | 50 |(29.7)[(724)] 64 | 36 | 36 [79.2| 16ds oo
CG-063-24A 63 | (34.3)[(904)| 74 | 46 | 46 |97.2| 18ds 982
CG-080-24A 80 - | - | 72|85 |45 | 110 | 18ds 58 €S2
CG-100-24A | 100 | - | — [93 [100] 60 [130 ] 22ds $%%

XO

Technical
data

321

Ik



Air Cylinder: Standard Type
Double Acting, Double Rod

Series CGT1W

220, 025, 932, 40, 250, 063, 80, 2100

How to Order

With auto switch

(Built-in magnet)
Double acting, double rod type
Mounting style

B Basic style Type
L Axial foot style [N] Rubber bumper |
F Flange style A \ Air cushion
U* Trunnion style
* Not available for bore size 080 and 0100. Bore size
Note) Mounting brackets are shipped together, 20 | 20 mm 50| 50 mm
(but not assembled). 25 | 25 mm 63| 63 mm
e . 32 [32mm || 80| 80 mm
Built-in Magnet Cylinder Model |-, 15 00l700 mm

If a built-in magnet cylinder without an auto
switch is required, there is no need to enter
the symbol for the auto switch.

(Example) CDG1WFA32-100

Cylinder stroke (mm)
Refer to “Standard Stroke”
on page 323.

Auto switch

[Nl

‘ Without auto switch ‘

# For the applicable auto switch
model, refer to the table below.

o Suffix for cylinder (Rod boot)

Nil

Without rod boot

One | J

Nylon tarpaulin

end | K

Heat resistant tarpaulin

JJ

Both

Nylon tarpaulin

ends | KK

Heat resistant tarpaulin

Number of

Auto switch mounting bracket "o

Note) This symbol is indicated when
the D-A90 or M9 type auto
switch is specified.
This mounting bracket does not
apply to other auto switches

(D-C70 and H70, ete.) (Nil)

auto switches

Nil

S

n

Made to Order

Note) When equipped with a rod boot, foot and rod side flange
type brackets are attached before shipment.

Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

Refer to page 323 for details.

=) Load voltage Auto switch model Lead wire length (m)
. .| Electrical | 5| Wirin Applicable bore size Pre-wired B
Type| Special function entry § (OutpSt) e AC ?20 S 063v 280, ?100 (?\jfl’) (JA) (ﬁ) (g) !\éﬂl)e connector| APplicable load
£ Perpendicular| _In-line In-line
3-wire M9ONV M9N — ® | ® @ O|—| O
(NPN) 5V.12V — — G59 ® — ® O|—| O IC
3-wire ’ M9PV M9P = ® | ® @ O|—| O circuit
——  |Grommet| | (PNP) = — | G5P [e [—|e@l0|—| ©
= M9OBV M9B = ® | ® e O | — o
£ 2-wire 12v — — K59 (e [—[e@[O0[—[ O —
5, Connector = H7C = o |— o 0| —
] 3-wire MONWYV | MONW — ® ® ® O|—| O
3 ol (NPN) | ulsvioy]  — — — G59W (@ [—|e|O|—| O IC |Relay,
@ | Diagnostic indication £ 3-wire ’ M9PWV | M9PW L O|—] O |circuit| PLC
% (2-color indication) (PNP) — — G5PW (@ |— @O/ —| O
° >-wire 12v M9BWV | M9BW — ® | ® ® O|—| O _
S Grommet — = K5s9w (@ |—|@|O|—| O
@ 3-wire (NPN) sv12v MONAV* MONA™* | — ololelo[—=[ © IC
Water resistant 3-wire (PNP) ’ MOPAV**| MOPA** = oOlo|lelo]— O circuit
(2-color indication)| i M9BAV**| M9BA** — OlO0O/ @O o _
Zwire 2y = — |GsBA™|— |- |e@lo|—| O
Diagrostic ougut (2-0lorndion) 4-wire (NPN) 5V,12V — H7NF — ® |—|® O|—| O [ICcircui
= Yes Suite (Equiv. oNPN) | — 5V — A96V A96 - ® |—|®|—|—| — [ICcircuit] —
2 L] 100 V A93V A93 — o | — o0 |—| — -
H Grommet |Nore| 100 Vorless| A90V A90 — ® |— @ —|—| — |ICcircuit
o e Yes 100V, 200V = B54 | — e o — —
3 e e 24V 2V [200Vorless]  — B64 o —0|—|— — | — F*rfll_aoyy
3 Connector 1] — — c7sc [ — e —0 00 - —
8 Nore 24 Vorless| — c8oC | — o | —[e[/e[®] — [Ccircu
[ agusicndiain 2o icaio| Grommet |Yes — — — B59W | —e|—|—| — —

«+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.Consult with SMC regarding

water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m - Nil  (Example) MONW
1m - M (Example) MONWM
3m- L (Example) MONWL
5m- Z (Example) MONWZ

None - N (Example) H7CN

* Since there are other applicable auto switches than listed, refer to page 368 for details.
+ For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
* D-A900/M90I0C auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

322

* Solid state auto switches marked with “O” are produced upon receipt of order.




Symbol

Rubber bumper

Air cushion

to
Vet

Made to Order Specifications

(For details, refer to pages 1675 to 1818.)

Air Cylinder: Standard Type
Double Acting, Double Rod

Specifications

Series CG1W

Bore size (mm)

20 [ 25 [ 32 | 40 | 50 [ 63 | 80 | 100

Action Double acting, Double rod
Lubricant Not required (Non-lube)
Fluid Air
Proof pressure 1.5 MPa
operating pressure 1.0 MPa cJ'l
Minimum operating pressure 0.08 MPa

Ambient and fluid temperature

Without auto switch: —10 to 70°C (No freezing)

(x]
C—
-}

With auto switch: —10 to 60°C (No freezing)

Piston speed

50 to 1000 mm/s

50 to 700 mm/s

Ne
N

Stroke length tolerance

stita sitd

up to 1000”5 "mm, up to 10005 "mm,

stete as18

up to 1200" ¢ "mm up to 1500”6 " mm

Cushion

Rubber bumper, Air cushion

Mounting *

Basic style, Axial foot style, Rod side flange style, Rod side trunnion style

= Rod side trunnion style is not available for bore sizes 680 and 6100.

[x]
2|8
NN

-Z

Accessory
Mounti Basic Axial Rod side Rod side
ounting style foot style flange style | trunnion style
|Standard | Rod end nut ° ° ® ® CG3
Single knuckle joint [ ] [} [ J [ J
e MB
Double knuckle joint ) ) ) ) -7
Option | (With pin)
Pivot bracket * — — — [ MB
Rod boot ® ® [ [
= Not available for bore size 880 and 100. MB1
== Pin and retaining ring are shipped together with double knuckle joint. CA2
-Z

(2]
=
N

Symbol Specifications Standard Stroke

-XAD | Change of rod end shape Bore size (mm) Standard stroke (mm) () Long stroke (mm) | mandiaciirable
-XB6 | Heat resistant oylinder (150°C) ™1 20 25, 50, 75, 100, 125, 150, 200 201 t0 350

-XB7 | Cold resistant cylinder*2

-XC6 | Piston rod and rod end nut made of stainless steel 25 301 t0 400

-XC13 | Auto switch rail mounting style 52 301 to 450

_XC22 | Fluororubber seals 40 25, 50, 75, 100, 125, 150, 200 301 to 800 1500
-XC37 | Large throttle diameter of connecting port 50, 63 250, 300 301 to 1200

-XC85 | Grease for food processing equipment 80 301 to 1400
# 1 Cylinders with rubber bumper have no bumper. 100 301 to 1500

= 2 Compatible with cylinders with rubber bumper,

but has no bumper.

Refer to pages 363 to 368 for cylinders with
auto switches.

+ Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

+ Operating range

« Switch mounting bracket: Part no.

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) Long stroke is compatible with the axial foot and rod side flange types. When other
mounting brackets are used or the long stroke exceeds the limit, the allowable maximum
stroke length is determined using the stroke selection table (front matter 28)

Rod Boot Material

Symbol| Rod boot material

J Nylon tarpaulin

Maximum ambient
temperature

70°C

K |Heat resistant tarpaulin

110°C *

* Maximum ambient temperature for the rod

boot itself.

323

[ BIN¥]
(7 BIN "]
N || =

XO

Technical
data

Ik



Series CGTW

Weight (kg)
Bore size (mm) 20 25 32 40 50 63 80 100 ‘ A Precautions

£ Basic style 013 | 022 | 033 | 055 | 1.02 | 1.37 | 2.64 | 4.09

2 - ey

2 Axial foot style 0.24 | 0.35 | 049 | 0.77 | 1.50 | 2.09 | 3.60 | 5.84 1 Be sure to read before handling. b

5 Flange style 021 | 032 | 047 | 075 | 1.36 | 1.87 | 3.35 | 5.44 1Refer to front matter 57 for Safety I

o Trunnion style 014 | 024 | 0.36 | 0.60 | 1.16 | 1.51 — — IInstructions and pages 3 to 12 for !
Pivot bracket 008 | 009 | 017 | 025 | 044 | 080 [ — | — I Actuator and Auto Switch Precautions. !
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 -
Double knuckle joint (With pin) | 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31

Additional weight per each 50 mm of stroke | 0.07 | 0.10 | 0.13 | 0.23 | 0.34 | 0.38 | 0.54 | 0.77

Additional weight with air cushion| 0.01 | 0.01 | 0.02 | 0.02 | 0.03 | 0.03 | 0.09 | 0.10
Calculation: (Example) CG1WLN32-100 (Foot style, 232, 100 st)
* Basic weight- -0.49 (Foot, ©32) « Cylinder stroke------100 st
* Additional weight:+--------0.13/50 st 0.49 +0.13 x 100/50 = 0.75 kg
Mounting Bracket Part No.

Mounting Min. Bore size(mm) e
bracket |order| 20 25 32 40 50 63 80 100 DEESiEiEn
Note)|

Axial foot 2| CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-LO50 | CG-L063 | CG-L08O | CG-L100 I'\:/I%(imtlng bolt x 8

Flange 1 | CG-F020 | CG-F025 | CG-FO32 | CG-FO40 | CG-FO50 | CG-F063 | CG-F080 | CG-F100 ,f,}g[]gﬁn’;honx 4

Trunnion pin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T0S0 | CG-T063 |  — — T s Fat washor x 2
Pivot bracket | 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A — — Pivot bracket x 1

Note) Order two foot brackets per cylinder.

Air-hydro
CG1[Mounting style|H [Bore size [ Stroke]|

Air-hydro
Low pressure hydraulic cylinder of 1.0 MPa or less
When used together with a Series CC air-hydro unit, constant and low
speed actuation and intermediate stopping similar to hydraulic units are
possible with the use of valves and other pneumatic equipment.

Specifications

Type Air-hydro
Bore size (mm) 20, 25, 32, 40, 50, 63
Action Double acting
Fluid Turbine oil
Proof pressure 1.5 MPa
i ing p 1.0 MPa
Minimum operating pressure 0.18 MPa
Piston speed 15 to 300 mm/s
Cushion None
Ambient and fluid temp +5to 60°C
. Basic style, Axial foot style,
Mounting Flange sytyle, Trunnion s{yle

* Auto switch can be mounted.
= Dimensions are the same as the double rod standard type on page 326.

324



Construction

With rubber bumper

With air cushion

Component Parts

Air Cylinder: Standard Type
Double Acting, Double Rod

280, 0100

240 to 0100

w 0o

T

Series CGT1W

o
G
pry

it

Replacement Parts/Seal Kit

(x]
C—
-}

Ne
N

5
e
N

)
~N
=
S

oo
==
™|~

B

No. Description Material Note « For rubber bumper
1 Rod cover Aluminum alloy Clear hard anodized Bore size (mm) Kit no. Contents CG3
2 | Cylinder tube Aluminum alloy Hard anodized 20 CG1WN20-PS
3 | Piston Aluminum alloy Chromated * 25 CGIWN25-Ps| Setofthe  |MB
4 | Piston rod Carbon steel * Hard chrome plated 32 CG1WN32-PS |N0s-@, @, ® |-Z
5 Bushing Bearing alloy 40 CG1WN40-PS M B
6 per A Urethane « For air cushion
7 | BumperB Urethane 240 or larger: The same as bumper A Bore size (mm) Kit no. Contents
8 | Rod end nut Rolled steel Zinc chromated 20 CG1WA20-PS| get of the MB1
9 Piston gasket NBR 25 CG1WA25-PS nos. @ A2
10 | Piston holder Urethane 240 or more * 32 CG1WA32-PS @ @ ' 7
11 | Cushion ring Aluminum alloy Anodized 40 CG1WA40-PS !
12 | Cushion v.alve Rolled steel Electrol.ess nickel plated Note) Refer to the Specific Product Precautions on CAZ
13 | Valve retainer Rolled steel Nickel plated page 310 for Disassembly/Replacement.
14 | Lock nut Carbon steel Order with a part number for each type and cS1
15 | Cushion seal Urethane bore size.
16 | Cushion ring gasket NBR * The seal kit includes a grease pack (10 g). Order
17 | Rod seal NBR with the following part number when only the CcS2
18 | Piston seal NBR grease pack is needed.
19 | Tube gasket NBR Grease pack part no.: GR-S-010 (10 g)
20 | Valve seal NBR
21 | Valve retaining gasket NBR

Note) In the case of cylinders with auto switches, magnets are installed in the piston.
+ The material is stainless steel on auto switch equipped styles 820 and 225.

325

XO

Technical
data

Ik



Series CGTW

Basic Style with Rubber Bumper: CG1WBN

GA 2 x RcP FG_&
Width|
MM, e L
ats /
/ // /
T !
&) 7=V} 24
°? %I 7\ | I )} ¥ a ‘L“J’
A NN Ik Sy
o K| J TA TA K kS
-AJ FlITAl \4xTC IF A7
H S + Stroke H + Stroke” .
D - ZZ + Stroke -
<With rod boot at one end>
8_ ¢ _8
il
=i
2|o| AR >
E U VA4 O
Sl gl
£
h+¢
ZZ + ¢ + 2Stroke
<With rod boot at both ends>
8 ¢ 8 8 ¢+Stroke 8
AR !
|| () ] | |
2|e HTR ey
S IS
Lt Lt
h+¢ S + Stroke h + ¢+ Stroke
ZZ + 2 (¢ + Stroke)
(mm)
Bore size | Stroke range
(mm) (mm) A | AL | B1 Cc D E F | GA | H 1 J K | KA MM NA | P S
20 Up to 350 18 |155] 13 | 14 | 8 12 2 12 | 5 | 26 | M4x0.7depth7 | 5 6 M8x1.25 | 24 | 1/8 | 77
25 Up to 400 22 |195| 17 |165| 10 | 14 | 2 12 | 6 | 31 [M5x0.8depth7.5| 55 | 8 | M10x1.25 | 29 | 1/8 | 77
32 Up to 450 22 [195| 17 [ 20 [ 12 |18 | 2 | 12 | 6 | 38 | M5x0.8depth8 | 5.5 | 10 | M10x1.25 [35.5| 1/8 | 79
40 Up to 800 30 |27 |19 [ 26 [ 16 |25 | 2 | 13 | 8 |47 | M6x1depth12 | 6 | 14 | M14x1.5 | 44 | 1/8 | 87
50 Upto1200 | 35 | 82 | 27 | 32 | 20 | 30 | 2 14 | 11 | 58 [M8x1.25depth 16| 7 18 | M18x1.5 | 55 | 1/4 | 102
63 Upto1200 | 35 | 82 | 27 | 388 | 20 | 382 | 2 14 | 11 | 72 [M10x1.5depth16| 7 18 | M18x1.56 | 69 | 1/4 | 102
80 Upto1400 | 40 | 37 | 32 | 50 | 25 | 40 | 3 | 20 | 13 | 89 [M10x1.5depth22| 10 | 22 | M22x1.5 | 80 | 3/8 | 122
100 Upto1500 | 40 | 37 | 41 | 60 | 30 | 50 | 3 | 20 | 16 | 110 |M12x1.75depth22| 10 | 26 | M26x 1.5 | 100 | 1/2 | 122
X Without rod boot With rod boot on one side * With rod boot on both sides *
Bore size TA TC **
(mm) H |2z | e | f | h | W |JH W) , |27z 2z Air-hydro
20 11 M5 x 0.8 35 | 147 | 30 | 18 | 55 | 27 | 155|105 167 187 Boresize | o | 55
25 11 | M6x0.75 | 40 | 157 | 30 | 19 | 62 | 32 | 165 | 10.5 179 201 (mm)
32 11 M8 x 1.0 40 [ 159 | 35 | 19 | 62 | 38 | 185|105 | o | 181 203 20 77 [147
40 12 | M10x1.25 | 50 | 187 | 35 19 70 48 | 215 | 105 é 207 227 25 77 |157
50 13 | M12x1.25 | 58 | 218 | 40 19 78 59 24 | 105 \‘2 238 258 32 79 [159
63 13 M14x1.5 58 | 218 | 40 20 78 72 24 | 105 | © 238 258 40 87 187
80 — — 71 | 264 | 52 | 10 | 80 | 59 | — | — 273 282 50 102 (218
100 — — 71 | 264 | 62 7 80 | 71 | — | — 273 282 63 102 (218

* The minimum stroke with rod boot is 20 mm.
## Trunnion mounting screw with width across flats NA are not attached for bore sizes 280 and 2100.

326




Air Cylinder: Standard Type .
Double Acting, Double Rod Series CG 1 W

Basic Style with Air Cushion: CG1WBA

2><P WA

w4 m;zreq be .

\ it = A / "
= 4 - =T CJ1
W It J Siw,
ol = I

CJP
AL AL
TAKIF|TA| \axTC TA[F KA CJ2
H S + Stroke H + Stroke .z
D ZZ + 2Stroke _ —

5
e
N

* For the one with rod boot, refer to w/ rubber bumper. (mm)

o
=
)

Bore size |Standard stroke| Long stroke
o(n?nr:) ¢ srange (mm) ran;e (mm) | A HE B c ® =
20 Up to 200 | 201 to 350 18 15.5 13 14 8 12
25 Up to 300 | 301 to 400 22 19.5 17 16.5 10 14
32 Up to 300 | 301 to 450 22 19.5 17 20 12 18
40 Up to 300 | 301 to 800 30 27 19 26 16 25

50 Up to 300 | 301 to 1200 35 32 27 32 20 30

63 Up to 300 | 301 to 1200 35 32 27 38 20 32

80 Up to 300 | 301 to 1400 40 37 32 50 25 40
100 Up to 300 | 301 to 1500 40 37 41 60 30 50

~

GA H Hi I J K KA

12 35 5 26 | M4x0.7 depth 7 5 6 CMZ
12 40 6 31 [M5x0.8depth7.5| 5.5 8

12 40 6 38 | M5x0.8depth8 | 5.5 10

50 8 47 M6 x 1 depth 12 6
14 58 11 58 |[M8x1.25depth 16| 7 18
14 58 11 72 |M10x1.5depth 16| 7 18
20 71 13 89 |Mi0x1.5depth22| 10 22
20 7 16 110 |Mi2x1.75depth22| 10 26

IS
[=)
=
@

~g
2

[AYISRINATSI NI ICITNE IR ]
@

i
D
-

Bore size o # For mounting brackets, refer to page 328.
(mm) MM NA P S TA TC* 2z WA WH W6 . Trunnion mounting taps with width across CG3
20 | M8x125| 24 | M5x08 | 77 | 11 | M5x08 | 147 | 16 | 23 | 30° flats NA are not attached for bore sizes
25 M10x125 | 29 M5x08 | 77 11 | M6x0.75 | 157 16 25 30° ’ MB
32 M10x1.25 | 35.5 Rc 1/8 79 1 M8 x 1.0 159 16 28.5 25° -

40 M14x15 44 Rc 1/8 87 12 M10x1.25 | 187 16 33 20°
50 M18x 1.5 55 Rc 1/4 102 13 Mi12x125 | 218 18 40.5 20°
63 M18x 1.5 69 Rc 1/4 102 13 M14x1.5 | 218 18 47.5 20°

g

80 M22x1.5 | 80 Rc 3/8 122 | — — 264 | 22 | 605 | 20° MB1
100 | M26x15]| 100 | Rct1/2 | 122 | — — 264 | 22 71 20°
CA2
-Z

(x)
>
N

[ BIN¥]
(7 BIN "]
N || =

XO

Technical
data

327

Ik



Series CGTW

With Mounting Bracket

Axial foot style: CG1WLO

2xoLC
Knock pin position

Flange style: CG1WFO

328

Foot Style (mm)
B‘?:ﬁ:}')ze rans;mm) B |LC|LD|LH|LS|LT|LX|Lz| M |W|X|Y|Z
20 [Upto350 |34 | 4 | 6 [20[53] 3 [32]44]| 3 [10[15] 7 |47
25 |Upto400 [385] 4 | 6 (22 53| 3 |36(49|35/10[15| 7 |52
32 [Uptods0 |45| 4 | 7 |25(53| 3 |44|58|35(10(16)| 8 |53
40  |Upto800 [545| 4 | 7 {3060 3 |54 |71 4 |10 [165|85 635
50 [Upto1200|705| 5 | 10|40 |67 [4.5/66 |86 | 5 [175( 22| 11 |755
63  [Upto1200/825| 5 | 12|45 |67 [4.5]82[106| 5 [175(22 | 13 |755
80 [Upto1400|101| 6 | 11|55 |74 [4.5(100[125| 5 |20 [285)| 14 | 95
100 |Upto1500[121] 6 [ 14 [65]74] 6 [120[150] 7 [20|30[ 16|95
* Other dimensions are the same as basic style.
Flange Style (mm)
i roke
B‘z:ﬁnﬁ')ze ransg‘e"‘memj B|E|F|Fx|FD|FT|H
20 |Uptod50 |40 12| 2 |28 (55| 6 | 35
25  |Upto400 |44 |14 | 2 |32 [55| 7 | 40
32 |Upto450 |53 |18 | 2 |38 |66 7 | 40
40  |Upto800 |61 |25 | 2 |46 66| 8 | 50
50 |Upto1200| 76 |30 | 2 (58| 9 | 9 |58
63 | Upto1200|92 [32 | 2 |70 [ 11| 9 |58
80 | Upto1400]104|40 | 3 |82 | 11|11 | 71
100 | Upto1500|128| 50 | 3 [100| 14 | 14 | 71
* End boss is machined on the flange for oE.
+ Other dimensions are the same as basic style.
Trunnion Style (mm)
B‘;rrﬁrﬁ')ze ransgf(krim) B| TDes |TE|TF|TH|TR|TS
20 Upto200 | 38 856 10 | 55| 25 | 39 | 28
25 Upto300 [455| 10383 10 | 55| 30 | 43 | 33
32 Upto300 |54 | 12568 10 | 6.6 | 35 |54.5| 40
40 Upto500 [635| 1408% 10 | 6.6 | 40 [65.5] 49
50 Upto600 | 79 | 16332 20 | 9 | 50 | 80 | 60
63 Upto600 | 96 | 18736% 20 | 11 /60 | 98 | 74
(mm)
Boresize | | ¢y | qw | TX | TY | T2 frerre——
(mm) Wit | Wi rod boot
20 3.2 [(358)| 42 | 16 | 28 | 476 46 | 66 +¢
25 32 ((398)| 42 | 20 | 28 | 53 | 51 [ 73 +¢
32 45 |(494)| 48 | 22 | 28 | 67.7| 51 | 73 +¢
40 4.5 |(584)| 56 | 30 | 30 | 78.7| 62 | 82+¢
50 6 |(124)| 64 | 36 | 36 | 986| 71 | 91+¢
63 8 |(904)| 74 | 46 | 46 | 1192] 71 [ 91 +¢

* Consists of pin, flat washer and hexagon socket head cap bolt.
* Other dimensions are the same as basic style.



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CG1

020, 25, 32, 240

How to Order

] CG1N|25|-|100| -

CDG1[L N |25|—|100| ‘|MQBW|
e et

With auto switch
(Built-in magnet)

Mounting style

B Basic style U |Rod side trunnion style
L Axial foot style T |Head side trunnion style
F | Rod side flange style || D Clevis style

G | Head side flange style

Note) Mounting brackets are shipped together,
(but not assembled).

Type

m Rubber bumper

Built-in Magnet Cylinder Model Bore size¢
If a built-in magnet cylinder without an auto 20 | 20 mm
switch is required, there is no need to enter 25 | 25 mm
the symbol for the auto switch. 32 | 32 mm
(Example) CDG1FN32-100T 40 | 40mm

Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

Action

CJ1
CJP
| )
-Z
CJ2
cm2
-Z
Number of cM2
auto switches
Nil | 2pcs. cM3
S 1pc.
n “n” pcs. CG1
Auto switch

‘ Nil ‘ Without auto switch ‘

+ For the applicable auto switch
model, refer to the table below.

Auto switch mounting bracket hoe)

s Single acting,
Spring return

Note) This symbol is indicated when the
D-A90 or MO0 type auto switch is
ified. This mounting bracket

T

Single acting,
Spring extend

dges not apply to other auto switches
(D-C70 and H70, ete.) (Nil)

Cylinder stroke (mm)
Refer to “Standard Stroke” on

page 330.

Made to Order
Refer to page 330 for details.

£ Load voltage Auto switch model Lead wire length (m)
: = iri Applicable bore size Pre-wired
m i ion | Electrical | 5| Wiring bR i
ype| Special function entry 5 (Output) bC AC 520 0040 ((IJ\I:EI’) (’\1/” (E) (% I\:(,J\T)e connector | APplicable load
2 Pe In-line
3-wire (NPN) 5V 12V M9INV M9N ® 00 O — @) IC
5 Grommet 3-wire (PNP) ’ M9PV M9P ® @@ O|—| O |acircuit
£ o 12V M9BV M9B ® ® 0 O — O _
& Connector -wire — H7C (e |—|®e/®0|/®@] —
2. IS 3-wire (NPN) MONWV | MONW @ @/ ® O|—| O IC
£ @
8 D('g?c"jgﬁ'fn'gggjgj)" S 3wire PNP)| 24v [°V'2Y)  _ [mePwv | MoPW | @ @ @ |O|—| O | circuit R;'Lacy*
] 2-wire 12V MOBWV | MOBW | @ @ @ O | —| O —
@ Grommet 3-wire (NPN) MONAV**| MGNA** | O |O |@|O|—| O 1o}
5 (Zﬁaglirr Eﬁzli?:taat?;n) 3-wire (PNP) 5V,12v MOPAV**| MOPA** | O O |@|O|—| O | circuit
@ 2-wire 12V M9BAV**| M9BA™ | O |O |@|O|—| O —
Diagnostic output (2-color indicaton) 4-wire (NPN) 5V,12V H7NF ® | — @ O|—| O |ICcircuit
3-wire _ J U R IC
- § (Equiv. toNPN)| — 5V — A96V A96 [ ] [ ] cirouit | —
.§ U 100V | A93V A3 @ |—[®|@]—| — | —
g Grommet [None| 100 Vorless | A90V A90 ® |—|®|—|—| — |[Ccircut
= Yes 100V, 200 V = B54 o —0 0 — —
3 =
: Nong| ~ 2-wire 24V 2V 200 V or less — B64 [ ] ® —|—| — — R:taé/’
2 G tor s — — C73C | @ — @ 0 0 —
o ONNECIOT fyone 24V orless — c8oC ® | —|®/® ® — |(Ccircut
Diagnostc indcaton (<olorindcain) | Grommet | Yes — — — B59W e —|e—|—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

MINW
MINWM
MONWL
MINWZ
H7CN

# Lead wire length symbols: 0.5 m - - Nil E: I
1 .

+ Solid state auto switches marked with “O” are produced upon receipt of order.

= Since there are other applicable auto switches than listed, refer to page 368 for details.
= For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
* D-A900/M90ION auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

329

NS ©
@ D K7l
w | =Y

N
N

QO[O
NN >
N[ =N

XO

Technical
data

Ik



Series CG1

Spring extend

Symbol

Spring return rubber bumper

Spring extend rubber bumper

Specifications

Bore size (mm)

20 [ 25 | 32 | 40

20 [ 25 | 32 | 40

Action Single acting, Spring return Single acting, Spring extend
Lubricant Not required (Non-lube)

Fluid Air

Proof pressure 1.5 MPa

Maximum operating pressure 1.0 MPa

Minimum operating pressure

0.18 MPa

0.23 MPa

Without auto switch: —10 to 70°C (No freezing)

and fluid

With auto switch: =10 to 60°C (No freezing)

Piston speed

50 to 1000 mm/s

Stroke length tolerance

Up to 200" mm

Cushion Rubber bumper
Basic style, Axial foot style, Rod side flange style,
Mounting Head side er‘\nge stylg, Rod side trulnnion style,
Head side trunnion style, Clevis style
(Used for changing the port location by 90°.)
Accessory
q Axial |Rod side|Head side|Rod side| Head side ;
Mounting Bsfslg: foot | flange | flange |trunnion | trunnion Cslf‘ﬂ:
Y style | style | style | style | style Y
Standard | Rod end nut [ ] [ ] [ ] [ ] [ ] [ J [ J
] Clevis pin — — — — — — [ J
Single knuckle joint [ J [ J [ J [ J [} [} [}
Option Double knuckle joint Py ° Py ° Y °
(With pin)
Pivot bracket — — — — [ ] [ ] [ ]

Standard Stroke

# Pin and retaining ring are shipped together with double knuckle joint.

Theoretical Output

Bore size
to [P Standard stroke (mm)
Made’| Made to Order Specifications (mm) (mm)

(For details, refer to pages 1699 to 1818.) 20 25 50.75.100.125
Symbol Specifications 25, 32, 40 25,50,75,100,125,150,200
-XC6 | Piston rod and rod end nut made of stainless steel Note 1) Manufacture of intermediate strokes at 1 mm
-XC20 | Head cover axial port intervals is possible. (Spacers are not used.)

Refer to pages 363 to 368 for cylinders with
auto switches.

« Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

| A Precautions

-y
1 Be sure to read before handling. 1
1 Refer to front matter 57 for Safety In-1
1 structions and pages 3 to 12 for Actu- I
I ator and Auto Switch Precautions. 1

330

Mounting Bracket Part No.

Refer to page 1826 (Theoretical
Output Table 2).

Spring Reaction Force

Refer to page 1822 (Table (3) Spring
Reaction Force).

g Min. Bore size (mm) o
Mounting bracket | ;\ ey = = & 0 Description
Note)|
. Foot x 2,
Axial foot CG-L020 | CG-L025 | CG-L032 | CG-L040 Mounting bolt x 8
_ ~ _ ~ Flange x 1,
Flange 1 | CG-F020 | CG-F025 | CG-F032 | CG-F040 Mounting bolt x 4
Trunnion pin x 2,
Trunnion pin 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | Trunnion bolt x 2,
Flat washer x 2
Clevis x 1,
Clevis 1 | CG-D020 | CG-D025 | CG-D032 | CG-D040 | Mounting bolt x 4,
Clevis pin x 1, Retaining ring x 2
Pivot bracket 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | Pivot bracket x 1

Note) Order two foot brackets per cylinder.




Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CG1

Weight (kg)
Spring return Spring extend
Bore size (mm) 20 25 32 40 Bore size (mm) 20 25 32 40
25 stroke 0.17 0.27 0.40 0.63 25 stroke 0.16 0.25 0.38 0.59
50 stroke 0.19 0.30 0.45 0.71 50 stroke 0.18 0.28 0.43 0.67
. 75 stroke 0.26 0.40 0.58 0.91 75 stroke 0.24 0.37 0.54 0.83
Basic Basic
weight 100 stroke 0.28 0.43 0.62 0.99 weight 100 stroke 0.26 0.40 0.58 0.91
125 stroke 0.35 0.53 0.76 1.20 125 stroke 0.32 0.48 0.69 1.08
150 stroke — 0.56 0.81 1.28 150 stroke — 0.50 0.72 1.12
200 stroke — 0.69 0.98 1.56 200 stroke — 0.63 0.89 1.40
Axial foot style 0.11 0.13 0.16 0.22 Axial foot style 0.11 0.13 0.16 0.22
Mounting | Fjange style 0.08 | 010 | 014 | 0.20 Mounting | Fjange style 0.08 | 010 | 0.14 | 0.20
bracket bracket
weight Trunnion style 0.01 0.02 0.03 0.05 weight Trunnion style 0.01 0.02 0.03 0.05
Clevis style 0.05 0.08 0.15 0.23 Clevis style 0.05 0.08 0.15 0.23
Pivot bracket 0.08 0.09 0.17 0.25 Pivot bracket 0.08 0.09 0.17 0.25
Accessory [ T Accessory [ T
bracket Single knuckle joint 0.05 0.09 0.09 0.10 bracket Single knuckle joint 0.05 0.09 0.09 0.10
Double knuckle (With pin) | 0.05 0.09 0.09 0.13 Double knuckle (With pin) | 0.05 0.09 0.09 0.13

Calculation: (Example) CG1LN20-100S (Foot style, 20, 100 st)
* Mounting bracket weight---0.11 kg (Foot)
0.28 + 0.11 =0.39 kg

* Basic weight:--0.28 kg (920)

Construction

Single acting,
Spring return

Single acting,
Spring extend

Component Parts

Calculation: (Example) CG1LN20-100T (Foot style, 820, 100 st)

* Basic weight---

0.26 kg (220)

\Il/

Hﬂml

Replacement Parts/Seal

* Mounting bracket weight---0.11 kg (Foot)
0.26 +0.11 =0.37 kg

Al N

No. Description Material Note

1 | Rod cover Aluminum alloy | Clear hard anodized ¢ For single acting, spring return

2 Tube cover Aluminum alloy Clear hard anodized - P Part no.

" No.| Description |Material

3 Piston Aluminum alloy Chromated 20 ‘ 25 ‘ 32 ‘ 40
4 Piston rod Carbon steel * | Hard chrome plated * 18 | Pistonseal | NBR | KB01599 ‘ KB01601 ‘ KB01602 ‘ KB01603
5 Bushing Bearing alloy + Since the seal kit does not include a grease pack, order it separately.
6 Bumper A Urethane Grease pack part no.: GR-S-010 (10 g)

7 | BumperB Urethane oFor single acting, spring extend

8 Retaining ring Stainless steel Replacement parts/Seal kits are the same as standard type, double
9 Wear ring Resin Zinc chromated acting, single rod (with rubber bumper). Refer to page 311.

10 | Rod end nut Rolled steel Note) Refer to the Specific Product Precautions on page 310 for

11 | Piston gasket NBR Zinc chromated Disassembly/Replacement.

12 | Return spring Steel wire Chromated

13 | Spring guide Aluminum alloy Chromated

14 | Spring seat

Aluminum alloy

15 | Element Qili sintered alloy
16 | F ring Copper wire

17 | Rod seal NBR

18 | Piston seal NBR

19 | Tube gasket NBR

Note) In the case of cylinders with auto switches, rubber magnets are

installed in the piston.

+ The material is stainless steel on auto switch equipped styles 20 and

225.

331

o
G
pry

(x]
C—
-}

Ne
N

5
e
N

)
~N
=
S

oo
==
™|~

B

N O
@D
w

N
N

(x)
>
N

[ BIN¥]
(7 BIN "]
N || =

XO

Technical
data

Ik



Series CG1

Basic Style

Spring return: CG1BN

GA Element installation RcP GB
Width
MM _H:_ .cross |
flats B1
T o \ i o I
- ? ] S |
5| G © ©d 4
of L N U . A =
‘-‘
AL T \
AT K| F|[TA] \4xTC TB
C o1 8xdJ S + Stroke F
NA ZZ + Stroke
Spring extend: CG1BN
GA RcP GB
=20
Width i i
MM ‘H aoroan Element installation
flats B1
9 X / i = il s
J oo
R 7| 7|
) r A% [\ o,
AL |
CATK Fl7al \axte 8
L H + Stroke S + Stroke F
ZZ + 2 Stroke
(mm)
Bore size Sirokerangel 5 | o | B1 | ¢ | D | E | F |GA|GB | H | Hi | 1 J K | KA MM NA | P
(mm) (mm)
20 |Upto125] 18 [ 155 | 13 | 14 | 8 12 | 2 12 | 10 | 35 | 5 | 26 [M4x07deph7| 5 6 M8x125 | 24 | 18
25 |Upto200] 22 [ 195 | 17 [ 165 | 10 | 14 | 2 12 | 10 | 40 | 6 | 31 [M5x08deph75| 55 | 8 | Miox125 | 29 | 18
32  |Upto200] 22 [ 195 17 | 20 | 12 | 18 | 2 12 | 10 | 40 | 6 | 38 [M5x08depth8| 55 | 10 | M10x125 | 355 | 1/8
40  [Upto200] 30 | 27 | 19 | 26 | 16 | 25 | 2 13 | 10 | 50 | 8 | 47 |Mexidephi2| 6 | 14 | Mi4x15 | 44 | 18
Bore size 1to50st | 51to 100st | 101 to 125st | 126 to 200st
TA | TB T
(mm) ¢ S |zz| s |zz| s |2z | s |2z
20 1| 11 M5x08 94 | 131 [ 119 [ 156 | 144 | 181 | — | —
25 1| 1 M6x075 | 94 | 136 | 119 | 161 | 144 | 186 | 169 | 211
32 11 | 10 M8x1.0 9 | 138 | 121 | 163 | 146 | 188 | 171 | 213
40 12 | 10 | M10x125 | 103 | 155 | 128 | 180 | 153 | 205 | 178 | 230
. . Note) The drawing below shows the single acting/spring return style.
With Mountlng Bracket ( The rod is in retracted state for spring extend type. )
Axial foot style: CG1LN Axial Foot Style (mm)
Bore sizg Stroke
range [ B [ M [LC|LD|LH|LT|LX|LZ| W Y |z
(mm) | (mm)
20 [Upto125| 34 | 3 | 4 | 6 [20] 3 [32 |44 [10][15]| 7 [47
25 [Upto200(385(35| 4 | 6 |22 | 3 [36 |49 [10][15]| 7 |52
32 |Upto200[ 45 35| 4 | 7 | 25| 3 [44[58[ 10| 16| 8 |53
1Z{_ Ej I 40 |Upto200[545] 4 | 4 | 7 |30 | 3 | 54 | 71 | 10 |165] 85 |635
o T ) H Bore size | 1 to 50st | 5110 100st | 101 to 125st| 126 to 200t
L B S - (mm) |LS|ZZ|LS|2Z|LS|2Z |LS|ZZ
I wi vaLc(Knockpmposnion)‘ W, 20 70 [135| 95 | 160|120 | 185 | — | —
4x0LD X ﬁx X LS + Stroke . M 25 70 |1405] 95 1655 120 [1905 | 145 | 2155
Lz _— 22 + Stroke 32 70 |1425| 95 |1675] 120 | 1925 145 [ 2175
40 76 | 160 | 101 ] 185 | 126 [ 210 [ 151 | 235

332

= Other dimensions are the same as basic style.



Air Cylinder: Standard Type .
Single Acting, Spring Return/Extend Series CG 1

With Mounting Bracket

Rod side flange style: CG1FN (mm)
Bore size | Stroke range
(mm) fim) B | E| F |FX|FD|FT|H
20 Upto125 | 40 12 2 28 | 55 6 35
— 25 Upto200 | 44 14 2 32 | 55 7 40
y 32 Up to 200 53 18 2 38 | 66 7 40 cJ1
40 Up to 200 61 25 2 46 | 66 8 50
+ End boss is machined on the flange for oE.
+ Other dimensions are the same as basic style. CJP
Rod Side Flange Style (mm) cJ2
Bore size 2z -Z
(mm) |1 to 50st | 51to 100st | 101 to 125st | 1260 200st
20 131 156 181 — CJ2
25 136 161 186 211
32 138 163 188 213 CZMZ
40 155 180 205 230 -
_ M s Head Side Flange Style (mm) Cm2
i od)
ESE l u‘_,J Bore size zz
[ mm) |1 to 50st] 51 to 100st [ 101 to 125st] 12610 200st CcM3
20 137 162 187 —
25 143 168 193 218 CG1
H \T 3 32 145 170 195 220 Z
2z +Stroke - 40 163 188 213 238 m
(mm)
i i . i MB
Rod side trunnion style: CG1UN Boresizel Stioke | o | ool e | v | 1| R TS| T | Tv [TW| X | T¥| 12 |!
Bracket (mm) |range (mm) z
mounting ¥ 20 |Upto125)38 |8 % (10 |5.5]| 25|39 | 28 |3.2|(38)] 42 | 16 | 28 |476
25 |Upto200[455[10 3% |10 | 5.5] 30 | 43 | 33 |3.2|(398)] 42 | 20 | 28 | 53 MB
32 Up to 200 | 54 |12 ~35% | 10 | 6.6| 35 |54.5| 40 | 4.5 |(494)| 48 | 22 | 28 |67.7
40 | Upto200 63514 =3 [ 10 | 6.6] 40 [65.5] 49 | 4.5 ]84 56 30 [ 30 [787 |[VIB1
Rod Side Trunnion Style (mm) CA2
Boresize | 2z -Z
. mm, 1 to 50st | 510 100st | 101 to 125st | 126 to 200st
J 20 46 | 131 156 181 — CA2
n 27+ Stroke 25 51 136 161 186 211
32 51 138 163 188 213 CS1
40 62 | 155 180 205 230
. . . * Consists of pin, flat washer and hexagon socket head cap bolt. 2
Head side trunnion Style- CG1TN + Other dimensions are the same as basic style. cs
Bracket . .
. mounting Head Side Trunnion Style (mm)
B[ T 7 Bore size [ 10 50st] 51 to 100st [ 101 to 125st] 126 t0 2005t
=5 \ (mm) [ zlzz|zlzz|z]zz|z |zz
= |
<& | TF 20 118 |139 | 143 [164 168 [189 | — | —
« (RIS 1}7/
&t in 'm* 25 123 |144 | 148 [169 [173 [194 |198 | 219
e~ "F‘I 32 126 150 | 151|175 [176 | 200 | 201 | 225
F A 40 143 [171 | 168|196 193 | 221 | 218 | 246
; o o e - -
N [ * Consists of pin, flat washer and hexagon socket head cap bolt.
L-'rrw_—r hrd 4xoTF * Other dimensions are the same as basic style.
Z + Stroke v STE+0I0 .
ZZ + Stroke 0 Clevis Style (mm)
Bore size| Stroke
(mm) | range (mm) B |CD|CZ| L |[RR|TE|TF |TH|TT | TV
. 20 Upto125] 38 | 8 | 29 | 14 [ 11 | 10 | 55| 25 [ 32 [@358)
Clevis style: CG1DN 25 Upto200 [455| 10 | 33 | 16 | 13 | 10 | 55 | 30 | 3.2 [(308)
0CD hole H10 32 Upto200 | 54 | 12 | 40 | 20 | 15 [ 10 [ 6.6 | 35 | 4.5 |(49.9)
L"‘E‘ng axd 40 Upt0o200 |63.5| 14 | 49 | 22 | 18 | 10 | 6.6 | 40 | 4.5 |(584)
C=01_ T,
% Bore size 1 to 50st | 51to 100st | 101 to 125st | 126 to 200st
y %4 J@E)@‘ mm) |TW|TX|TY 12722z 2z [2z| 2z [2z]| z |2z
& i } VF(( s [ i 20 42 | 16 | 28 |43.4[143 [164 | 168 [ 189 [193 [214 | — | —
e © ﬁ.l E“’ 25 42 | 20 | 28 | 48 [150 [ 171 [175 | 196 | 200 | 221 | 225 | 246
/ \ | =) 32 48 | 22 | 28 |59.4(156 | 180 |181 | 205 | 206 | 230 | 231 | 255 D-O0
I L_W_j— ) i 40 56 | 30 | 30 [71.4]175 [ 200 | 200 | 228 | 225 | 253 | 250 | 278
L Lﬁ\ — - X1
Z + Stroke - T1zv Notetdo  * For dimensions of pivot bracket, refer to page 321. =
ZZrStroke 16 N=2- .« Other dimensions are the same as basic style.
Technical
(The above shows the case port location is changed by 90°.) data

333



Air Cylinder: Non-rotating Rod Type
Double Acting

Series CGTK

220, 925, 932, 340, 50, 063

How to Order

] CG1K|L||N||25|-|100|-|

With auto switch f &1 0 €3 K| L||N||25|—|100|—|M9BW| -[C-

With auto switch
(Built-in magnet)

Double acting: non-rotating rod type

Mounting style &¥——

B Basic style

L Axial foot style Type

F | Rod side flange style Rubber bumper

G | Head side flange style Air cushion

U | Rod side trunnion style (240 to 863 only)

T |Head side trunnion style

D Clevis style i
Note) Mounting brackets are shipped Bore size

together, (but not assembled). 20 | 20 mm

Built-in Magnet Cylinder Model 2511 25 mm
If a buil_t-in ma_gnet cylind_er without an auto is iz ::
switch is required, there is no need to enter
the symbol for the auto switch. S0l| 50 mm Cylinder stro
(Example) CDG1KFA32-100 63 | 63mm

Number of
auto switches

Nil
S
n

2 pes.
1 pc.

“n” pcs.

Auto switch
[ Nit | withoutauto switch |

* For the applicable auto switch
model, refer to the table below.

Auto switch mounting bracket Note)
Note) This symbol is indicated when the D-A9C]
or M9 type auto switch is specified.

This mounting bracket does not apply to
other auto switches (D-C70 and H70,

etc.) (Nil
)N Made to Order ¢
Refer to page 335 for details.

ke (mm

Refer to “Standard Stroke” on page 335.

Applicable Auto Switches/Refer to pages 1559 to1673 for further information on auto switches.

=) Load voltage Auto switch model | Lead wire length (m)
. . Electrical | 5|  Wiring Applicable bore size Pre-wired "
[Type| Special function entry g (Output) bC AC rz20 10063 (?\jﬁ) ('\1,” (IE) (g) I\t(l)\?)e connector | Applicable load
S
£ F In-line
3-wire (NPN) 5V 12V M9INV M9N ® e O —| O IC
5 Grommet 3-wire (PNP) | M9PV M9P ® /e O—| O circuit
.§ >-wire 12v M9BV M9B ® ® 0O — O _
@ Connector — H7C e — 000 —
) -
2 3-wire (NPN) MONWV | MNW (@ (@ @ O|—| O Ic
£ L Ic.
£ | eanosto deaton B[awieerp)| 26v [°V Y| [‘moPWV | MoPW | @ [@|@[O[—| O | cicut| "o
k] 2-wire 12V MOBWV | M9BW @ (@ @ O —| O —
3 i Grommet 3-wire (NPN) MIONAV*| MONA** | O O | @|O|—| O IC
2| ) 3-wire (PNP) sv.1zv MOPAV™| M9PA™* | O |O| @O |—| O | circu
@ 2-wire 12V M9BAV**| M9BA** | O |O |@|O|—| O —
Diagnostc ouiput (2-color indication) 4-wire (NPN) 5V,12V H7/NF | @ |—|®@|O|—| O |ICacircuit
3-wire IC
c |(Equtonen)| — 5V - Ag6V A% (@ — @ — — circuit | —
g rommet | 100V | A9V | A93 (@ |—|e|e[—| — | —
g [None] 100 Vorless |  A90V A90 ® |—|® | —|—| — |(Ccircui
2 Yes 100V, 200V = B54 | @ |— ® /@ —| —
3 = fl
_g Noe|  2-wire 2av | 12V 200 V or less — B64 e —\0—|— — — Rsll_%"
2 G tor LB — — C73C (& | — 000 —
o ONNEcIOr ond 24V or less — CceoC | @ |— ® @ @& — |(Coicut
Diagnosic ndcation (2<olorindceton) | Grommet | Yes — — — Bsw (@ |— | @ —|—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

MINW
MINWM
MINWL
MINWZ
H7CN

ample;

* Lead wire length symbols: 0.5 m -
im ample

ampl

ample;

ampl

+ Solid state auto switches marked with “O”

* Since there are other applicable auto switches than listed, refer to page 368 for details.
* For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
* D-A90I0/M9IOIO auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

334

are produced upon receipt of order.




Air Cylinder: Non-rotating Rod Type
Double Acting

Specifications

Series CG1K

Bore size (mm)

Action Double acting, Single rod
Lubricaut Not required (Non-lube)
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Without auto switch: —10 to 70°C (No freezing)

[xHIKx]
€= || C=
0 || =

and fluid

With auto switch: —10 to 60°C (No freezing)

Piston speed

50 to 500 mm/s

Ng
N

Stroke length tolerance

Up to 600°%"“mm

o
G
N

Cushion Rubber bumper, Air cushion (240 to 263 only)
Symbol Rod non-rotating accuracy +1° +0.8° ‘ +0.5° CZMZ
Basic style, Axial foot style, Rod side flange style,
Rubber bumper Mounti Head side flange style, Rod side trunnion style, cMZ
ounting Head side trunnion style, Clevis style
(Used for changing the port location by 90°.) CM3
Accessory
Air cushion : Axial |Rod side|Head side|Rod side|Head side| ;
Mounting stllc foot flange | flange |trunnion |trunnion Clte\llls CG1
style style style style style style sy
Standard | Rod end nut [ ] [ ] [ ] [ ] [ ] [ ] [ ] CG3
equipment| Gjeyis pin — — — — — — [
Single knuckle joint [J [J [J [J [J [J ® Nle
i Double knuckle joint *
Option (With pin) [ ] [ ] [ J [ J MB
Pivot bracket — — — — [ J [ J o
Made to Order SPecifications * Pin and retaining ring are shipped together with double knuckle joint. MB1
(For details, refer to pages 1675 to 1818.) CA2
-Z
Symbol Specifications Standard Stroke
-XAO | Change of rod end shape Bore size (mm) Standard stroke (mm) () Long stroke (mm) CA2
-XC8 | Adjustable stroke cylinder/Adjustable extension type*! 20 25,50, 75, 100, 125, 150, 200 _
-XC9 | Adjustable stroke cylinder/Adjustable retraction type *! 25 — cs1
-XC10 | Dual stroke cylinder/Double rod type *! 32 —
-XC11 | Dual stroke cylinder/Single rod type*' 25, 50, 75, 100, 125, 150, 200, 250, 300 CcS2
-XC12 | Tandem type cylinder*! 40 301 to 500
-XC13 | Auto switch rail mounting style ! 50, 63 301 to 600
-XC20 | Head cover axial port*' Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
- » n » Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or the long
+1 Compatible with cylinders with a rubber stroke limit are not guaranteed.
bumper only.

Refer to pages 363 to 368 for cylinders with
auto switches.

« Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

XO

Technical
data

Sk

335



Series CG1K

Weight (kg)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63
- Basic style 0.100.17 | 0.26 | 0.41 | 0.77 | 1.07
_'QE'; Axial foot style 0.21(0.30 (0.42]0.63|1.25|1.79
E Flange style 0.18(0.27 |0.40|0.61|1.11|1.57
§ Trunnion style 0.11{0.19(0.29|0.46 | 0.91 | 1.21
Clevis style 0.15(0.25(0.41|0.64|1.17|1.75
Pivot bracket 0.080.09 |0.17 | 0.25 | 0.44 | 0.80
Single knuckle joint 0.050.09 0.09]0.10|0.22 | 0.22
Double knuckle joint (With pin) 0.050.09 |0.09|0.13/0.26 | 0.26
Additional weight per each 50 mm of stroke | 0.05 | 0.07 | 0.09 | 0.15|0.22 | 0.26
Additional weight with air cushion | — | — | — ]0.020.03|0.03
Additional weight for long stroke — | — | — [0.03/0.06|0.10
Calculation: (Example) CG1KLN20-100 © Basic weight--- .21 (Foot, 020)
(Foot style, 20, 100 st) * Additional weight .05/50 st
« Cylinder stroke--- 00 st

0.21 + 0.05 x 100/50 = 0.31 kg

Mounting Bracket Part No.

Mounting Min. Bore size (mm) D it
bracket order 20 25 32 40 50 63 escription
Axial foot "5 CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 CG-L063 Foot x 2,
xiatioo 2 Mounting bolt x 8

Flange x 1,

Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 CG-F063 Mounting bolt x 4
Trunnion pin x 2,

Trunnion pin 1 CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-T063 Trunnion bolt x 2,
Flat washer x 2
Clevis x 1,

Clevis 1 CG-D020 CG-D025 CG-D032 CG-D040 CG-D050 CG-D063 Mounting boltx 4,
Clevis pin x 1, Retaining ring x 2

Pivotbracket | 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | Pivot bracket x 1

Note) Order two foot brackets per cylinder.

336




Construction

With rubber bumper

With air cushion

Component Parts

Air Cylinder: Non-rotating Rod Type
Double Acting

Ci;)@ 18

) @ (5%@i 1
i

Long stroke

Replacement Parts/Seal Kit

Series CG1K

o
G
p=ry

(x]
C—
-}

Ng
N

8
e
N

)
~N
=
]

ollo
==
@ |~

B

No. Description Material Note « For rubber bumper CG3
1 | Rod cover Aluminum alloy Clear hard anodized Bore size (mm) Kit no. Contents
i i 20 CG1N20-PS mB
2 | Tube cover Aluminum alloy Clear hard anodized
3 Piston Aluminum allo; Chromated. Hard anodized (In case of air cushion) 25 CGINg5-PS | Setof the -z
: y : 32 CG1N32-PS |n0s-@,®, MB
4 | Piston rod Carbon steel Hard chrome plated 40 CG1N40-PS
5 Non-rotating guide Bearing alloy «For air cushion
6 | Bumper Urethane Bore size (mm) Kit no Contents MB1
7 | Wearring Resin Set of the Az
8 | Rodend nut Rolled steel Zinc chromated 40 CG1KA40-PS |nos. @), @), ®, 3
9 Seal retainer Rolled steel Nickel plated (Except long stroke) ®
10 | Cushion valve Rolled steel Electroless nickel plated Note) Refer;c: éhfe Sgeciﬁc P“;‘Iﬂ;g PTecautions on |CA2
" - page for Disassembly/Replacement.
11 | Valve retainer Rolled steel Electroless nickel plated Order with a part number for each type and
12 | Lock nut Carbon steel Nickel plated bore size. CS1
13 | Cushion seal NBR = The seal kit includes a grease pack (10 g). Order
14 | Cushion seal holder Aluminum alloy with the following part number when only the csz
15 | Head cover N ¢l N grease pack is needed.
Aluminum alloy lear hard anodized Grease pack part no.: GR-S-010 (10 g)
16 | Cylinder tube Aluminum alloy Hard anodized
17 | Rod seal NBR
18 | Piston seal NBR
19 | Tube gasket NBR
20 | Valve seal NBR
21 | Valve retaining gasket NBR

Note) In the case of cylinders with auto switches, rubber magnets are installed in the piston.
# The material is stainless steel for 620 to 632.

337

XO

Technical
data

Sk



Series CG1K

Basic Style
With rubber bumper: CG1KBN

GA 2 x RcP GB
020 to 063 -~
MM H,  Width
T* across
flats B1
Tl
i ] s !
i 4] 0 -
o el 1 >/ u;
[
Y
AL \
A F[[TA| \4xTC TB
8xdJ H S + Stroke F
ZZ + Stroke
With air cushion: CG1KBA
040 to 063
8xdJ 10 We MM WA 2xP WB
width __H1 GA GB
across
flats B1 -
2t w
‘ it ~ d
_ S 3 ]
o i = ; S E— -
w ey &ﬁg |\
AL ‘
A ‘ ‘
F||TA 4xTC TB | F
H S + Stroke
ZZ + Stroke
Bore size |Strok
‘z:ﬁ;')ze “}m”ge A|AL|B1|C|D|E|F|GA| GB |H [H1| I J KA| MM |NA|P| s |[TA|TB| TC 2z
20 | Upto200 [18155]13 |14]92]12] 2 [12] 10 [35| 5 [26|M4x0.7depth7| 8 | MBx1.25 [24[1/8] 69 [11] 11 | M5x08 | 106
25 | Upto300 2219517 [165[11[14] 2 [12] 10 [40] 6 [31[M5x08depth7.5[ 10| M10x1.25 [29[1/8] 69 [11] 11 | M6x075 [ 111
32 | Upto300 [22]195]17|20[12[18] 2 [12] 10 40| 6 |38 |M5x0.8depth8 |10 | M10x1.25 [%5[1/8] 71 [11] 10 | M8x1.0 | 113
40 Upto300(500) 30 |27 [ 19|26 [ 16 25| 2 [13[10(13)[50 | 8 [47 | M6 x1depth 12 | 14 | M14x1.5 | 44 [1/8] 78 (87) [ 12 [10(12)] M10x1.25 | 130(139)
50  |Upto300(600)[ 35|32 |27 |32 2030 | 2 |14 [12(14)| 58 | 11 | 58 |M8x1.25depth 16| 18 | M18x 1.5 | 55 [ 1/4]90 (102) [ 13 [12(13)| M12x1.25 | 150 (162)
63 |Upto300(600) 35 |32 |27 |38 2032 | 2 [ 14 [12(14)| 58 | 11 [ 72 [M10x1.5depth 16] 18 | M18x 1.5 | 69 [1/4]90 (102) [ 13 [12(13)| M14x15 | 150(162)

Note 1) Dimensions for each mounting bracket are the same as those for CG1 standard or long stroke model. Refer to pages 313 to 318.
Note 2) ( ): Denotes the dimensions for long stroke.

With Air Cushion

Bore size
(mm) P WA| WB |WH|W§
40 Rc'/s |16 [15(16) [ 33 [20°
50 Rc 'y 18 | 17 (18) |40.5| 20°
63 Rc 'y 18 |17 (18) |47.5]| 20°

Note) (): Denotes the dimensions for long stroke.

| A\ Precautions |

e e e e e e e e e e e e e e e mEE e e mm e ——————————m

Be sure to read be-fore h;ndling. 1
L Refer to front matter 57 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions.

———md
\ Caution on Handling/Disassembly \
ACaution Tighten it by giving consideration to prevent the tlghtenlng torque
1. Avoid using the air cylinder in such a way that rotational from being applied to the non-rotating guide.

torque would be applied to the piston rod.

« If rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy. Refer to the table
below for the approximate values of the allowable range of rotational

torque.
Allowable rotational 1orque‘ 020 | 025,032 | 040,050,063 |
(Nmorless) | 02 | o025 | 0.44 | 2. When replacing rod seals, please contact SMC.
« To screw a bracket or a nut onto the piston rod, make sure to Air leakage may be happened, depending on the position in
retract the piston rod entirely, and place a wrench over the which a rod seal is fitted. Thus, please contact SMC when
flat portion of the rod that protrudes. replacing them.

338



Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

Series CGT1KW

220, 025, 632, 40, 350, 263

How to Order

BN coikwDN

-

 With auto switch | CDG1KW N

N [25|-[100/-[M9BW|

With auto switch
(Built-in magnet)

Non-rotating rod type
Double acting, double rod type

Mounting style

B Basic style
L Axial foot style Type
F Flange style N Rubber bumper
U Trunnion style
Note) Mounting brackets are shipped Bore size
together, (but not assembled).
20 | 20 mm
Built-in Magnet Cylinder Model 25 | 25 mm
If a built-in magnet cylinder without an auto 32 | 32mm
switch is required, there is no need to enter 40 | 40 mm
the symbol for the auto switch. 50 | 50 mm
(Example) CDG1KWFN32-100 63 | 63 mm

Number of
auto switches

Nil
S 1 pc.

n n” pcs.

2 pcs.

Auto switch
‘ Nil ‘ Without auto switch

= For the applicable auto switch
model, refer to the table below.

Cylinder stroke (mm)
Refer to “Standard Stroke” on page 340.

Auto switch mounting bracket Note)

Note) This symbol is indicated when the

D-A90 or M9 type auto switch is

specified. This mounting bracket does

not apply to other auto switches
(D-C70 and H70, etc.) (Nil)

Applicable Auto Switches/Refer to pagse 1559 to 1673 for further information on auto switches.

£ Load voltage Auto switch model | Lead wire length (m)
. . Electrical | = Wiring Applicable bore size Pre-wired .
T £ -
ype| Special function entry || (Output) e AC 220 10 263 (?\]ﬁ) “\1,” (E) é) l\m)e comector | APPplicable load
2 Perpendicular|  In-line
3-wire (NPN) 5V 12V MINV M9N [ ] ®O0|—| O IC
5 Grommet 3-wire (PNP) ’ M9PV M9P [ ] @ O|—| O |circuit
= O — C
3 o-ire 2V M9BV M9B [ ] ® O O _
® Connector — H7C [ ] ® 00 —
o -
= 3-wire (NPN) MONWV | MONW | @ ® O|—| O Ic
E] ! !
s D(‘ggcl‘iz‘r'fn‘(’j‘l‘é:;’g:)" 8[awire (PNP)| 24V sv.eve M9PWV | MOPW | @ Ol=[ O 1 circuit RF?,I_aC)"
] 2-wire 12V M9BWV | M9BW | @ ® O|—| O —
] i Grommet 3-wire (NPN) MONAV**| MONA** | O ® O|—| O Ic
| ) 3-wire (PNP) V.12V MOPAV**| MOPA™* | O | O |@|O|—| O | ciruit
2] 2-wire 12V M9BAV**| M9BA** | O ®O0|—| O —
Diagnostic output (2-color indcation) 4-wire (NPN) 5V,12V H7NF [ ] ® O|—| O |ICciruit
3-wire — =] = IC —
- E (Equiv. o NPN)|  — 5V — A96V A96 [ ] [ ] cirouit
.§ rommet - 100V | A93V A3 (@ | —|@e(@®[—| — | —
g [None 100 Vorless| A90V A90 ® |—|®|—|—| — |ICacirouit
=1 Yes 100V, 200 V. — B54 o —10 0 —| —
= —
S None|  2-wire 2av | "V [200Vortess — B64 [] e —|— — — R;fgl’
3 Connector 2| — — CrsC | @ |—10, 00 —
o« Nong 24V or less = C8C @ |— ® @® ® — (Cocircu
Diagnosti ndication (2cobrindcafin) | Grommett | Yes — — — B59W o~ —\—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
# Solid state auto switches marked with “O” are produced upon receipt of order.

MINW
MINWM
MINWL
MONWZ
H7CN

= Lead wire length symbols: 0.5 m

= Since there are other applicable auto switches than listed, refer to page 368 for details.
= For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
* D-A900/M90I0N auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

339

o
G
p=ry

(x]
C—
o

Ng
N

8
e
N

o
=
s

~

[=)
=
~

[=)
=
@

g

NS

i
D =
-

@D
w

=
o
—r

o
=
N

v
N

(x]
>
N

(5]
(7]
-

(3]
n
N

X

O

Technical
data

Sk



Series CGT1KW

Symbol
Rubber bumper

Refer to pages 363 to 368 for cylinders with
auto switches.

* Minimum auto switch mounting stroke

* Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

340

Specifications

Bore size (mm)

20 | 25 | 32 [ 4 | s0 [ es

Action Double acting, Double rod
Lubricant Not required (Non-lube)
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.08 MPa

Without auto switch: —10 to 70°C (No freezing)

t and fluid

With auto switch: =10 to 60°C (No freezing)

Piston speed

50 to 500 mm/s

Stroke length tolerance

S 14

Upto 600 o mm

Cushion

Rubber bumper

Rod non-rotating accuracy

e | 08 | 105°

Basic style, Axial foot style, Flange style,

Mountin
ou 9 Trunnion style
Accessory
g Basic Axial Flange | Trunnion
it style foot style style style

Standard+ | Rod end nut ° ° ° °
Single knuckle joint [ J [ J [} [ ]

Option Double knuckle joint (With pin) * [ ] [ ] [ ] [ ]
Pivot bracket — — [ ]

* Pin and retaining ring are shipped together with double knuckle joint.

Standard Stroke

Bore size (mm) Standard stroke (mm) () Long stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 —
25 —
32 25,50, 75, 100, 125, 150, 200, -
40 250, 300 301 to 500
50, 63 301 to 600

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or
the long stroke limit are not guaranteed.




Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

Weight (kg)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63

% Basic style 0.13|0.22|0.33 | 0.55 | 1.02 | 1.37

g Axial foot style 0.24 | 0.35 | 0.49 | 0.77 | 1.50 | 2.09

2 Flange style 0.210.32| 047 |0.75 | 1.36 | 1.87

& Trunnion style 0.14|0.24 | 0.36 | 0.60 | 1.16 | 1.51
Pivot bracket 0.08 | 0.09|0.17 | 0.25 | 0.44 | 0.80
Single knuckle joint 0.050.09|0.09 | 0.10 | 0.22 | 0.22
Double knuckle joint (With pin) 0.05|0.09 | 0.09 | 0.13 | 0.26 | 0.26
Additional weight per each 50 mm of stroke | 0.07 | 0.10 | 0.13 ] 0.23 | 0.34 | 0.38

Calculation: (Example) CG1KWLN32-100 (Foot style, 32, 100s!)

« Basic weight:--
* Additional weight

0.13/50 st

0.49 (Foot, 832) e« Cylinder stroke-

0.49 +0.13 x 100/50 = 0.75 kg

Mounting Bracket Part No.

Series CGT1KW

o
G
p=ry

(x]
C—
o

Ng
N

8
e
N

* The material is stainless steel for 820 to ©32.
=+ The material is stainless steel on auto switch equipped style 820 and 225.
«+ A magnet is equipped on the piston of the cylinder with auto switch.

341

Mounting Min. Bore size (mm) Description E;ZMZ
bracket _|order 20 25 32 a0 50 63 P
. Note) ' ' g . " . Foot x 2, cM2
Axial foot 2 CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 CG-L063 Mounting bolt x 8
Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 CG-F063 ﬂg[}ggn’;‘soh x4 ‘CM3
. . Trunnion pin x 2,
Trunnionpin | 1 | CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-TOB3 | Trynnion bolt x 2, Flat washer x 2 CZG1
Pivotbracket | 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | Pivot bracket x 1 m
Note) Order two foot brackets per a cylinder.
Construction IVZIB
———— -
)\ T\ % \ r o
=y — L 5
¥
I T — CA2
=%/ &~ l I
220 to 232
Component Parts Replacement Parts: Seal Kit
No. Description Material Note Bore size (mm) Kit no. Contents
1 Rod cover A Aluminum alloy Clear hard anodized :g gg:KWNZO'P: Set of the
2 Rod cover B Aluminum alloy Clear hard anodized 32 CG&amgg-gS nos. @, @), @,
3 Cylinder tube Aluminum alloy Hard anodized 20 CGIKWN40-PS
2 " "
Piston Aluminum a”",y Chromated - Note) Refer to the Specific Product Precautions on
5 Piston rod A Carbon steel * Hard chrome plated * page 310 for Disassembly/Replacement.
6 Piston rod B Carbon steel ** Hard chrome plated ** Order with a part number for each type and
7 | Non-rotating guide | Copper oi-impregnated sintered alloy bore s‘iz‘e.
8 | Bushing Copper oil-impregnated sintered alloy 240 or more: Copper alloy * The seal kit includes a grease pack (10 g). Order
Ureth with the following part number when only the
9 | Bumper rethane grease pack is needed.
10 | Rod end nut Rolled steel Grease pack part no.: GR-S-010 (10 g)
1 Rod seal A NBR
12 Rod seal B NBR
13 | Piston seal NBR
14 | Tube gasket NBR XI:l

Technical
data

Sk



Series CGT1KW

Basic Style with Rubber Bumper: CG1KWBN

et 81 GA  2xrep aA
MM H 2 MM
L o2
R o 52
g Y L RN N—
mEIRESEIE=PE) O
) ® 1 \ = — .==t}-l
Width across
AL flats KA AL
A 4xTC KL A
Fl| TA TA || F
H ZZ + Stroke H + Stroke
S + Stroke

Bo(l: r:l)ze StrO(k: r;ﬁ)mge A|AL|Bi|C |D|DK|E |F |GA|Hi| I J K |KA|KB| MM |[NA| P |S

20 Up to 200 18 |1565| 13 | 14 | 8 |92 |12 | 2 [ 12| 5 | 26 | M4x0.7depth7 5 6 8 M8x125 | 24 | 1/8 | 77

25 Upto300 | 22 |195]| 17 |165| 10 | 11 | 14 | 2 | 12 | 6 | 31 | M5x08depth75 | 55| 8 | 10 | M10x125 | 29 | 1/8 | 77

32 Upto300 |22 |195| 17 |20 |12 |12 |18 | 2 | 12| 6 | 38 | M5x08depth8 | 55| 10 | 10 | M10x1.25 |355| 1/8 | 79

40 Upto500 | 30 | 27 |19 | 26 | 16 | 16 | 25 | 2 | 13 | 8 | 47 | M6x1depth12 6 | 14 | 14 | M14x15 | 44 | 1/8 | 87

50 Upto600 | 35 |32 |27 [ 3220 |20 | 30 | 2 | 14 1| 58 |M8x1.25depth16| 7 | 18 | 18 | M18x1.5 | 55 | 1/4 | 102

63 Upto600 | 35 |32 |27 [ 38|20 |20 |32 | 2 14 | 11 | 72 | M10x1.5depth16| 7 | 18 | 18 | M18x15 | 69 | 1/4 [102
Bore size Note) Dimensions are the same as CG1W standard type.

TA TC H b4 Refer to page 328.
(mm) * Old number is CG1CINCI-[-XC21 as made-to-order.

20 1 M5 x 0.8 35 | 147

25 1 M6 x 0.75 40 | 157

32 1 M8x1.0 40 | 159

40 12 M10x1.25 | 50 | 187

50 13 M12x125 | 58 | 218

63 13 Mi14x1.5 58 | 218

| A Precautions

[ = e -
1 Be sure to read before handling. 1
L Refer to front matter 57 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions. J'
\ Caution on Handling/Disassembly
A Caution
1. Avoid using the air cylinder in such a way that Tighten it by giving consideration to prevent the tightening
rotational torque would be applied to the piston rod. torque from being applied to the non-rotating guide.
« If rotational torque is applied, the non-rotating guide will
become deformed, thus affecting the non-rotating accuracy.
Refer to the table below for the approximate values of the
allowable range of rotational torque.
Allowable rotational torque‘ 020 [ 025,032 | 040,050,063 |
(Nmorless) | 02 | o025 | 0.44 |
* To screw a bracket or a nut onto the piston rod, make sure 2.When replacing rod seals, please contact SMC.
to retract the piston rod entirely, and place a wrench over the Air leakage may be happened, depending on the position in
flat portion of the rod that protrudes. which a rod seal is fitted. Thus, please contact SMC when

replacing them.

342



Air Cylinder: Direct Mount Type

Double Acting

Series CG1R

020, 25, 032, 40, 650, 263

How to Order

I CG1R|N||25|-|100|-|

| With auto switch | CDG1R|N||25|—|100|-|MQBW|

With auto switch
(Built-in magnet)

Type
“ Rubber bumper
(Al Arcushion |

Bore size

20 | 20 mm

25 | 25 mm

Built-in Magnet Cylinder Model 32 [32mm
If a built-in magnet cylinder without an auto 40 | 40 mm
switch is required, there is no need to enter 50 | 50 mm
the symbol for the auto switch. 63 | 63 mm

(Example) CDG1RA32-100

Cylinder stroke (mm)

Refer to “Standard Stroke” on page 344.

Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

Auto switch
mounting bracket Mot
Note) This symbol is indicated
when the D-A90] or M9OI
type auto switch is speci-
fied. This mounting brack-

Auto switch

et does not apply to other
auto switches (D-C70 and

Number of H70, ete.) (Nil)
auto switches
Nil 2 pcs.
S 1 pc.

n n” pcs.

[Nt ]

Without auto switch ‘

+ For the applicable auto switch
model, refer to the table below.

Made to Order
Refer to page 344 for details.

>

o
G
p=ry

(x]
C—
o

Ng
N

8
e
N

i
D =
-

)
~N
=
]

==
@ |~

NSO
@ D
w

g

=
o
—r

N
N

=+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

= Lead wire length symbols: 0.5 m
im

(Example) MONW
(Example) MONWM

+ Solid state auto switches marked with “O” are produced upon receipt of order.

3m L MIONWL
5m Z (Example) MONWZ
None N  (Example) H7CN

= Since there are other applicable auto switches than listed, refer to page 368 for details.
= For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
= D-A900/M90I0IC] auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

343

z Load voltage Auto switch model | Lead wire length (m) CA2
: : Electrical | s Wiring Applicable bore size Pre-wired
Type| Special function entry g (Output) DC AC 220 10 063 ((l)\jﬁ) ('\1/” o (% I\:(,J\T)e connector | APPplicable load cs1
2 Pe In-line
3-wire (NPN) MINV M9N ® 00 O|— O [}
£ Grommet | [ 3-wire (PNP) sv.1zv MOPV | MoP | ® @ |@|O|—| O |ocirui CS2
3 2-wire 12V M9BV MoB ® ®®® O — O _
g Connector — H7C o — 0o/ 0 —
= | - 3-wire (NPN) MONWV | MONW | @ @ /@ O —| O Ic
3
@ | Diagnostic indication 8 [3wire (PNP)| 24V 5v,12V _ MOPWV | MOPW | @ (@ |®|O|—| O | circuit Relay,
@ | (2-color indication) > - PLC
k] 2-wire 12V MOBWV | MOBW | @ @ |@® O|—| O —
2 _ Grommet 3-wire (NPN) MINAV**| MONA** | O (O |@|O|—| O IC
2 (2\Afg|eurr:ﬁzlli§?;n) 3-wire (PNP) sv.12v M9OPAV™| MOPA™ | O O |@|O|—| O | circuit
@ 2-wire 12V M9BAV**| M9BA™ | O (O |@|O|—| O —
Diagnostic outpu (2-colorindcation) 4-wire (NPN) 5V,12V — H7NF ® | —|®@ O|—| O |[ICcircui
3-wire _ | _ IC
s E (Equiv. oNPN)|  — 5V — A96V A96 [ ] [ ] cirout | —
g Grommet || 100 v A93V A3 | @ | — @ @& —| — -
g [Nore| 100Vorless | A90V A90 ® |—|®| —|—| — |(Ccircui
< Yes 100V, 200 V B54 o —0 0 — —
3 =
g None|  2-wire 2av | 12 v 200V or less — B64 [ ] ® —|—| — — R:tacy,
$ Connector 2] — = C7sC 10 |— 10 00, —
o« INone| 24V or less — C80C | ® |— ® ® ®| — |Cacircui
orindezior) | Grommet | Yes — — — B59W (@ |— (@ |—|—| — —



Series CG1R

Specifications

Series CG1R direct mount Bore size (mm) 20 [ 25 | 32 | 40 [ 50 | 63
cylinder can be installed Action Double acting, Single rod
directly through the use of a Lubricant Not required (Non-lube)
square rod cover. Fluid Air

; ; Proof 1.5 MP.
Space-saving has been realized. TO07 pressure_ 5 MPa
Because it is a directly mounted style operating pressure 1.0 MPa
without using brackets, its overall length is Minimum operating pressure 0.05 MPa

shorter, and its installation pitch can be

made smaller. Thus, the space that is
required for installation has been
dramatically reduced.
- L
- s
('I
aﬁ = '_ g
n‘ta‘ "
Symbol
Rubber bumper
Air cushion

Made to Order Specifications
(For details, refer to pages 1675 to 1818.)

Specifications

Symbol
-XAO
-XB6
-XB7
-XB9
-XB13
-XC6
-XC8
-XC9
-XC13
-XC20
-XC22
-XC85

Change of rod end shape

Heat resistant cylinder (150°C) *1

Cold resistant cylinder*2

Low speed cylinder (10 to 50 mm/s)*3

Low speed cylinder (5 to 50 mm/s)*3

Piston rod and rod end nut made of stainless steel
Adjustable stroke cylinder/Adjustable extension type™3
Adjustable stroke cylinder/Adjustable retraction type*3
Auto switch rail mounting*3

Head cover axial port*3

Fluororubber seals

Grease for food processing equipment

# 1 Cylinders with rubber bumper have no bumper.

* 2 Compatible with cylinders with rubber bumper,
but has no bumper.

* 3 Compatible with cylinders with rubber bumper
only.

Refer to pages 363 to 368 for cylinders with
auto switches.

« Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

344

Without auto switch: —10 to 70°C (No freezing)

and fluid

With auto switch: =10 to 60°C (No freezing)

Piston speed

50 to 1000 mm/s

Stroke length tolerance

Up to 300%%"“mm

Cushion Rubber bumper, Air cushion
Weight (kg)
Bore size (mm) 20 25 32 40 50 63
Basic weight 0.14 0.23 0.35 0.57 1.04 1.49
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (With pin) 0.05 0.09 0.09 0.13 0.26 0.26
Additional weight per each 50 mm of stroke |  0.05 0.07 0.09 0.15 0.22 0.26
Additional weight with air cushion 0.01 0.01 0.02 0.02 0.03 0.03
Calculation: (Example) CG1RN32-100 « Basic weight
(232, 100 st) + Additional weigh
« Cylinder stroke--
0.35 + 0.09 x 100/50 = 0.53 kg
Accessory Standard Stroke
Mounting Basic style Bczre si)ze Sland?rd s)troke *
Standard mm mm
Rod end nut [
equipment | = — 20 25, 50, 75, 100, 125, 150
Single knuckle joint [ ]
Option BV 25, 32 25, 50, 75, 100, 125, 150, 200
Double knuckle joint * ° 25.50.75. 100 125. 150
(With pin) 40,50, 63| 2 50,75, 100,125,150,
- — - 200, 250, 300
* Pin and retaining ring are shipped together

with double knuckle joint.

#Manufacture of intermediate strokes at 1 mm
intervals is possible. (Spacers are not used.)
* Long strokes are not available.



Air Cylinder: Direct Mount Type .
Double Acting Series CG 1R

Clean Series

10-CG1RN[Bore size -{Stroke|

Clean Series (With relief port)
The rod portion of the actuator has a double seal construction, and a relief
port is provided to discharge the exhaust air directly outside of the clean
room.
Thus, it can be used in a Class 100 clean room.

5
[
—t

Specifications

Bore size (mm) 020, 025, 0632, 040, 050, 663 CJP
Action Double acting cJ2
Fluid Air .z
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa ch
Cushion Rubber bumper oM2
Piston speed 50 to 400 mm/s -7
Relief port size M5 x 0.8
* Auto switch can be mounted. CMZ
Cv3
CG1
-Z

\ /\ Precautions |

1 Be sure to read before handling. 1
1 Refer to front matter 57 for Safety Instructions and 1
1 pages 3 to 12 for Actuator and Auto Switch Precautions. |

-l

MB1
When the cylinder is used as mounted with a single CA2
side fixed or free, a bending moment will be applied to -Z
the cylinder due to the vibration generated at the
stroke end, and the cylinder may be damaged. In such CA2
a case, mount a bracket to reduce the vibration of the
cylinder or use the cylinder at a piston speed low CcS1
enough to prevent the cylinder from vibrating at the
stroke end. CS2

Also, please use a support bracket when the cylinder
body moves or when the long stroke cylinder is fixed
horizontally on one side.

XO

Technical
data

Sk

345



Series CG1R

Construction

Basic style: Bottom mounting style/with rubber bumper

q

1
\

Q%S\ G

AT

I\
R

|

I

s

-———— -

)

\

T T

; 1| ﬁ\@l
- ;

I

i

|

Component Parts

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy Clear hard anodized 14 | Seal retainer Rolled steel
2 | Tube cover Aluminum alloy Clear hard anodized 15 | Cushion valve Rolled steel Electroless nickel plated
3 | Piston Aluminum alloy Chromated 16 | Valve retainer Rolled steel Electroless nickel plated
4 | Piston rod Carbon steel * Hard chrome plated * 17 | Lock nut Carbon steel Nickel plated
5 | Bushing Bearing alloy 18 | Cushion seal A Urethane
6 | Bumper A Urethane 19 | Cushion seal B Urethane
7 | Bumper B Urethane 040 or larger: The same as bumper A 20 | Cushion ring gasket A NBR
8 | F ining ring Stainless steel 21 | Cushion ring gasket B NBR 032 or larger: The same as A
9 | Wearring Resin 22 | Rod seal NBR
10 | Rod end nut Rolled steel Zinc chromated 23 | Piston seal NBR
11 | Piston gasket NBR 24 | Tube gasket NBR
12 | Cushionring A Aluminum alloy Anodized 25 | Valve seal NBR
13 | Cushion ring B Aluminum alloy | 032 or larger. The same as A, Anodized 26 | Valve retaining gasket NBR

346

Note) In the case of cylinders with auto switches, rubber magnets are

installed in the piston.

* The material is stainless steel on auto switch equipped styles 20 and

225.

Replacement parts/Seal kit are the same as standard type, double

acting, single rod. Refer to page 311.

Note) Refer to the Specific Product Precautions on page 310 for

Disassembly/Replacement.



Air Cylinder: Direct Mount Type

Series CG1R

Double Acting
Basic Style with Bottom Mounting
With rubber bumper: CG1RN
2xoLD GA 2 x RcP GB
X /
MM | _H._  Width [ Y /
— \ | across
\ flats B1 / 8
y | 1)
i i ) i i w
L,JFJ’ Aol \ Ll _ i s
f L2 a — ® -t
TN g | ‘
HHINEN I 1
I I : -
I | | I )
\ ‘ ] AL
KA A K N
LX ‘ H S + Stroke F
L L ZZ + Stroke
With air cushion CG1RA
2xoLD
\ Aport WB,
‘ \hwc GB 2
— X &%
\ ”
\ = MM g &
e i N
3 Wil E P
a .:.I M
s, U
|
Width
across A‘-L ._-Y
flats B1/ | A K N
[ H S + Stroke F
ZZ + Stroke
(mm)
Boeae |Seranse) A | AL|Bi | D | E | F |GA|GB| H |Hi| I | K |KA| L LD LH|LX| MM | N |P|s |X|Y |2z
20 | Upto150 | 18 [155| 13 | 8 |12 [ 2 [20[10 |27 [ 5 |26 | 5 | 6 |304 |os5o0s5mmetoecepns | 15 | 18 | M8x125 | 27 [1/8 | 75 | 38 | 11 | 104
25 |[Upto200 | 22 [195] 17 [ 10 [ 14 | 2 [22[10 32| 6 |31 |55] 8 [364]ossalt 7] 18] 22 [wmiox12s [ 29 [18 [ 77 [ 44 | 12 [111
32 |Upto200 | 22 [195] 17 [12 [ 18 | 2 |26 1032 | 6 |38 |55 10 424 |osottcametoedepns] 21 | 24 [ Wiox125 | 33 [1/8 [ 83 | 45 | 13 [117
40  [Upto300 [30 [27 [19 [16 [ 25 [ 2 [30[10 39| 8 [47 | 6 |14 [524 ottos ] 26 | 32 | Miaxts [ 37 [1/8 | 94 [ 55 [ 16 [ 135
50 |Upto300 | 35 |32 |27 |20 [ 30 | 2 |33 1245 |11 |88 7 |18 |64.5] ot ovcotetoesepts | 32 | 41 | mi6x15 | 44 [1/4 [108 | 62 | 17 [ 155
63 | Upto300 |35 [32 [27 [20 [32 [ 2 [39]12]45 72| 7 |18 |766 o 18] 38 | 46 | Misx15 | 50 | 1/4 [114 | 64 | 19 | 161
With air cushion (mm)
B‘f'rﬁ,ﬁ‘)ze S‘“’(':ﬁrﬁ;"ge P WA | WB | wC | WD | WH | WH:| wé
20 Upto150 | M5x08 | 22 [ 15 [ 85 | 2 [ 25 | 23 | a0
25 | Upto200 | M5x08 | 24 | 15 | 11 | 2 [275] 25 | 30°
32 | Upto200 | Rc18 | 28 | 15 |145] — [305 285 25°
40 | Upto300 | Rc1/8 | 32 | 15 [185| — [355] 33 | 20°
50 |Upto300 | Rct/4 | 36 | 17 | 22 | — [435]405 | 20°
63 | Upto300 | Rct1/4 | 42 | 17 | 29 | — [495|475] 20°

347

o
G
p=ry

(x]
C—
o

Ng
N

8
e
N

)
~N
=
]

==
@ |~

N © [Exd
EQE-‘
[FER —

N
N

(x]
>
N

[ BIN¥]
[ BIN"]
N || =

XO

Technical
data

Sk



Air Cylinder: Direct Mount, Non-rotating Rod Type

Series CG1KR

020, 925, 332, 40, 350, 63

How to Order

B cat §RNI25I—I100|—| |
[ET™ cDG1KRN([25]-[100]-[M9BW]

With auto switch

Made to Order
Refer to page 349 for

(Built-in magnet) details.
Non-rotating rod type
Number of auto switches
Mounting style '2' 21'005'
‘ N ‘ Rubber bumper — pe.
n n” pcs.
Note) Air cushion type “CG1KRA”
is a made-to-order product. Auto switch
‘ Nil ‘ Without auto switch
Bore size « For the applicable auto switch
Built-in Magnet Cylinder Model 20 | 20mm model, refer to the table below.
If a built-in magnet cylinder without an auto 25 | 25 mm Cylinder stroke (mm)
switch is required, there is no need to enter 32 | 32mm Refer to “Standard Stroke”  Auto switch mounting bracket Not)
the symbol for the auto switch. 40 | 40 mm on page 349. Note) This symbol is indicated when the D-
(Example) CDG1KRN32-100 50 | 50 mm A9O or M9O type auto switch is
63 | 63 specified. This mounting bracket
mm does not apply to other auto switches

(D-C70 and H70, etc.) (Nil)
Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

£ Load voltage Auto switch model Lead wire length (m)
: " Electrical | 5 Wiring Applicable bore size Pre-wired .
"Type| Special function S 05|1 | 3|5 [Nong Applicable load
entry | 5| (Output) DC AC 02010 063 i [ | ©) | @) | oy comeer
= F In-line
3-wire (NPN) 5V 12V MINV M9N ® /0O —| O Ic
£ Grommet | | 3-wire (PNP) ' M9PV M9P ® @ @0 O —| O |acircui
§ 2-wire 12v M9BV M9B ® 00 O|— O _
® Connector — H7C o — 000 —
)
s | . L 3-wire (NPN) MONWV | MONW | ® ® ® O | —| O IC
3 : .
o D('ch";::'fn‘gl‘:':ﬁgg)" g [swie enp)| 24v [°V V] 'moPwv [ MePW | @ (@ @[O0 || O | oireuit| "9
s > [ 2-wire 12V MIBWV | MOBW | @ (@ (@ [O|—| O —
) ! Grommet 3-wire (NPN) MONAV**| MNA*™* | O |O |@|O|—| O IC
2 | o otor et S-wire (PNP) V.12V MOPAV**| MoPA™ | O |O|@|O|—| O | circu
@ 2-wire 12V M9BAV**| M9BA*™* | O |[O |@ | O|—| O —
Diagnosti output (2-coor ndicaton) 4-wire (NPN) 5V,12V = H7NF ® — @ O|—| O |ICcircuit
3-wire _ =] — IC
s E (Equiv. o NPN)|  — 5V — A96V A96 [ ] [ ] cirouit |
.‘;' Grommet | 100 V A93V A93 o — 0o/ — — —
? INong 100 Vorless| A9OV A90 ® | —|® —|—| — |ICcircut
° [-one)
2 Yes 100V, 200V — B54 o |— o —| —
3 —
s None|  2-wire 2av | 2V ooVoress = B64 o —\® ——| — — R;fg"
3 Yes = = C73C o — 000 —
I3 Connector -— — — -
INone| 24V or less — C80C [ ] [ 2K 2K ) IC circuit
(oolr ndaion) | Gromimeet | Yes — — — B59W (@ |— (@ |—|—| — —
=+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
Nil  (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m --

im M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ
N  (Example) H7CN

= Since there are other applicable auto switches than listed, refer to page 368 for details.
= For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
= D-A900/M90O0 auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

348




Air Cylinder: Direct Mount, Non-rotating Rod Type Series CG 1KR

Specifications
Series CG1KR direct mount, Bore size (mm) 20 [ 25 | 3 | 40 [ s0 | e3
non-rotating rod type cy|inder Action Double acting, Single rod
can be installed directly through Lubricant Not required (Non-lube)
the use of a square rod cover. Fluid Air
. . Proof pressure 1.5 MPa
Space-s.avlng has been realized. Maximum operating pressure 1.0 MPa cJ'l
Because it is a directly mounted style — -
without using brackets, its overall length is Minimum operating pressure 0.05 MPa
shorter, and its installation pitch can be Ambient and fluid Without auto switch: =10 to 70°C (No freezing) CJP
i ul e
mad? smaller. Thus’ the space that is " With auto switch: =10 to 60°C (No freezing) cJ2
required for installation has been Pist 3 7
dramatically reduced. - iston spee 50 to 500 mm/s
Stroke length tolerance Up to 300* " mm CcJ2
Cushion Rubber bumper N2
& = Rod non-rotating accuracy £1° ‘ +0.8° +0.5° 7
. = Cm2
i, ] Weight (kg)
A" Bore size (mm) 20 25 32 40 50 63 cM3
Q Basic weight 0.14 0.24 0.35 0.56 1.04 1.48
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 1
Symbol Rubber bumper Double knuckle (With pin) 0.05 0.09 0.09 0.13 026 | 0.26
Additional weight per each 50 mm of stroke | 0.05 0.07 0.09 0.15 0.22 0.26
Calculation: (Example) CG1KRN32-100 « Basic weigh -0.35
(232, 100 st) * Additional weight-«-«ceeveeeees 0.09/50 st CG3
* Cylinder stroke------100 st
ad 0.35 + 0.09 x 100/50 = 0.53 kg MB
Made to Order Specifications -Z
For details, refer to pages 1699 to 1818.
¢ Peg ) Standard Stroke Accessory MB
Syt ghecficaliong Bore size * Mounting Basic style|
-XC8 | Adjustable stroke cylinder/Adjustable extension type*! (mm) Standard stroke (mm) Standard MB1
" " " equipment | Rod end nut [ ]
-XC9 | Adjustable stroke cylinder/Adjustable retraction type *! 20 25, 50, 75, 100, 125, 150 N .
- - Single knuckle joint [ CA2
-XC20 | Head cover axial port* 25:32 25, 50, 75, 100, 125, 150, 200 Ot P
- - - - ption Double knuckle joint * -z
*1 Compatible with cylinders with rubber bumper only. TGS 25, 50, 75, 100, 125, 150, (With pin) b
Refer to pages 363 to 368 for cylinders with 200, 250, 300 * Pin and retaining ring are shipped together CA2

auto switches.

« Minimum auto switch mounting stroke

« Proper auto switch mounting position
(detection at stroke end) and mounting height

« Operating range

« Switch mounting bracket: Part no.

+ Manufacture of intermediate strokes at 1 mm
intervals is possible. (Spacers are not used.)

* Long strokes are not available.

with double knuckle joint.

/\ Precautions

e e e e e e e o e e e e e e e e e e m e e e e e o e oy

r
1 Be sure to read before handling.

LRefer to front matter 57 for Safety Instructlons and pages 3 to 12 for Actuator and Auto Switch Precautions.

e |

\ Caution on Handling/Disassembly |

/A\Caution

When the cylinder is used as mounted with a single side fixed or free
(basic type, flange type), a bending moment will be applied to the
cylinder due to the vibration generated at the stroke end, and the
cylinder may be damaged. In such a case, mount a bracket to reduce
the vibration of the cylinder or use the cylinder at a piston speed low
enough to prevent the cylinder from vibrating at the stroke end.

Also, please use a support bracket when the cylinder body moves or
when the long stroke cylinder is fixed horizontally on one side.

1. Avoid using the air cylinder in such a way that rotational torque
would be applied to the piston rod.

@ [f rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy. Refer to the table
below for the allowable range of the allowable range of rotational torque.

Allowable rotational torque ‘ 220 ‘ 025, 632 ‘ 240, 250, 063 ‘
(Nmorless) | 02 | o025 | 0.44 |

@ To screw a bracket or a nut onto the piston rod, make sure to retract
the piston rod entirely, and place a wrench over the flat portion of the
rod that protrudes.

Tighten it by giving consideration to prevent the tightening torque
from being applied to the non-rotating guide.

2. When replacing rod seals, please contact SMC.
Air leakage may be happened, depending on the position in which a rod
seal is fitted. Thus, please contact SMC when replacing them.

[ BIN¥]
[ BIN"]
N || =



Series CG1KR

Construction

Non-rotating rod type/

Bottom mounting style @ @ @@@ @ @ @@

220 to 932
Component Parts
No. Description Material Note
1 Rod cover Aluminum alloy Clear hard anodized
2 Tube cover Aluminum alloy Clear hard anodized
3 Piston Aluminum alloy Chromated
4 Piston rod Carbon steel * Hard chrome plated * + The material is stainless steel for 820, 825 and 232.
5 Non-rotating guide Bearing alloy
6 Bushing Bearing alloy 220 to 232 only
7 Rod end nut Rolled steel Zinc chromated
8 Bumper Urethane
9 | Wear ing Resin SE b s s A Ao s
10 | Rod seal NBR page 337.
:; :Ls;:';::::}t Eg; Note) Refer to the Sp_ecific Product Precautions on
page 310 for Disassembly/Replacement.

Basic Style with Bottom Mounting: CG1KRN

2xolD 8B
\ X
\ MM [ _H._ Width W
\ -\ ™ across
\ flats B1 g
BRILER \ L Tl Y
AT | =
a 1 a A T ! _
\/‘: - EE - ,,h: !
! | |
| |
AL
KA ‘ A L N
LX H S + Stroke - _ﬂ‘F
L % ZZ + Stroke -
- (mm)
B‘?’ﬂfms')ze S"°’(‘;m’§‘”ge A|AL|B/ | D |E|GA|GB| H |Hi |1 |KA| L LD LH|LX| MM |N|P|S|Xx|VY|2zz
20 | Upto150| 18 [155] 13 [9.2| 12 |20 |10 |27 | 5 | 26 | 8 |30.4|es5 c85comeoecess| 15 | 18 | M8x1.25 | 27 | 1/8] 75 | 38 | 11 [104
25 | Upto200 |22 [195] 17 |11 | 14 [ 22 |10 | 32 | 6 | 31 | 10 | 364|660l cometoreteph? | 18 | 22 | M10x 125 | 29 | 1/8 | 77 | 44 | 12 [111
32 | Upto200| 22 [195] 17 |12 | 18 | 26 | 10 | 32 | 6 | 38 | 10 | 42.4|dd.ocounlebaredephd| 21 | 24 | M10x1.25 | 33 | 1/8| 83 | 45 | 13 [117
40 | Upto300 |30 |27 |19 |16 | 25 | 30 | 10 | 39 | 8 | 47 | 14 | 524 athonscomeboecipniz| 26 | 32 | M14x1.5 | 37 | 1/8| 94 | 55 | 16 [135
50 | Upto300 |35 |32 |27 |20 | 30 | 33 | 12 | 45 | 11 | 58 | 18 | 645 |ot4 oumuetoedssh 14| 32 | 41 | M18x 1.5 | 44 | 1/4]108] 62 | 17 [ 155
63 | Upto300 |35 |32 |27 |20 |32 |39 | 12 | 45 | 11 | 72 | 18 | 76,6 ofs oumetoedssh 18| 38 | 46 | M18x 1.5 | 50 | 1/4 |114] 64 | 19 |161

Auto switch mounting position is the same as that on page 365.

350



Air Cylinder: Low Friction Type
Double Acting, Single Rod

Series CG1

020, 925, 232, 40, 650, 263, 80, 3100

BN ce1lL
Lwithautoswitch el lcy ]I

With auto switch
(Built-in magnet)

Mounting style

Basic style

Axial foot style

B
L
F Rod side flange style
G | Head side flange style

U* | Rod side trunnion style

T* | Head side trunnion style

D Clevis style

* Not available for 880 and 100.
Note) Mounting brackets are
shipped together, (but not

assembled).

Low friction type

Built-in Magnet Cylinder Model

|O|—|O

How to Order

Use the new series

“Smooth Cylinder Series CG1Y”

to realize both-direction low friction and low-speed operation.
(Refer to Best Pneumatics No. 3.)

|2|5|—|1(|)o| -]

Q[25]-[100] F]-[M9BW]| |-[C]-

Bore size ¢

20

20 mm

If a built-in magnet cylinder without an auto

25

25 mm

switch is required, there is no need to enter
the symbol for the auto switch.

32

32 mm

(Example) CDG1FQ32-100B

40

40 mm

50

50 mm

63

63 mm

80

80 mm

100

100 mm

Number of
auto switches

Nil 2 pcs.
S 1 pc.
n “n” pcs.

Auto switch
[ Nil_ [ Without auto switch

Low friction direction
‘ F ‘When pressurized at head end‘
‘ B ‘When pressurized at rod end‘

Cylinder stroke (mm)

Auto switch mounting bracket Noe)
Note) This symbol is indicated when the
D-A90 or M90 type auto switch is
specified.This mounting bracket
does not apply to other auto
switches (D-C70 and H70, etc.)

(Nily

Made to Order

351

o
G
p=ry

(x]
C—
o

Ng
N

o
G
N

)
~N
=
]

[=)
=
~

E

~g
2

[}
D
-

NSO
@ D
w

N
N

(2]
=
N

Z
(7]
-

(3]
n
N

XO

Technical
data

Sk



End Lock Cylinder

Series CBG1

020, 925, 332, 240, 650, 263, 280, 2100

How to Order

CBG1|L]
CDBG1 L]

With
(Built-i
Mountlng style Type
B Basic style ['N T Rubber bumper |
L Axial foot style \ A \ Air cushion
F Rod side flange style
G | Head side flange style Bore size
U* | Rod side trunnion style 20 | 20 mm || 50| 50 mm
T* | Head side trunnion style 25| 25mm || 63| 63mm
D Clevis style 32 [32mm || 80| 80 mm
+ Not available for bore size 080 and o100, |40 | 40 mm [|100]100 mm
Besides, trunnion cannot be attached in
the side to which an end lock is attached. Cylinder stroke (mm)

Note) Mounting brackets are shipped

together, (but not assembled).

Refer to “Standard Stroke”
on page 353.

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDBG1FA32-100-RL

Applicable Auto Switches/Refer to pages 1559 to 1673 for further information on auto switches.

25100 -

IManual

release type

m Non-lock type
Lockl pe
Lock position Auto swntch

Number of

»

auto switche:
Nil 2 pcs.
S 1 pc.

n “n” pes.

H | Head end lock Ni

Without auto switch ‘

R Rod end lock
W | Double end lock

With rod boot

Nil Without rod boot
J Nylon tarpaulin
K Heat resistant tarpaulin

# In the case of w/ rod boot, and a foot
bracket or rod side flange as a bracket,
those parts are to be assembled at the
time of shipment.

= For the applicable auto switch
model, refer to the table below.

Auto switch mounting bracket Note)

Note) This symbol is indicated when

the D-A90 or M9 type auto
switch is specified.This mount-
ing bracket does not apply to
other auto switches (D-C70
and H70, etc.) (Nil)

Made to Order
Refer to page 353 for details.

=3 Load voltage Auto switch model Lead wire length (m)
o q Electrical | 5 | Wiring Applicable bore size Pre-wired .
Type| Special function entry g (Output) DC AC 220 to m63_ 080, :_3100 (?\jﬁ) (,3,1) (E) (g) ’\é?\?)e connector Applicable load
£ F In-line In-line
3-wire MONV M9N — ® ®/® O —| O
(NPN) SVi2v — — G59 ) | — ol—[ © IC
3-wire ’ M9PV M9P — )  © Ol—| O | circuit
—— | Grommet| | (PNP) = — [ GsP @ —|@[O]—| ©
e M9BV M9B — ® /0 O —| O
L 2-wire 12V = = K59 e — O|l—] O —
H Connector — H7C — e | — o e —
e 3-wire MONWV | MINW — (A O|l—] O
3 GLNPN) | ulsvioy| — — — G59W | @ | — ol—] O IC | Relay,
2 | Diagnostic indication > 3-wire ! M9PWV | M9PW — [ A oOl—] O circuit | PLC
2 | (2-color indicafion) (PNP) MQEWV M9_BW G5PW : : ; 8 — 9
. — — C
% Grommet 2-wire 12V — — Koow | @ |— oT=T""0 —
@ 3-wire (NPN) sVi2v MONAV**| MONA** | — OlO|@[O[=] O [..
Water resistant 3-wire (PNP) ' MOPAVFF MOPA™ | — | O |O O =] o |/Coireut
(2-color indication) . M9BAV**| M9BA** — O 10 ol—| O
2-wire 12V — — GSBA™ | — | — o= 0 —
Diagnostic output 2colorindicaton) 4-wire (NPN) 5V,12V — H7NF — o — e O O |IC circuit
= @ [ Equiv PN | — | 5V — A96V A — o — — — |ICcircuit| —
£ 1> 100V_| A93V_| A — ® o —| — [ —
E Grommet |None| 100 Vorless| A90V A! — @ | — —|— — | ICcircuit
-] _— Yes 100V, 200 V = B54 e | — o — —
3 g 2-wire  [24v| 2V [a00Vorkess|  — B64 oo —[—| — | — |
-3 c i | Yes| — — C73C — e — o e —
8 ONNECION |y ong 24V orless — Cc80C — e — ® ® — |(Cciru
(3 D Grommet | Yes - — — B59W o | — — =1 = —
=+ \Water resistant lype auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
« Lead wire length symbols: 0.5 m - - Nil MINW * Solid state auto switches marked with “O” are produced upon receipt of order.
im M MONWM
3m-. L MONWL
5m. z MONWZ
None - N H7CN

= Since there are other applicable auto switches than listed, refer to page 368 for details.
= For details about auto switches with pre-wired connector, refer to pages 1626 and 1627.
= D-A900/M90IO0 auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

352




End Lock Cylinder Series CBG 1

Specifications
————
«
’ Bore size (mm) 20 [ 25 [ 32 | 40 [ 50 [ 63 | 80 | 100
Action Double acting, Single rod
3 Lubricant Not required (Non-lube)
q‘va' (4 - -
2 Fluid Air
Proof pressure 1.5 MPa CJ-'
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.15 MPa * CJP
Without auto switch: =10 to 70°C (No freezin
Ambient and fluid e : : ¢ 2ing) CJ2
With auto switch: —10 to 60°C (No freezing) -7
Piston speed 50 to 1000 mm/s 50 to 700 mm/s ch
Up t0 1000% " mm
Symbol st 14 se18 0
y Stroke length tolerance Up to 1000™% “ mm, to 1200°% "'mm Up to 1500 *mm CZMZ
Rubber bumper Cushion Rubber bumper, Air cushion -
Basic style, Axial foot style, Rod side flange style cMZ
M P Head side flange style, Rod side trunnion style
ounting Head side trunnion style, Clevis style
)Jil (Used for changing the port location by 90°.) CM3
# 0.05 MPa except locking parts.
++ Rod/Head side trunnion styles are not available for bore sizes @80 and @100.
X ) Trunnion is not attached for a cover on which lock mechanism is equipped.
Air cushion m
Lock Specifications CG3
)Jil Lock position Head end, Rod end, Double end NZIB
Holding force | ©20 | 025 | 032 | 040 | 050 | o063 | o080 | o100 | L
Max)(N) | 215 | 330 | 550 | 860 | 1340 | 2140 | 3450 | 5300 | |MB
Backlash 2 mm or less
to ee . M | rel -
M&d;er Made to Order Speclflcatlons anual release Non-lock type, Lock type MB1
(For details, refer to pages 1675 to 1818.) Adjust the switch position so that it operates upon movement to both the stroke end and backlash
’ i (2 mm) positions. CZAZ
Symbol Specifications
-XAO | Change of rod end shape Standard Stl’oke CAZ
-XC13 | Auto switch rail mounting ————
Bore size Long stroke Maixirr‘anI CS1
iz manufacturable
Standard stroke (mm) () stroke
(mm) (mm) {mm) csz
20 25, 50, 75, 100, 125, 150, 200 201 to 350
Refer to pages 363 to 368 for cylinders with 25 301 to 400
auto switches. 32 301 to 450
« Minimum auto switch mounting stroke 40 25, 50, 75, 100, 125, 301 to 800 1500
« Proper auto switch mounting position 50, 63 150, 200, 250, 300 301 to 1200
(detection at stroke end) and mounting height 80 301 to 1400
« Operating range
100 301 to 1500

« Switch mounting bracket: Part no.

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) Long stroke applies to the axial foot style and the rod side flange style.
If other mounting brackets are used, or the length exceeds the long stroke limit, the stroke
should be determined based on the stroke selection table in the technical data.(Refer to front
matter 34.)

Rod Boot Material

Maximum operating

Symbol| Rod boot material temperature |

J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110°C *
= Maximum ambient temperature for the rod

boot itself.

XO

Technical
data

Sk

353



Series CBG1

Construction: With Rubber Bumper

Head end lock

280, 0100

280, 2100

Manual release (Lock type): Suffix L

Component Parts

Long stroke

No. Description Material Note No. Description Material Note

1_|Rod cover Aluminum alloy Clear hard anodized 21 |F ining ring Stainless steel None for 980, 8100

Head cover Aluminum alloy Clear hard anodized 22 | Piston gasket NBR

3 |Tube cover Aluminum alloy Clear hard anodized 23 |Wear ring Resin

4 | Cylinder tube Aluminum alloy Hard anodized 24 |Rod end nut Rolled steel Zinc chromated

5 |Piston Aluminum alloy Chromated 25 |Rod seal NBR

6 | Piston rod Carbon steel * Hard chrome plated 26 | Piston seal NBR

7 |Bushing Bearing alloy 27 | Cylinder tube gasket NBR 1 pe. when using tube cover

8 |Lock piston Carbon steel Hard chrome plated, Heat treated 28 | Lock piston seal NBR 2 pes. for with locks in both sides

9 | Lock bushing Copper alloy 29 |Piston holder Urethane 240 to 6100, head end look only
10 |Lock spring Stainless steel

11 | Bumper Urethane

12 | Hexagon socket head cap screw Alloy steel Black zinc chromated
13A|Cap A Aluminum die-casted Black painted
13B |Cap B Carbon steel Oxide film treated

14 | Rubber cap Synthetic rubber

15 | M/O knob Zinc die-casted Black painted

16 | M/O bolt Alloy steel Black zinc chromated, Red painted

17 | M/O spring Steel wire Zinc chromated

18 | Stopper ring Carbon steel Zinc chromated

19 |Bumper A Urethane

20 |Bumper B Urethane 040 or larger: the same as bumper A

Note) In the case of cylinders with auto switches, magnets are installed in the piston.
= The material is stainless steel on auto switch equipped styles 820 and 225.

Replacement Parts/Seal Kit

Replacement Parts/Seal Kit

(With lock at single end) (With lock at double end)
Series Bore size (mm) Kit no. Contents Series Bore size (mm) Kit no. Contents
20 CBG1N20-PS 20 CBG1N20-PS-W
CBG10ON n Set of nos. above CBG10ON -r-X Set of nos. above
25 CBG1N25-PS 25 CBG1N25-PS-W
Rubber bumper 32 CBG1N32-PS 0, Rubber bumper 32 CBG1N32-PS-W . &,.@,®
type 20 CBGINAOPS and grease pack type 20 CBGIN4O-PSW and grease pack

Order seal kit in accordance with the bore size.

+ The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

A\ Caution

Order seal kit in accordance with the bore size.

+ The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

When disassembling cylinders with bore sizes of 20 through 240, grip the double flat part of either the head cover or the rod cover with a vise and loosen
the other side with a wrench or an adjustable angle wrench, etc., and then remove the cover.

When re-tightening, tighten approximately 2 degrees more than the original position. (Cylinders with @50 or larger bore sizes are tightened with a large
tightening torque and cannot be disassembled. Please contact SMC when disassembly is required.)

354



Construction: With Air Cushion

With air cushion
Head end lock

Component Parts

Manual release (Non-lock type): Suffix N

End Lock Cylinder Series CcBG1

WS

il

1

®

14 (10 (11)(8)(9)(2

X
5 ﬂéﬁ
® ®

CG1

o3
e
e

Long stroke

W1

No. Description Material Note No. Description Material Note
1 _|Rod cover Aluminum alloy Clear hard anodized 22 | Piston gasket NBR CA2
2 |Head cover Aluminum alloy Clear hard anodized 23 | Wear ring Resin -z
3 |Tube cover Aluminum alloy Clear hard anodized 24 |Rod end nut Rolled steel Zinc chromated
4 | Cylinder tube Aluminum alloy Hard anodized 25 |Rod seal NBR CAZ
5 |Piston Aluminum alloy Chromated 26 | Piston seal NBR
6 |Piston rod Carbon steel * Hard chrome plated * 27 | Cylinder tube gasket NBR 1 pc. when using tube cover
7 |Bushing Bearing alloy 28 | Lock piston seal NBR 2pos.forwith locks inboth sides |G S ]
8 |Lock piston Carbon steel Hard chrome plated, Heat treated 29 |Piston holder Urethane 240 to 8100 only
9 |Lock i Copper alloy 30 | Cushion ring A Aluminum alloy Anodized
10 [Lock spring Stainless steel 31 _| Cushion ring B Aluminum alloy Anodized CSZ
11 | Bumper Urethane 32 | Seal retainer Rolled steel Only when using nicke! plated, tube cover
12 | Hexagon socket head cap screw Alloy steel Black zinc chromated 33 | Cushion valve Rolled steel Electroless nickel plated
13A [Cap A Aluminum die-casted Black painted 34 |Valve retainer Rolled steel Electroless nickel plated
13B |Cap B Carbon steel Oxide film treated 35 |Lock nut Rolled steel Nickel plated
14 | Rubber cap Synthetic rubber 36 | Cushion seal A Urethane
15 | M/O knob Zinc die-casted Black painted 37 |Cushion seal B Urethane 032 or larger: The same as A
16 | M/O bolt Alloy steel Black zinc chromated, Red painted 38 | Cushion ring gasket A NBR
17 _| M/O spring Steel wire Zinc chromated 39 | Cushion ring gasket B NBR 032 or larger: The same as A
18 | Stopper ring Carbon steel | Zinc chromated 40 |Valve seal NBR
Note) In the case of cylinders with auto switches, magnets are installed in the piston. 41 | Valve retaining gasket NBR

+ The material is stainless steel on auto switch equipped styles 820 and 825.

Replacement Parts/Seal Kit
(With lock at single end)

Replacement Parts/Seal Kit
(With lock at double end)

Series Bore size (mm) Kit no. Contents Series Bore size (mm) Kit no. Contents
2 CBG1A20-PS Set of nos. above 20 CBG1A20-PS-W Set of nos. above
cBanom 25 CBG1A25-PS ®.0,® CBanoA 25 CBG1A25-PS-W
t 32 CBG1A32-PS t 32 CBG1A32-PS-W @0),
ype 40 CBG1A40-PS and grease pack ype 40 CBG1A40-PS-W__|_and grease pack

Order seal kit in accordance with the bore size.

+ The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

A Caution

When disassembling cylinders with bore sizes of 620 through 40, grip the double flat part of either the head cover or the rod cover with a vise and loosen

Order seal kit in accordance with the bore size.

# The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

the other side with a wrench or an adjustable angle wrench, etc., and then remove the cover.

When re-tightening, tighten approximately 2 degrees more than the original position. (Cylinders with @50 or larger bore sizes are tightened with a large

tightening torque and cannot be disassembled. Please contact SMC when disassembly is required.)

355

DO
-XO

Technical
data



Series CBG1

Rubber Bumper Type: CBG1BN

Head end lock: CBG1BN [Stroke - HO
MM Ho i -GA,  2xReP GB 2xTC
across
flats B1
[=]
a } S

s TR T

AL TE
A K| F|| TA 2xTC DL2 TG TF
H S + Stroke F NA
ZZ + Stroke TA cross section
Manual release (Non-lock type): Suffix N Manual release (Lock type): Suffix L
HR HN
Sl W = OL
ol & 22 B
(mm)
Bore size (mm) ?;:fljgkee A AL | B1 C D DL2 E F GA | GB H Hi1 HR | HN(Max.) 1 J

20 Upto350 | 18 |155| 13 |14 8 (125 12 | 2 |12 | 12 | 35 | 5 |253 37 26 | M4x0.7 depth 7
25 Upto400 | 22 |19.5| 17 |165| 10 |125| 14 | 2 | 12 | 12 | 40 | 6 |283 40 31 | M5x0.8depth 7.5

32 Upto450 | 22 [19.5| 17 |20 | 12 |12 |18 | 2 |12 | 12 | 40 | 6 |313 43 38 | M5x0.8depth8

40 Upto800 | 30 |27 | 19 |26 | 16 |15 | 25 | 2 | 13 | 13 | 50 | 8 |383 52.5 47 | M6 x1depth 12
50 Upto1200 | 35 |32 | 27 |32 | 20 [165| 30 | 2 | 14 | 14 | 58 | 11 [445 58.5 58 | M8 x 1.25 depth 16
63 Upto1200 | 35 |32 | 27 |38 | 20 [165| 32 | 2 |14 | 14 | 58 | 11 |45 59 72 | M10x 1.5 depth 16
80 Upto1400 | 40 |37 | 32 |50 | 25 [19 | 40 | 3 |20 | 20 | 71 | 13 |535 68 89 | M10x 1.5 depth 22
100 Upto1500 | 40 |37 | 41 |60 | 30 [20 | 50 | 3 [ 20 | 20 | 71 | 16 |645 79 110 | M12 x 1.75 depth 22
Bore size (mm) K | KA MM MO |NA | P |RF| S |TA TC ™D TE | TF | TG | WL | 2z
20 5 6 M8 x 1.25 15 (24 | 18| 11| 81| 1 M5 x 0.8 8g™ 4 |05 | 55| 15 | 118
25 55| 8 M10 x 1.25 15 |29 [ 1/8 | 11 | 81| 11 M6 x 0.75 10%9% 5 |1 65| 15 | 123
32 55| 10 M10 x 1.25 15 | 355 1/8 | 11 81 | 11 M8 x 1.0 1279% 55| 1 75| 24 | 123
40 6 | 14 M14x1.5 19 |44 [ 1/8 | 11 | 92| 12 M10 x 1.25 14°9% 6 |125| 85| 24 | 144
50 7 | 18 M18x 1.5 19 |55 | 1/4 | 11 [ 107 | 13 M12x 1.25 169% 75|2 |10 | 24 | 167
63 7 | 18 M18x 1.5 19 | 69 | 174 | 11 | 107 | 13 M14x1.5 18°9% 1153 145 | 24 | 167
80 10 | 22 M22x 1.5 23 | 80 | 3/8 | 21 | 130 | — — — — | — | — | 40 | 204
100 10 | 26 M26 x 1.5 23 [100 | 1/2 | 21 {130 | — — — — | — | — | 40 | 204

356



Rubber Bumper Type: CBG1BN
Rod end lock: CBG1BN RO

End Lock Cylinder Series CcBG1

(mm)
Boresize | p, GB s B 2z CJ1
(mm)
20 19.5| 10(12) | 80(88) | 11 117 (125) cJP
25 19.5| 10(12) | 80(88) | 11 122 (130)
32 20 10(12) | 81(89) | 10(11) |123(131) |CJ2
40 19 10(13) | 87(96) | 10(12) |139(148) |Z
50 235 | 12(14) |102(114)| 12(13) | 162 (174) cJ2
63 235 12(14) [102(114) | 12(13) |162(174)
S + Stroke 80 27 16 (20) | 124 (138) — 198 (212) |CM2
| 2Z + Stroke | 100 30 16 (20) | 124 (138) — 198 (212) |-
’ ' = (): Denotes the dimensions for long stroke. CMZ
Cm3
Double end lock: CBG1BN [Bore size H Stroke - WO {3
-Z
(mm)
H (mm)
[ S g 20 | 2 jres
a) 25 92 | 134 CG3
32 91 | 133 MB
40 101 | 153 -Z
50 119 | 179
63 119 | 179 mB
S + Stroke 80 146 | 220
| ZZ + Stroke | 100 146 | 220 MB1
CA2
-Z
With rod boot CA2
8 ¢ 8 8 ¢ Cs1
an oy CS2
il *E — HiE
m 2ls| TR > 2l AT >
\ % Q k 4 w k 4 @
Qﬁ/ z B ol O =/ ()
e
JW f It
h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
020 to 063 280, 5100
(mm)
Bore size| JH Jw Head end lock (-HOJ) Rod end lock (-R0J) Double end lock (-WLJ)
(mm) | © Uw W (Reference) | (Reference) zz 2z Y74
20 |30|18|55[27| 155 | 105 138 137 (145) 149
25 |30|19]62[32| 165 | 105 145 144 (152) 156
32 |35/19]62(38| 185 | 105 | o 145 145 (153) 155
40 |35|19]70(48| 215 | 105 ig‘ 164 159 (168) 173
50 [40[19/78|59| 24 105 | 2 187 182 (194) 199
63 140(20(78|72| 24 105 |7 187 182 (194) 199
80 |52[10/80|59| — — 213 207 (221) 229
100 |62] 7[80[71| — — 213 207 (221) 229

# (): Denotes the dimensions for long strokes.
## The minimum stroke with rod boot is 20 mm.

357

XO

Technical
data

S



Series CBG1

Air Cushion Type: CBG1BA

Head end lock: CBG1BA [ Stroke - HO
Rod end lock: CBG1BA RO

WA WB

Head End Lock: -HOJ (mm)

BO[ﬁmS')ZS P WA | WB | WH | wé
20 M5 x 0.8 16 16 | 23 30°

25 M5 x 0.8 16 16 | 25 30°

32 Rc 1/8 16 16 | 285 | 25

40 Re 1/8 16 16 | 33 20°

50 Rc 1/4 18 18 | 405 [ 20°

63 Rc 1/4 18 18 47.5 20°

80 Rc 3/8 22 22 | 605 | 20°

100 Rc 1/2 22 22 [ 7 20°

# For dimensions other than listed above, refer to the dimensions
with rubber bumper.

Rod End Lock: -RCJ (mm)

Bore size P WA | WB | WH | wé
(mm)

20 M5 x 0.8 16 [15(16) | 23 30°

25 M5 x 0.8 16 [15(16) [ 25 30"

32 Re 1/8 16 |15(16) [ 285 | 25

40 Rc 1/8 16 [15(16) | 33 20°

50 Rc 1/4 18 [17(18) ] 405 | 207

63 Rc 1/4 18 [17(18) | 475 | 207

80 Rc 3/8 22 |22 60.5 | 20°

100 Re 1/2 22 |22 71 20°

# (): Denotes the dimensions for long strokes.
#+ For dimensions other than the listed above, refer to the
dimensions with rubber bumper.

358



With Mounting Bracket

Axial foot style: CBG1LO

T

S + Stroke

ZZ + Stroke

End Lock Cylinder Series CcBG1

(For dimensions other than listed below, refer to pages 356 to 358, 313 to 317.)

Rod side flange style: CBG1FC

ZZ + Stroke

i
!

o
G
p=ry

(x]
C—
o

Ng
N

8
e
N

CM2
Foot Style mmy L
Head end lock: -HO Rod end lock: -RCI Double end lock: -WOI cMz
B‘z'rs ;i)ze Ls zz Ls zz Ls zz
= Without rod boot With rod boot = Without rod boot With rod boot = Without rod boot With rod boot CM3
20 57 122 142 +¢ 56 (64) | 121 (129) 141 (149) +¢ 68 133 153 +¢ 1
25 57 127.5 149.5 + ¢ 56 (64) | 126.5(134.5) | 148.5(156.5)+¢ | 68 138.5 160.5 + ¢
32 55 127.5 1495 +¢ 55 (63) 127.5 (135.5) 149.5 (157.5) + ¢ 65 137.5 159.5 +¢
40 65 149 169 +¢ 60 (69) 144 (153) 164 (173) + ¢ 74 158 178 +¢
50 72 1745 1945 +¢ 67 (79) 169.5 (181.5) 189.5 (201.5) + ¢ 84 186.5 206.5+¢
63 72 174.5 1945 +¢ 67 (79) 169.5 (181.5) 189.5 (201.5) + ¢ 84 186.5 206.5+¢ CG3
80 82 210.5 219.5+¢ 76 (90) | 204.5(218.5) 213.5(227.5) + ¢ 98 226.5 2355 +¢ MB
100 82 214 223 +¢ 76 (90) | 208 (222) 217 (231) +¢ 98 230 239 +¢ -Z

= (): Denotes the dimensions for long stroke.

Rod Side Flange Style - Overall length is the same as basic style.

g

Head Side Flange Style mm |MB1
. Head end lock: -HO Rod end lock: -RO] Double end lock: -WO CA2
B‘?ﬁ ;')Ze ZZ (Head side flange) -7
Without rod boot With rod boot Without rod boot With rod boot Without rod boot With rod boot

20 124 144 + ¢ 123 143 +¢ 135 155 +¢ CAZ

25 130 152 +¢ 129 151 +¢ 141 163 +¢ cs1
32 130 152 +¢ 130 152 +¢ 140 162 +¢

40 152 172 +¢ 147 (156) 167 (176) + ¢ 161 181 +¢ cS2
50 176 196 +¢ 171 (183) 191 (203) + ¢ 188 208 + ¢
63 176 196 +¢ 171 (183) 191 (203) + ¢ 188 208 + ¢
80 215 224 +¢ 209 (223) 218 (232) + ¢ 231 240 +¢
100 218 227 +¢ 212 (226) 221 (235) +¢ 234 243 +¢

# (): Denotes the dimensions for long stroke.

Rod side trunnion style: CBG1UC

Rod Side Trunnion Sty|e - Overall length is the same as basic style.

(Rod end lock-HC only)

Head Side Trunnion Style

Head side trunnion style: CBG1TO
(Rod end lock -RCJ only)

(75
N

Z + Stroke
ZZ + Stroke

(mm)
Rod end lock: -RC)
Biﬁmsi)ze Z (Head side trunnion) ZZ (Head side trunnion)

Without rod boot | With rod boot | Without rod boot| With rod boot
20 104 124 +¢ 117 137 +¢
25 109 131 +¢ 122 144 + ¢
32 111 133 +¢ 123 145 +¢
40 127 (134) 147 (154) + ¢ 139 (148) 159 (168) + ¢
50 148 (159) 168 (179) + ¢ 162 (174) 182 (194) + ¢
63 148 (159) 168 (179) + ¢ 162 (174) 182 (194) + ¢

# (): Denotes the dimensions for long stroke.

XO

Technical
data

Sk

359



Series CBG1

With Mounting Bracket

Clevis style: CBG1DCI Clevis style: CBG1DO
220 to 963 280 to 2100
i,
://
Z+
Zzitrgtkr zke Z + Stroke
ZZ + Stroke
Clevis Style (mm)
] Head end lock: -HOI Rod end lock: -RC]
B‘;'ne]rﬁ')ze z 2z z 2z
Without rod boot | With rod boot | Without rod boot | With rod boot | Without rod boot | With rod boot | Without rod boot|  With rod boot
20 130 150 +¢ 141 161 +¢ 129 149 +¢ 140 160 + ¢
25 137 159 +¢ 150 172 +¢ 136 158 + ¢ 149 171 +¢
32 141 163 +¢ 156 178 +¢ 141 163 +¢ 156 178 +¢
40 164 184 +¢ 182 202 +¢ 159 (168) 179 (188) + ¢ 177 (186) 197 (206) + ¢
50 190 210+¢ 210 230+¢ 185 (197) 205 (217) +¢ 205 (217) 225 (237) + ¢
63 195 215+¢ 217 237 +¢ 190 (202) 210 (222) + ¢ 212 (224) 232 (244) + ¢
80 236 245 +¢ 254 263 +¢ 230 (244) 239 (253) + ¢ 248 (262) 257 (277) +¢
100 244 253 +¢ 266 275+¢ 238 (252) 247 (261) + ¢ 260 (274) 269 (283) + ¢
Double end lock: -WC1
Bore size z 7z
(mm)
Without rod boot | With rod boot | Without rod boot | With rod boot
20 141 161 +¢ 152 172 +¢
25 148 170 +¢ 161 183 +¢
32 151 173 +¢ 166 188 +¢
40 173 193 +¢ 191 211 +¢
50 202 222 +¢ 222 242 +¢
63 207 227 +¢ 229 249 +¢
80 252 261 +¢ 270 279 +¢
100 260 269 +¢ 282 291 +¢

# (): Denotes the dimensions for long stroke.

360



Series CBG1

Specific Product Precautions 1

Be sure to read before handling.

Refer to front matter 57 for Safety Instructions and pages 3 to 12 for Actuator and

Auto Switch Precautions.

Use the Recommended Pneumatic Circuit

Operating Precautions

A Caution

* This is necessary for proper operation and release of
the lock.

3

Head end lock

Rod end lock

Operating Precautions

A Caution

10.

1. Do not use 3 position solenoid valves.

Avoid use in combination with 3 position solenoid valves
(especially closed center metal seal types). If pressure is
trapped in the port on the lock mechanism side, the cylinder
cannot be locked. Furthermore, even after being locked, the
lock may be released after some time, due to air leaking from
the solenoid valve and entering the cylinder.

2. Back pressure is required when releasing the lock.
Be sure air is supplied to side of cylinder without the locking
mechanism, as above, prior to supplying air pressure to the
side with end lock or lock may not be released. ( => Refer to
“Releasing the Lock™.)

3. Release the lock when mounting or adjusting the cylinder.
If mounting or other work is performed when the cylinder is
locked, the lock unit may be damaged.

4. Operate with a load ratio of 50% or less.

If the load ratio exceeds 50%, this may cause problems such
as failure of the lock to release, or damage to the lock unit.

5. Do not operate multiple cylinders in synchronization.
Avoid applications in which two or more end lock cylinders are
synchronized to move one workpiece, as one of the cylinder
locks may not be able to release when required.

6. Use a speed controller with meter-out control.

Lock cannot be released occasionally by meter-in control.

7. Be sure to operate completely to the cylinder stroke
end on the side with the lock.

If the cylinder piston does not reach the end of the stroke,
locking and unlocking may not be possible.

8. Do not use an air cylinder as an air-hydro cylinder.
This could result in leakage of oil.

9. Install a rod boot without twisting.

If the cylinder is installed with its bellows twisted, it could

damage the bellows.

Adjust an auto switch position so that it operates for

movement to both the stroke end and backlash (2

mm) positions.

When a 2-color indication switch is adjusted for green

indication at the stroke end, it may change to red for the

backlash return, but this is not abnormal.

AWarning

1.Do not operate the cushion valve in the fully closed

5
[
—

or fully opened state. CJP
Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the |CJ2
piston rod assembly or the cover to be damaged. -Z
2. Operate within the specified cylinder speed. cJ2
Otherwise, cylinder and seal damage may occur.
CM2
\ Operating Pressure \ -z
A Caution CM2
1. Use pressures over 0.15 MPa at port with locking mechanism.
This is required to release the lock. CM3
\ Exhaust Speed \ cG1
-Z

A Caution

1. Locking will occur automatically if the pressure applied to the port on the

lock mechanism side falls to 0.05 MPa or less. In cases where the piping
on the lock mechanism side is long and thin, or the speed controller is
separated at some distance from the cylinder port, the exhaust speed
will be reduced. Take note that some time may be required for the lock
to engage. In addition, clogging of a silencer mounted on the solenoid
valve exhaust port can produce the same effect.

Relation to Cushion

A Caution

1. When cushion valve at side with locking mechanism is fully

opened or closed, piston rod may reached at stroke end. Thus
lock is not established. And when locking is done at cushion
valve fully closed, adjust cushion valve since lock may not be
released.

Releasing the Lock

AWarning

1. Before releasing the lock, be sure to supply air to the side without the

lock mechanism, so that there is no load applied to the lock
mechanism when it is released. (Refer to the recommended pneumatic
circuits.) If the lock is released when the port on the other side is in an
exhaust state, and with a load applied to the lock unit, the lock unit
may be subjected to an excessive force and be damaged.
Furthermore, sudden movement of the piston rod is very dangerous.

Disassembly/Replacement

A Caution

1. Do not replace the bushings or the cushion seals.

The bushings are press-fit. To replace them, they must be replaced
together with the cover assembly.

2. To replace a seal, apply grease to the new seal before installing it.

If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Those with a bore of 850 or more cannot be disassembled.

When disassembling cylinders with bore sizes of 820 through 240,
grip the double flat part of either the head cover or the rod cover
with a vise and loosen the other side with a wrench or an adjustable
angle wrench, etc., and then remove the cover.

When re-tightening, tighten approximately 2 degrees more than the
original position. (Cylinders with @50 or larger bore sizes are
tightened with a large tightening torque and cannot be
disassembled. Please contact SMC when disassembly is required.)

361

=
™
—

N
N

QO[O
NN >
N[ =N

D-0
-XOI
-



Series CBG1
Specific Product Precautions 2

Be sure to read before handling.

Refer to front matter 57 for Safety Instructions and pages 3 to 12 for Actuator and
Auto Switch Precautions.

Manual Release

Working Principle

A Caution

-

. Manual release non-lock type

Insert the accessory bolt from the top of the rubber cap (it is not

necessary to remove the rubber cap), and after screwing it into the lock
piston, pull it to release the lock. If you stop pulling the bolt, the lock will

return to an operational state.
Thread sizes, pulling forces and strokes are as shown below.

Bore size (mm) Thread size Pulling force Stroke (mm)
20, 25,32 | M25x0.45x25L or more 4.9N 2
40, 50, 63 | M3x0.5x 30L or more 10N 3
80, 100 M5 x 0.8 x 40L or more 24.5N 3
Remove the bolt for normal operation.
It can cause lock malfunction or faulty release.
Rubber cap
2. Manual release lock type
While pushing the M/O knob, turn it 90° counterclockwise. The lock is

released (and remains in a released state) by aligning the .a mark on

the cap with the WOFF mark on the M/O knob.

When locking is desired, turn the M/O knob 90° clockwise while

pushing completely down, and align the a mark on the cap with the

¥ ON mark on the M/O knob. The correct position is confirmed by a

clicking sound.

Failure to click it into place properly can cause the lock to disengage.

Quz,/r. =) Release

Locked state

362

Lock <mm @g’

Unlocked state

+ The figures below are the same as those for Series CBA2.

@®Head end lock (Rod end lock is the same.)

1. When the piston rod is getting closer to the stroke end, the taper part (x)
of the piston rod edge will push the lock piston up.

Spring

Lock piston

3. The lock piston is pushed up into the groove of the piston rod to lock it.
(The lock piston is pushed up by spring force.) At this time, it is
exhausted from the port on the head side and introduced into the
atmosphere.

Locked state

4. When pressure is supplied in the head side, lock piston will be pushed
up to release the lock. ,
T

Back pressure

Exhaustﬁ o
- w I | Pressure

Unlocked state g

5. When the lock is released, the cylinder will move forward.




Series CG1

Auto Switch Mounting 1

Auto Switch Mounting Position (Detection at stroke end) and lts Mounting Height

Reed auto switch
D-A90]
220 to 063

=HS

i

A |25
(22)

(): Dimension of the D-A96. A and B are the dimensions from the

end of the head cover/rod cover to the end of the auto switch.

T

220 to 063 ~HS
A |22 B

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

D-C7,C8
220 to 063

~Hs Auto switch

D-C73C, C80C

Aut itch
020 to 063 _=Hs_ uto switcl

D-B5, B6, B59W
220 to 2100 -Hs

Solid state auto switch
D-M9C/D-M9TIW/D-M9TIA
020 to 063

S

A 22

(24)

(): Dimension of the D-M9UIA. A and B are the dimensions from
the end of the head cover/rod cover to the end of the auto switch.

D-M9C1V, M9OWV/D-M9IAV
020 to 063

=HS

A |20 l.e|
(22)

(): Dimension of the D-M9JAV. A and B are the dimensions from

the end of the head cover/rod cover to the end of the auto switch.

D-G5, K5, G5CJW, G5BA/D-K59W, D-G59F, D-G5NT
020 to o1 oosz Auto switch

12

L] [l L
ii@ im 7 :ml @)
D-H701, H7OW/D-H7NF, H7BA
020 to 063 _ s

D-H7C

020 to 063 ~Hs 85 Auto switch
. L
ie tem e
| v‘ T
LA 382 .B]
Auto Switch Mounting Position /
Except Single Acting/Direct Mount Type (CG1R, CG1KR), End Lock Cylinder (CBG1) (mm) Operating Range (mm)
Auto switch D-M9C] D-G50W | [\Auto switch D-C7/C8
model D-M9CIV D-H70] | p-Ks59W model | p-M9IV B:H;EW D-B5/B6 D-GSNT
D-AoC |p-MeCw |D-C7/C8| g D-H7C | D-G59F D-MOCWV| D-H7NF | p.c73c |DESW D-GSOF
D-C73C D-B59W (D-H7CIW | D-G5 D-H7BA D-G5/K5 DHTC
D-A9CIV |D-MJA D-B6 D-M9CIAV |p-agr) | D-C80C
D-C80C D-H7BA |D-K5 D-GSCW D-G5BA
D-M9CIAV D-GENT D-A9CV | D-M9oCI
) D-MOCWV D-H7NF ) -MOIW D-K59W
Bore size D-G5BA | | Bore size D-M9LCIA
(mm) AIB|[A[B[A[B|[A[B[A[B|A[B[A]B|/m) Hs Hs Hs Hs
20 24 205 145 175 19.5 16
20 29 8) 33 @2) 295 (285) 235 (225) 26.5 255) 28.5 ©75) 25 @4 20 255 245 27 275
20 24 205 145 175 19.5 16
25 29 8) 33 @2) 29.5 (285) 235 (225) 26.5 255) 28.5 @75) 25 (24) 25 28 27 29.5 30
21 25 215 165 185 205 17
32 30 ©9) 34 33) 30.5 (295) 245 (35) 275 (26.5) 295 (285) 26 @5) 32 315 30.5 33 33.5
23 27 235 175 205 225 19
40 35 @2 39 (36) 35.5 (325) 29.5 (265) 32 (295) 345 315) 31 (28) 40 36 35 37.5 38
28 32 285 225 255 275 24
50 42 (40) 46 (44) 425 405) 36.5 (345) 39.5 375) 415 (305) 38 (36) 50 415 40.5 43 43.5
28 32 285 225 255 275 24
63 42 (40) 46 (44) 425 405) 36.5 @45) 39.5 @75) 415 (395) 38 (36) 63 48.5 47.5 50 50.5
30.5 335 32
80 et Dl Bl el el Bl e D e e R T 80 - — - 59
30.5 335 32
100 — | —| == | —|— |465 45) 49.5 475) — | — | 48 (46) 100 — — — 69.5

Note 1) Figures in parentheses are for the long stroke, double rod type.

Note 2) In the actual setting, adjust them after confirming the auto switch operating condition.

363

o
G
pry

(x]
C—
-}

Ne
N

[
G
N

)
~N
=
S

o
=
~

E

~g
2

MB1

XO

Technical
data

S



Series CG1
Auto Switch Mounting 2

Proper Auto Switch Mounting Position (Detection at stroke end)
Single Acting, Spring Return Type (S)/Spring Extend Type (T)

Proper Auto Switch Mounting Position: Single Acting/Spring Return Type (S) (mm)
Auto switch model | Bore size LIDimensions B
Upto25% | 26t050% | 51t075% | 761to 100° | 101 to 125° | 126 to 150° | 151 to 200!
20 54 54 79 79 104 — — 20
25 54 54 79 79 104 129 129 20
BLEOW 32 55 55 80 80 105 130 130 21
40 59.5 59.5 84.5 84.5 109.5 134.5 134.5 23
20 58 58 83 83 108 — — 24
g:mggv(\y ()v) 25 58 58 83 83 108 133 133 24
D-M9CIA (V) 32 59 59 84 84 109 134 134 25
40 63.5 63.5 88.5 88.5 1135 138.5 138.5 27
D-C7 20 54.5 54.5 79.5 79.5 104.5 — — 20.5
D-C8 25 54.5 54.5 79.5 79.5 104.5 129.5 129.5 20.5
D-C73C 32 55.5 55.5 80.5 80.5 105.5 130.5 130.5 21.5
D-C80C 40 60 60 85 85 110 135 135 235
D-H7OW 20 53.5 53.5 78.5 78.5 103.5 — — 19.5
g:n;g 25 53.5 53.5 78.5 785 103.5 128.5 128.5 19.5
D-H7BA 32 54.5 545 79.5 79.5 109.5 129.5 129.5 20.5
D-H7NF 40 59 59 84 84 109 134 134 22,5
20 48.5 48.5 735 73.5 98.5 — — 14.5
D-B5 25 48.5 48.5 73.5 73.5 98.5 1235 1235 14.5
D-B6 32 49.5 495 745 745 99.5 124.5 124.5 15.5
40 54 54 79 79 104 129 129 17.5
20 50 50 75 75 100 — — 16
D-G5NT 25 50 50 75 75 100 125 125 16
D-G59F 32 51 51 76 76 101 126 126 17
40 55.5 55.5 80.5 80.5 105.5 130.5 130.5 19
20 515 51.5 76.5 76.5 1015 — — 17.5
25 51.5 515 76.5 76.5 1015 126.5 126.5 17.5
BB 32 52.5 52.5 77.5 77.5 102.5 127.5 127.5 18.5
40 56.5 56.5 81.5 81.5 106.5 131.5 131.5 20.5
Note) In the actual setting, adjust them after confirming the auto switch operating condition.
Proper Auto Switch Mounting Position: Single Acting/Spring Extend Type (T) (mm)
Auto switch model | Bore size A BlBlmensions
Upto25% | 261050 | 51to75% | 7610 100% | 101 to 125%| 126 to 150%! | 151 to 200°
20 29 45 45 70 70 95 — —
25 29 45 45 70 70 95 120 120
L0 32 30 46 46 71 71 9% 121 121
40 35 475 475 725 725 97.5 1225 1225
20 33 49 49 74 74 99 — —
gzmggv(\y ()v) 25 33 49 49 74 74 99 124 124
D-MCIA (V) 32 34 50 50 75 75 100 125 125
40 39 51.5 51.5 76.5 76.5 101.5 126.5 1265
D-C7 20 29.5 45.5 455 70.5 70.5 95.5 — —
D-C8 25 29.5 45.5 45.5 70.5 70.5 95.5 120.5 120.5
D-C73C 32 30.5 46.5 46.5 715 715 96.5 121.5 121.5
D-C80C 40 355 48 48 73 73 98 123 123
D-H7OW 20 28.5 445 44.5 69.5 69.5 94.5 — —
D-H7C] 25 285 445 44.5 69.5 69.5 94.5 119.5 1195
B:ﬂ;gA 32 29.5 45.5 45.5 70.5 70.5 95.5 120.5 1205
D-H7N 40 34.5 47 47 72 72 97 122 122
20 235 395 39.5 64.5 64.5 89.5 — —
D-B5 25 235 39.5 39.5 64.5 64.5 89.5 114.5 1145
D-B6 32 245 405 40.5 65.5 65.5 90.5 115.5 1155
40 295 42 42 67 67 92 117 117
20 25 41 41 66 66 91 — —
D-G5NT 25 25 41 41 66 66 91 116 116
D-G59F 32 26 42 42 67 67 92 117 117
40 31 435 435 68.5 68.5 93.5 118.5 118.5
20 26.5 425 42.5 67.5 67.5 925 — —
25 26.5 425 425 67.5 67.5 925 117.5 117.5
BRI 32 275 435 435 68.5 68.5 93.5 118.5 1185
40 32 45 45 70 70 95 120 120

Note) In the actual setting, adjust them after confirming the auto switch operating condition.

364



Auto Switch Mounting Series CG 1

Proper Auto Switch Mounting Position (Detection at stroke end)

Proper Auto Switch Mounting Position: Direct Mount Type (CG1R, CG1KR) (mm)
Auto switch D-M9l] D-H7O0W
model D-M9LIV D-C7 D-H7NF il
D-A9C] D-M9CIW D-C8 D-B5 D-B5OW D-H7BA D-G59F
D-A9LIV D-MOIWV D-C73C D-B6 D-HTO) D-G5NT CcJP
D-MSUIA D-C80C il
D-M9[JAV D-H7C CJ2
Bore size A B A B A B A B A B A B A B -7
20 8 20 12 24 8.5 20.5 2.5 14.5 5.5 17.5 7.5 19.5 4 16
25 8 20 12 24 8.5 20.5 25 14.5 5.5 17.5 7.5 19.5 4 16 CJ2
32 9 21 13 25 9.5 215 3.5 15.5 6.5 18.5 8.5 20.5 5 17 oM2
40 14 23 18 27 14.5 235 8.5 17.5 11.5 20.5 135 225 10 19 -7
50 16 28 20 32 16.5 28.5 105 225 135 25.5 175 275 14 24
63 16 28 20 32 16.5 28.5 10.5 22,5 13.5 25.5 175 275 14 24 cM2
Note) In the actual setting, adjust them after confirming the auto switch operating condition. CM3
Proper Auto Switch Mounting Position: End Lock Cylinder (CBG1) (mm) [CG1
Auto switch D-M9C] D-G5CW
fodel D-MOLIV D-C7 D-H70] D-K59W
_ D-A90] D-MOTW D-C8 D-B5 D-B5OW EHA D-GooF
el D-A9IV D-M9CIWV D-C73C D-B6
position D-MSCIA D-C80C D-H7BA D-K5 CG3
D-MOTIAY D-H7NF D-G5NT
& D-G5BA MB
Bore size A B A B A B A B A B A B A B |
Head side | 29 32 33 36 2905 | 325 | 235 | 265 | 265 | 295 | 285 | 315 25 28 MB
. 20 24 205 14.5 17.5 19.5 16
20 Rod side | 40 44 40.5 34.5 37.5 39.5 36
(28) (32) (28.5) (22.5) (25.5) (27.5) (24) MB1
Double sides| 40 32 44 36 405 | 325 | 345 | 265 | 375 | 295 | 395 | 315 36 28
Head side | 29 32 33 36 295 325 235 26.5 26.5 29.5 285 315 25 28 CA2
) 20 24 20.5 14.5 17.5 19.5 16 -Z
25 Rod side 40 44 40.5 345 37.5 39.5 36
(28) (32) (28.5) (22.5) (25.5) (27.5) (24) CA2
Double sides| 40 32 44 36 405 | 325 | 345 | 265 | 375 | 295 | 395 | 315 36 28
Head side | 30 31 34 35 305 | 315 | 245 | 255 | 275 | 285 | 295 | 305 26 27 cS1
) 21 25 215 155 18.5 205 17
32 Rod side 40 44 40.5 345 375 39.5 36
(29) (33) (29.5) (23.5) (26.5) (28.5) (25) cS2
Double sides| 40 31 44 35 405 | 315 | 345 | 255 | 375 | 285 | 395 | 305 36 27
Head side | 35 37 39 4 355 | 375 | 295 | 315 32 345 | 345 | 365 31 33
40 Rod side 44 2 48 27 445 285 38.5 175 4 205 435 225 40 19
(32) (36) (32.5) (26.5) (29.5) (31.5) (28)
Double sides| 44 37 48 M 445 | 375 | 385 | 315 4 345 | 435 | 365 40 33
Head side | 42 45 46 49 425 | 455 | 365 | 395 | 395 | 425 | 415 | 445 38 41
) 28 32 285 225 255 275 24
50 Rod side 54 58 54.5 485 515 535 50
(40) (44) (40.5) (34.5) (37.5) (39.5) (36)
Double sides| 54 45 58 49 545 | 455 | 485 | 395 | 515 | 425 | 535 | 445 50 41
Head side | 42 45 46 49 425 | 455 | 365 | 395 | 395 | 425 | 415 | 445 38 41
) 28 2 285 225 25.5 275 24
63 Rod side 54 58 8 545 485 51.5 535 50
(40) (44) (40.5) (34.5) (37.5) (39.5) (36)
Double sides| 54 45 58 49 545 | 455 | 485 | 395 | 515 | 425 | 535 | 445 50 1
Head side 465 | 525 | 495 | 555 48 54
. . . 2
80 Rod side — - - - - - 62.5 805 65.5 335 - - 64 8
(44.5) (47.5) (46)
Double sides 62.5 52.5 65.5 55.5 64 54
Head side 465 | 525 | 495 | 555 48 54
) 305 335 32
100 Rod side - - - - - - 62.5 65.5 - - 64
(44.5) (47.5) (46)
Double sides 625 | 525 | 655 | 555 64 54

Note 1) Figures in parentheses are for the long stroke type.

Note 2) In the actual setting, adjust them after confirming the auto switch operating condition.

365

XO

Technical
data

Tk



Series CG1
Auto Switch Mounting 3

Minimum Auto Switch Mounting Stroke

E]

: No. of auto switch  (mm)

No. of auto switch mounted
Auto switch model 1 2
Different surfaces Same surface Different surfaces Same surface
n-2
D-M9CI 5 15 Note ) 40Nt 1) 20435022 55+35 (n-2)
(N=2, 4, 6) Note ) (n=2,3,4,5)
n-—2
D-MorIW 10 15 Note 1) 40 Note ) 20+35-" 55+ 35 (n - 2)
(N=2,4,6)Noted) (n=2,34,5")
n-2
D-M9CIA 10 25 40 Note 1) 25+35 ( 2 ) 60 +35(n-2)
(=2, 4, 6) Note3) (n=2,3,4,5)
BAEEY s 2 . 20435022 35+35(n-2)
(N=2,4,6) Note3) (n=2,34,5")
n-2
D-A9CIV 5 15 25 15+35 2 ) 25+35(n-2)
(N=2,4,6)Noted) (n=2,3,4,5)
D-MOCIWV 10 20 35 20+35¥ 35+35(n-2)
D-M9DIAV (N=2, 4, 6) Note3) (n=2,3,4,5")
-2
D-c70] 10 5 5 15+45i”2—) 50 + 45 (n - 2)
D-C80 (h=2,4, 6-) Note3) (n=2,3,4,5)
D-H70] h-2)
D-H7O0W 10 15 0 1544505 60 + 45 (n-2)
D-H7BA (=2, 4, 6 N (n=2,3,4,5)
D-H7NF o
-2
D-C73C 0 5 o 15450 022 65+50 (n-2)
D-C80C (1=2, 4, 6 Nolo3) (n=2,834,5")
D-B50] (n-2)
D-B64 10 15 75 15+SOT 75+55(n-2)
g-ﬁgglj[l (n=2,4,6)Noted) (1=2.3.4.57)
n-2
D-B59W 15 20 75 20 +50 ( 2 ) 75+55(n-2)
(N=2, 4, 6:) Noted) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

e

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

D-M9O Note 2) Note 2)
D-MOOW Less than 20 stroke Less than 55 stroke

D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A9C) - Less than 50 stroke Note 2)

Note 2) Minimum stroke for mounting auto switches in the other mounting styles mentioned in Note 1.

366



Oeerating Range

(mm)
. Bore size

e o 20 [ 25 | 32 [ 40 | 50 | 63 | 80 [ 100
D-A9C (V) 7 |6 |8 |8 |8 |9 | — | —
D-M9CI (V)
D-MOCIW (V) 45| 50| 45| 55| 50| 55| — | —
D-M9[JA (V)
D-C7/C80
DY Ce o 8 [10 |9 [10 |10 [11 | —|—
D-B5(/B64 8 [10 | 9 [10 [10 [11 |11 | 11
D-B59W 13 |13 |14 |14 |14 |17 |16 | 18
D-H7C/H7OOW
D-H7NF/H7BA 414455 888 - —
D-H7C 7 | 85 9 [10 | 95[105] — | —
D-G5L /G5 JW/G59F
D-GeBARSaKEOW | 4 | 4 | 45| 5 |6 | 65 65 7
D-G5NT 4 4 45| 5 6 65| 65| 7
D-G5NB 35 |40 |40 |45 [45 |45 |45 50

Auto Switch Mounting Series CG 1

* Since this is a guideline including hysteresis, not meant to be guaranteed. (Assuming approximately +30% dispersion.)

There may be the case it will vary substantially depending on an ambient environment.

Auto Switch Mounting Bracket: Part No.

o
G
pry

(x]
C—
-}

Ne
N

[x]
2|8
NN

-Z

Note 1) Set part number which includes the auto switch mounting band (BMA2-00CA) and the holder kit (BJ5-1/Switch bracket: Transparent).
Note 2) Set part number which includes the auto switch mounting band (BMA2-CICJCAS/Stainless steel screw) and the holder kit (BJ4-1/Switch bracket: White).
Note 3) For the D-M9JA (V) type auto switch, do not install the switch bracket on the indicator light.

[Stainless Steel Mounting Sc

The following stainless steel mounting screw kit is available. Use it in accordance with the operating

rew Kit]

environment. (Since the auto switch mounting bracket is not included, order it separately.)

BBAS3: For D-B5/B6/G5/K5 ty

pes

Note 3) Refer to pages 1655 and 1656 for details on the BBA3.

The above stainless steel screws are used when a cylinder is shipped with the G5BA auto

switch. When only an auto switch is shipped independently, the BBA3 is attached.

(1) BMA2-OOOA (S) is a set of "c" and "d" in the figure.

(2) BJO-1is a set of "a" and "b'
BJ4-1 (Switch bracket: White)

" in the figure.

BJ5-1 (Switch bracket: Transparent)

Switch bracket

Auto switch mounting band

Au:j%

-

367

Auto switch Bore size (mm)
model 020 025 032 240 050 263 80 100 NZIB
D-MeC (V) Note 1) Note 1) Note 1) Note 1) Note 1) Note 1) B -~
D-MSCIW (V) BMA3-020 BMA3-025 BMA3-032 BMAS-040 BMA3-050 BMAS-063 MB
D-A9L1 (V)
i Note 2) Note 2) Note 2) Note 2) Note 2) Note 2)
DMOSBUY) BMA3-020S | BMA3-0255 | BMA3-032S | BMA3-040S | BMA3-050S | BMA3-063S - - MB1
D-C701/C80
D-C73C/C80C thz
D-H7O BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A _ _ ~
D-H7OW
D-H7NF CA2
D-H7BAL BMA2-020AS | BMA2:025AS | BMA2-032AS | BMA2:040AS | BMA2-050AS | BMA2-063AS — — Cs1
D-B501/B64
D-B59W
D-G5CV/K59 €S2
D-GSCIW/K5W|  BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G5BA/G59F
D-G5NT
D-G5NB

XO

Technical
data

S



Series CG1
Auto Switch Mounting 4

Cylinder Bracket, by Stroke/Auto Switch Mounting Surfaces

st: Stroke (mm)

Auto switch model

Basic style, Foot style, Flange style, Clevis style

Trunnion style

1
(Rod cover side)

(Different surfaces)

2
(Same surface)

1

(Rod cover side)

(Different surfaces)

2
(Same surface)

Switch mounting
surface

Port surface

Port surface

Port surface

Switch type

D-A91 (V)

D-M9L1 (V)

D-M9CIW (V) 10 st or more 15to 44 st 45 st or more 10 st or more 15t0 44 st 45 st or more
D-M9[IA (V)

D-C7/C8 10 st or more 15 t0 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
D-H7C/H70OW

D-H7BA/H7NF 10 st or more 1510 59 st 60 st or more 10 st or more 15 to 59 st 60 st or more
D-C73C/C80C/H7C 10 st or more 15 to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5

D-G500W/K59W/G5BA 10 st or more 1510 74 st 75 st or more 10 st or more 15t0 74 st 75 st or more
D-G59F/G5NT

D-B59W 15 st or more 20 to 74 st 75 st or more 15 st or more 20 to 74 st 75 st or more

= Trunnion style is not available for bore sizes 80 and 2100.

[ e e e e e e e e e e e e e e e e e e e e e e e e

Other than the applicable auto switches listed in “How to Order”, the following auto switches can be

L

mounted. For detailed specifications, refer to pages 1559 to 1673.

Type Model Electrical entry Features Applicable bore size
D-H7A1, H7A2, H7B —
. D-H7NW, H7PW, H7BW Diagnostic indication (2-color indication) 020 to 063
Reed auto switch Grommet (In-line) - —
D-H7BA Water resistant (2-color indication)
D-G5NT With timer
220 to 6100
- D-B53
olid state ) —
auto switch D-C73, C76 Grommet (In-line) 520 to 063
D-C80 Without indicator light

* For solid state auto switches, auto switches with a pre-wired connector are also available. Refer to pages 1626 and 1627 for details.
« Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H types) are also available. Refer to page 1577 for details
+ Wide range detection type, solid state switches (D-G5NB type) are also available. Refer to page 1619 for details.

368



	Series CG1 Air Cylinder 
	Combinations of Standard Products and Made to Order Specifications
	Pg. 2

	Series CG1 Air Cylinder: Standard Type Double Acting, Single Rod, How to Order
	Specifications, Accessory, Standard Stroke, Rod Boot Material 
	Mounting Bracket Part No., Weight, Mounting Procedure
	Built-in One-touch Fittings, Air-hydro, Clean Series
	Water Resistant, Dimensions, Precautions 
	Construction
	Basic Style: CG1B
	Axial Foot Style: CG1L
	Rod Side Flange Style: CG1F 
	Head Side Flange Style: CG1G
	Rod Side Trunnion Style: CG1U
	Head Side Trunion Style: CG1T
	Clevis Style: CG1D (ø20 to ø63)
	Clevis Style: CG1D (ø80, ø100) 
	Accessory Bracket Dimensions
	Pg. 2


	Series CG1W Air Cylinder: Standard Type Double Acting, Double Rod, How to Order  
	Specifications, Accessory, Standard Stroke, Rod Boot Material 
	Weight, Mounting Bracket Part No., Air-hydro
	Construction
	Basic Style with Rubber Bumper: CG1WBN  
	Basic Style with Air Cushion: CG1WBA
	With Mounting Bracket

	Series CG1 Air Cylinder: Standard Type Sing Acting, Spring Return/Extend, How to Order
	Specifications, Accessory, Standard Stroke, Mounting Bracket Part No.
	Weight, Construction
	Basic Style, With Mounting Bracket
	With Mounting Bracket 

	Series CG1K Air cylinder: Non-rotating Rod Type Double Acting, How to Order
	Specifications, Accessory, Standard Stroke
	Weight, Mounting Bracket Part No.
	Construction
	Basic Style, Precautions

	Series CG1KW Air Cylinder: Non-rotating Rod Type Double Acting, Double Rod, How to Order
	Specifications, Accessory, Standard Stroke
	Weight, Mounting Bracket Part No., Construction
	Basic Style with Rubber Bumper: CG1KWBN, Precautions

	Series CG1R Air Cylinder: Direct Mount Type Double Acting, How to Order
	Specifications, Weight, Accessory, Standard Stroke
	Clean Series, Precautions
	Construction
	Basic Style with Bottom Mounting
	Untitled

	Series CG1KR Air Cylinder: Direct Mount, Non-rotating Rod Type, How to Order
	Specifications, Weight, Standard Stroke, Accessory, Precautions
	Construction, Basic Style with Bottom Mounting: CG1KRN

	Series CG1Q Air Cylinder: Low Friction Type Double Acting, Single Rod, How to Order
	Series CBG1 End Lock Cylinder, How to Order
	Specifications, Lock Specifications, Standard Stroke, Rod Boot Material
	Construction:With Rubber Bumper
	Construction: With Air Cushion
	Rubber Bumper Type: CBG1BN
	Rubber Bumper Type: CBG1BN
	Air Cushion Type: CBG1BA
	With Mounting Bracket
	Pg. 2

	Specific Product Precautions
	Pg. 2 


	Series CG1 Auto Switch Mounting
	Pg. 2

	Proper Auto Switch Mounting Position
	Minimum Auto Switch Mounting Stroke
	Operating Range, Auto Switch Mounting Bracket: Part No. 
	Auto Switch Mounting


